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1.0

You are welcome to the study of CRS216-Greek Syntax. This course is the
continuation of CRS215-Greek Grammar; therefore, CRS215 is a pre- requisite to this
course. Because of the importance of the understanding of CRS215 to this course, we
will use the first module to run through the major topics taught in CRS215 by way of
refreshing your memory and setting the tone for this course. Thus, in this unit we will

Introduction

revise all that has been taught about Greek nouns.

2.0

Intended Learning Outcomes

By the end of this unit you should be able to:

Identify all the declensions of Greek nouns
Differentiate between nouns of the three declensions

Differentiate between the various declensions of the feminine noun

State the functions of the various cases
Decline any given noun



3.0 Main Content
3.1 Casesin Greek Noun

Case is the word used to refer to the various functions that nouns perform in the
sentence. Though the English has three cases, the Greek language has eight cases:

The Nominative Case

The nominative case is the subject of the sentence. You would remember that in the
Greek nominative case two issues are lumped together. The first is that the noun
functions as the topic or the subject of the sentence. It is the case of designation.

The second is when a noun completes the thought of the subject. It usually occurs
when the noun follows the verb ‘to be’. When this usage occurs, two nouns in the
sentence would be in the nominative case. In such occurrences, you need to determine
which one is the subject, and which one is the subject complement. In most cases, the
subject carries the definite article while the complement has its definite article
withdrawn but it is implied. This has a serious implication for exegesis and
interpretation and would be explained later.

The Accusative Case

The accusative case is usually used for the direct object. The direct object receives the
action of the verb in the sentence. It marks the limit or the end of an action.

The Dative Case

When the noun functions as the indirect object, it gives an idea of the person or thing
to whom and or for whom something is done. In the Greek language, the noun that
functions as the indirect object would be in the dative case. The dative case is the case
of interest. You should also remember that there are other cases that are spelt the same
way as the dative. These are the locative and the instrumental cases.

The Genitive Case

This is when the noun is used to show that someone or something is the owner of a
particular thing. Though in the English language, the possessive ‘s’ is usually used to
designate this usage, in the Greek language the genitive case is used. The genitive
case is the case of description. It is used to attribute quality to the word it modifies.
You need to remember also that the ablative case, which is the case of separation, is
also spelt the same way as the genitive case.



The Vocative Case

There are times when the person being addressed is called before the statement meant
for them. For example, in the sentence “Sade, where are you?” Sade is the person
addressed. In the Greek language, this usage is put in the vocative case.

3.2  Noun Declensions in Greek

There are three forms of declensions in the Greek language. The first declension has
an inflected system in which the ‘a’ sound is predominant; the second declension is
predominant with the ‘o’ sound and the third declension has a system in which the
consonant stem is predominant. Since the largest number of nouns of the Greek is in
the second declension and since it is easier to learn than the others; it is usually
studied first.

Declension of Masculine Nouns of Second Declension

To decline the masculine nouns of the second declension, the Greek word alngrwpov
shall be used:

Cases Singular Form Meaning Plural Form Meaning
Nominative | 6 dvBpwmog the man ot GvOpmmot the men
Genitive 100 AvOpdTOL of the man TOV avOpOTOV of the men
Ablative 100 AvOpdTOL from the | T@v avBpdTOV from the men

man
Dative 0 AvOpOT® to the man T01¢ AvOpOTOIC to the men
Locative 0 AvOpOT® in the man T01C AvVOPOTOIC in the men
Instrumental | 1® dvOpodT® by the man | toig avOpdmoig by the men
Accusative 10V dvOpmmov the man ToVG avOpdmovg | the men
Vocative avOpwme Man avOpmmot Men

Neuter Nouns of the Second Declension

There is a slight difference between the declension of the masculine nouns and the
neuter nouns of the second declension. As would be seen in the paradigm above, the
difference occurs only in the nominative singular and the nominative and accusative
plural. In declining the neuter noun, d®pov shall be used:

Declension of 6@pov with the definite article

Cases Singular Form Meaning Plural Form Meaning
Nominative | 10 d®pov the gift 0 ODPOL, the gifts
Genitive 100 ODPOL of the gift THV 0DPOV of the men
Ablative 700 dDPOL from the gift | 1@v ddpwv from the men
Dative 0 0P to the gift T01¢ dpo1g to the men
Locative 0 0P in the gift T01C dMPO1g in the men




Instrumental | t® ddpw by the gift 101G dDPOIG by the men
Accusative | t0 d®dpov the gift 0L 0P, the men
Vocative d®dpov gift ddpa men

Feminine Nouns of the First Declension

1. When the stem ends in o, AA, or any of the double consonants, the nominative
singular ends in short o, which changes to n in the genitive, ablative, dative, locative

and instrumental as in 1} yYAd@coo below:

Cases Singular Form|Meaning Plural Form |Meaning
Nominative | yAdooo the tongue ai yddocor  [the tongues
Genitive ¢ yAooong  |of the tongue  [t@v yYAwoo®dv |of the tongues
Ablative ¢ YAooong  [from the tongueft@v yAwosodv [from the tongues
Dative T YA®oon to the tongue |toic YAwooougto the tongues
Locative T YAOoOoN in the tongue  [toic yA@ocaug|in the tongues
Instrumentalitfi YAdoon by the tongue [taig yYAdooaigby the tongues
Accusative v yAdocoav [the tongue TG YA®ooag [the tongues
\ocative M YAdooo The tongue al ya@dooor  [the tongues

2. When the stem ends in any other letter, the nominative singular will end in n, which

Is retained throughout the singular, as in 1} ypaen below:

Declension of 1 ypaen with the definite article

Cases Singular Meaning Plural Form Meaning
Form

Nominative | 1 ypapn the writing ol ypagdt the writings
Genitive ¢ ypaetlc | of the writing TV ypaedv | of the writings
Ablative ¢ ypagfc | from the writing | t@v ypapdv | from the writings
Dative T Ypaoi to the writing 10l ypapaic | to the writings
Locative 1] Ypaoi in the writing TG ypapaic | in the writings
Instrumental | 7} ypaof by the writing T0ic ypagaic | by the writings
Accusative mv ypapnv | the writing TG YPaQag the writings
Vocative 1 Ypaon the writing ol ypagdn the writings

Declension of the Masculine Nouns of the First Declension

As has been said earlier, there are five declension systems in the first declension
system. The three that are feminine had been shown above. The last two are masculine

and they are as follows:

When a masculine noun of the first declension has a stem ending in ¢, 1 or p, the
nominative singular will be ag (long a). All other stem endings are followed by ng in

the nominative singular, as in the examples below:




Declension of Meoaoiag, 6 with the definite article

Cases Singular Meaning Plural Form Meaning
Form
Nominative | 6 Meooiag the Messiah ol Meooiat the Messiahs
Genitive 100 Meooiov | of the Messiah | todv Meoowdv | Of the Messiahs
Ablative 100 Meooiov | from the | t@v Mecoidv | From the
Messiah Messiahs
Dative 1® Meooia to the Messiah | toic Meooiaig | to the Messiahs
Locative ® Meooia in the Messiah | taic Meooiaig | in the Messiahs
Instrumental | 1® Meooia by the Messiah | Toic Meooioug | by the Messiahs
Accusative t0v Meociov | the Messiah T00¢ Meooiag | The Messiahs
Vocative 0 Meooiog The Messiah | ol Meooio The Messiahs

2. All other stem endings are followed by ng in the nominative singular, as in o

npoentng below:

Declension of 6 mpoitnc with the definite article

Cases Singular Meaning Plural Form Meaning
Form
Nominative | 0 Tpopntng the prophet ol TPoPT Tt the prophets
Genitive 100 Tpogntov | Of the prophet | t@v tpopnt®dv | of the prophets
Ablative 100 TpognTov | from the | T®v mpopntdV | from the
prophet prophets
Dative ) TPOENTN to the prophet | toic mpoentaic | to the prophets
Locative @ TPOPNTN in the prophet | toig mpoentaig | in the prophets
Instrumental | T® Tpoen by the prophet | Toic mpoentaig | by the prophets
Accusative oV TpoentnVv | the prophet TOUG The prophets
TPOPNTOLG

Vocative TPOPNTNG the prophet TPOPTTOL the prophets

The Third Declension

In the third declension, there is a basic change in the dative plural form especially
when the stem of the noun ends in a consonant. This is because the declension has to
end with o1. The following changes have to take place:

7, B or ¢ added to o1 becomes w1

K, v or x added to o1 becomes &t

T, 6 or 0 drops out leaving the ot

v drops out leaving the ot

vt drops out leaving the ot but because two consonants are lost the vowel preceding
the vt is lengthened. Through this, o becomes ov as in &pyovtar which will become
dpyovot. Note that all these third plural inflected forms may take the movable n.
Before giving the paradigms, it is better to first give the endings for the third
declension:



Singular Plural

Case Masculine | Feminine | Neuter | Masculine | Feminine | Neuter
Nom. | ¢ (ornone) |¢(ornone) | none ev ev
Gen. O¢ O¢ 0G ()Y WV ()Y
Dav. 1 (short) 1 (short) 1 (short) | ov(short) | o1 (short) | ou (short)
Acc. v ora v ora none ag (short) | ac (short) | a (short)

(short) (short)
Voc. None None none Not Applicable

The following are paradigms for the declension:

Liquid Stem (using aicv)

Case Singular Plural
Nominative aidv aidveg
Genitive (Ablative) aidvog aOVOV
Dative (Loc., Inst.) aidvt oot
Accusative aidva oidVag
Vocative aidv aidveg
Mute Stem (using yapic)

Case Singular Plural
Nominative XOPLS YOPLTEG
Genitive (Ablative) Xdprrog xopitwv
Dative (Loc., Inst.) Xaprt xGpLot
Accusative Xbpwv YéprTog
Vocative Xapig YOPITES
Mute Stem (using éAmic)

Case Singular Plural
Nominative EATig EATIOEC
Genitive (Ablative) EATTIO0C EATidV
Dative (Loc., Inst.) EATTIOL gAmtiol
Accusative EATIOO EATIOOG
Vocative EATTIC EATIOEC
Mute Stem (using voE)

Case Singular Plural
Nominative vO& VOKTEG
Genitive (Ablative) VUKTOG VOKT®V
Dative (Loc., Inst.) Noxkrti vo&l /
Accusative VOKTOL VOKTOG
Vocative NvE VOKTEG




Syncopated Stem (using woTnp)

Case Singular Plural
Nominative IMomp TOTEPEG
Genitive (Ablative) IMatpog TOTEPOV
Dative (Loc., Inst.) IMotpi TaTPaoL
Accusative IMatépa TOTEPOLG
Vocative natep IMotépeg

The following analysis calls attention to the characteristics of the inflection of these

nouns:

Find the stem by striking off the s in the nominative singular.

¢ replaces the final 1 except in the nominative, accusative and

vocative singular.

€ unites with 1 ending in dative singular to form a diphthong.

1 In nominative plural and accusative plural is the result of the contraction of
eec and sac respectively.

The accent of the genitive singular and plural is irregular and stands on the
antepenult even with a long ultima.

The gv Stem Nouns

The gv stem nouns of third declension are all masculine. The following is the
paradigm using iepevg:

The gv Stem Nouns (using igpgvg)

Case Singular Plural
Nominative 1epelc iepeic
Genitive (Ablative) lepémg iepév
Dative (Loc., Inst.) iepel 1Epedol
Accusative iepéa iepeic
Vocative ieped lepels

The following features could be noted in the analysis of the inflection of this class:

Find the stem by striking off the ¢ of the nominative singular.

The final v of the stem is dropped before an ending with a vowel.

In the dative singular and the nominative and accusative plural the same
combinations are found in the 1 stem nouns proper.

The v Stem Nouns

The v stem nouns of the third declension are mostly masculine; however, there are a few
feminine and one neuter (5akpv, a tear) noun. The inflection is regular. The stem is found by
dropping the o of the nominative singular.

The v Stem Nouns (using iy0vc)



Case Singular Plural
Nominative 1x00¢ 1yBveg
Genitive (Ablative) iyBvog iyBoov
Dative (Loc., Inst.) 001 ixBuct
Accusative 10OV ix0voc or iy0¢
\ocative ix0v iyBveC

The following features could be noted in the analysis of the inflection of this class:

« Find the stem by striking off the ¢ of the nominative singular.

« The final v of the stem is dropped before an ending with a vowel.

« Inthe dative singular and the nominative and accusative plural the same
combinations as are found in Bl stem nouns proper.

3.2 The &¢ Stem Nouns

In the above vocabularies, the first column contains the nouns known as the &g stem
nouns. They are so called because the stem really ends with &c. In the actual inflection
of the nouns so many contractions have taken place that the basic stem cannot be seen
anymore. The endings given for the third declension nouns earlier should be reviewed.
Note how these endings are used and the changes in form in the following example.
The stem here is yeveg-:

Singular Plural
Case Original Form | Form Actually | Original Form | Form Actually
Used Used
Nominative YEVEG yévog yéveoo yévn
Genitive Yéveoog Yévoug Yéveowv Yévmwv
Ablative)
Dative (Loc., ['éveot Yével Yéveool yéveat
Inst.)
Accusative YEVES yévog yéveoa yévn
Vocative YEVEG yévog yéveoo ['évn

Note that the changes in the paradigm above are due to the loss of ¢ in many of the forms and
the resulting contraction of the € with the case ending. For practical usage, you should learn
the forms that are actually used rather than the original forms which are not used in the New
Testament at all. You should also know that all the third declension neuter nouns with the
genitive ending in ovg will be declined as above.

The at Stem Nouns

The nouns in the second column of the vocabulary above are all at stem nouns. If you strike
off the og of the genitive singular you will arrive at the stem. The endings are added
normally. You have to note however that the nominative and the accusative singular contain



the short form of the word. Note also the loss of the t before ot in the dative plural. It has to

be noted that all at stem neuter nouns would be declined as in the paradigm below:

The at Stem Nouns (using c@pa)

Case Singular Plural
Nominative oouo OWUATA
Genitive (Ablative) OWUATOG OWUATWV
Dative (Loc., Inst.) owuaTtt OWUAGL
Accusative oo OWUATA
Vocative oouo OWUATA
The Article

Remember that there is no indefinite article in the Greek language and that the
absence of the definite article implies the indefinite article. Hence, dvOpmmov can
mean either ‘a man’ or ‘man’. The Greek article is usually used to point out particular
identity and this is called the articular use of a noun. When no definite article is used,
it is called the anarthrous use. Below is the full paradigm of Greek articles:

Cases | Masculine | Feminine | Neuter

Singular

Nominative 0 | To

Genitive & | tod ol TOD

Ablative

Dative, Locative | 1® g (o

& Instrumental

Accusative Tov v To
Plural

Nominative ol ol Ta

Genitive & | TV TV TV

Ablative

Dative, Locative

& Instrumental 101G TOiG TOiG

Accusative TOVG TOG Ta

4.0 Conclusion

In this unit you have all the three declensions of Greek nouns studied all at once. You
have been taught that the Greek language has eight cases in the noun declension.
Though some scholars say they are five; it is because some of them have identical
spellings and so they were considered functions of the major one. You would have
also noticed that there are three forms of declension: the first declension has five
variations wherein three are feminine nouns and the remaining two are masculine; the
second declension has mainly masculine and neuter nouns while the third declension
has all the three genders. This unit concluded with an overview of the articles by
gender, number and case.
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5.0 Summary

The following are the major points you have learnt in this unit:

e The Greek language has eight cases in the noun declension. Though some
scholars say they are five; it is some of them have identical spellings and so
they were considered functions of the major one.

e There are three forms of declension in the Greek language called the first,
second and third declensions.

e The first declension has five variations wherein three are feminine nouns and
the remaining two are masculine.

e The second declension has mainly masculine and neuter nouns. The third
declension has all the three genders.

Self-Assessment Exercise
Fish out ten nouns from the passage below and indicate their gender and case.

1 O mpecPutepog Ekhexti) Kupig Kol TOIG TEKVOIS OVTHG, 0V¢ €Y@ dyand &v dAnbeiq,
Kol OUK €Y HOVOG GAAQ Kal TAVTEG Ol &yvmKOTEC TNV dANOsay, 2 d1d v dAnOsiay
MV pévovoayv €v Muiv, kal ped’ qudv Eotal €ig TOv aidva- 3 £otot ped’” MUV yapig
gleog eipnvn mapd Beod matpoc, kai "'mapd Incod Xpiotod tod viod tod matpdg, v
aAnBeiq kol dydnn. 4 Exapnv AMav 8t ebpnro €k TdV TEKVOV GOV TEPITATOVVTOS &V
aAnOeiq, kabmg évioAny ElaPopev mopd Tod TATPOS. 5 Kol VOV EpwTd o€, Kupia, ovy
G EVIOATV "Kavrv YpAe®Vv cot' dAAL v elyopev A’ dpyfic, tva dyanduev AAANAOVG.
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1.0 Introduction

In the last unit we have spent our time to review all the three noun declensions of the
Greek language. | am sure by now that you would have revised all the units on nouns
in CRS215 so that you can flow along with us in this course. In this unit we will begin
a review of Greek verbs and because of the magnitude of the verbs; we will tackle
them be tense and by mood. In this unit, we will examine the present indicative verbs.
Remember that in your previous study you have been taught that the present indicative
mood is that mood that represent the continuous action in the English language or the
simple present tense. You need to be cautious as your interpretation would go a long
way to affect what you are going to bring out of the text.

2.0  Intended Learning Outcomes
By the end of this unit you should be able to:

Write the present active indicative of any verb
Identify the present passive indicative of any verb
Discuss the usages of the passive voice

Discuss the usages of the middle voice

3.0 Main Content
3.1 The Present Active Indicative Form

As you have been taught, the tense carries two aspects of the verb and these are the
time of the action and the kind of the action. As for time, there are three possibilities:
the past, the present and the future. Also, as for kind, there are two kinds: the linear
(this is also called the progressive or continuous action) and the punctiliar (this is
action that is seen as a single perspective). The present tense that we are concerned
with in this unit indicates a progressive action at the present time and so would be
better translated in that sense. For example, the word Ab® would be “T am loosing”.

12



The present active indicative form of A is:

A | loose or | am losing (destroy)

AoeLg you (s) loose or you (s) are loosing

Aoet he (she, it) loose or he (she, it) is loosing
Adopev we loose or we are loosing

Aete you (p) loose or you (p) are loosing

Movoi(v)  they loose or they are loosing
3.2 The Present Passive Indicative

The passive voice in the Greek is used when the subject is being acted upon by an
outside agent. Present active indicative of A is “I am loosing” and the present
passive would be “l am being loosed”. This means that the present passive pictures
continuous action being received by the subject at the present time.

The primary endings of the present passive are: pat, ocoat, tat, peba, oBe and
vtat. These are added to the stem of the word by means of the variable vowel which
Is either o or €. It has to be noted however that in the second person singular, a
significant change occurred during the development of the language. The sigma sound
got lost and the € and a sound got contracted to n, and the v became a subscript.
This would be reflected in the paradigm below.

The Present Passive Indicative of AVw is as follows:

Adopon | am being loosed Mopeda, we are being loosed
Ao you are being loosed\vecbe you are being loosed
Adeton he, (she, it) is being loosed Adovton they are being loosed

3.3  The Usages of the Passive Voice
When Direct Agent is indicated

When the direct agent producing the action on the subject is indicated, the
construction is vmo with the genitive. For example, diddoketon vmo 100 dAyyélov
means “he is being taught by the messenger”.

When Indirect Agent is indicated
When the agent indicated is the indirect (that is, the agent through which the original
agent acts), the construction is d1ax with the genitive. For example, 6 kocpov éyéveto

ot avtod which means “the world was made through him”. In this passage, Christ is
seen as the intermediate agent of creation while God is the original agent.

13



When Impersonal Agent is indicated

When the agent is impersonal, the construction is the dative with or without the
preposition &v. For example, ot &vbpwmnor cdlovtar &v 1@ Ady® 100 Meoaiov which
means “the men are being saved by the word of the Messiah”.

When no Agent is expressed

Sometimes, the passive is used without any agent indicated. An example is the simple
word éyeipeton which means “he is being raised up”.

3.3 The Present Middle Indicative

There is no equivalent of the Greek middle voice in the English language. In the
middle voice, the subject is acting in such a way that it participates in the result of the
action. The subject, at this point, rather than the action is the focal point or the point of
emphasis. The middle voice in the Greek language is used in three different ways: the
reflexive middle, the intensive middle and the reciprocal middle.

The Reflexive Middle

This is the nearest to the basic idea of the middle voice. It is the one that pictures the
result of the action directly to the agent. For example, 6 dvOpwmog €ysipetar which
means, “the man is raising himself up”.

The Intensive Middle

The intensive middle stresses the agent producing the action rather than its
participation in the action. For example, diddcketar Tqv dAnOeiav which means “he is
teaching the truth”. The emphasis is on “he”. The idea is that he and no other person is
doing the teaching. This corresponds to the pi’el stem of the Hebrew language which
is the dynamic middle voice.

The Reciprocal Middle

In the reciprocal middle a plural subject that is engaged in an interchange of action is
pictured. For example, oi vOpwmot diddckovtar which means “the men are teaching
one another”. It has to be stated that the above three usages of the middle voice do not
capture the total force of the middle voice but has given the general idea of the
construction.

3.4 The Form of the Middle Voice

It has to be stated that the forms of the middle voice in the present, imperfect and
perfect tenses are the same as the passive voice. The difference is one of function. The
context of the passage will indicate whether the construction is middle or passive in
function. Thus, the form of the present middle indicative of A is:

14



Adopon | loose myself, or Mopeda we loose ourselves, or

| loose for myself we loose for ourselves
Ao you loose yourself, or Moecbe you loose yourselves, or

you loose for yourself you loose for yourselves
AdeTon he, (she, it) looses himself, or  Avovtot they loose themselves, or

he, (she, it) looses for himself they loose for themselves

4.0 Conclusion

In this unit you have gone through the study of the present indicative verbs. You have
been taught that in the present tense, two aspects of the verb that are present is the
progressive action (kind) at the present time (time). Therefore, in its active voice, the
present indicative would be translated using the present continuous tense. In its
passive voice, the present continuous action is received by the subject also at the
present time. You should note that the passive voice is used when the agent
performing the action is indicated or not. Finally, in the middle voice, there are three
significant usages: the reflexive, the intensive and the reciprocal.

5.0 Summary
The following are the major units you have learnt in this unit:

e Two aspects that are revealed in any tense are the kind and time of action.
In the present, the action is progressive (kind) and the time is present (time).

e In its active voice, the present indicative would be translated using the present
continuous tense.

e In its passive voice, the present continuous action is received by the subject
also at the present time.

e In the middle voice, there are three significant usages: the reflexive, the
intensive and the reciprocal.

¢ In the reflexive usage, the result of the action goes back directly to the agent.

e The intensive middle stresses the agent producing the action rather than its
participation in the action.

¢ In the reciprocal middle a plural subject is engaged in an interchange of action.
Self-Assessment Exercise

Identify the present indicative verbs in this passage and indicate whether they are
active, passive or middle.

10O mpecPoutepoc ol Td ayonntd, Ov &ym Ayond v aAn0eiq.

2 Ayoamnté, mepi mavtov gdyopoi og evododcbar Kai vylaivey, kabmg evododTal Gov 1
yoxn.
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3 &ybpmv yop Alav EpYoUEVEV AOEAPDY Kal LopTLPOVVIMV GOV Th| dAnOeig, KBS oV
&v aAnOeiq mepuaTeiS.

4 perlotépov TOVTOV 0VK EYM XapAv, Tva akobm Ta Epd TéKva v T aAnOeiq
TEPITATOVVTOL.

5 Ayoamnté, moTtov TOLEIS 0 v £pyao €ig ToVG AdeEAPOVG Kai ToDTo EEVOug,

6 ol ELapTUPNGAV GOV TH AYATN EVAOTIOV EKKANGI0G, 0VC KOAMDS TOGELS TPOTELYOG
a&img Tod Beod-

7 vmep yap tod ovouatog EERABoV undev AauPdvoviec amo TdV "E0vikdV.

8 Nueic odv d@eilopey HrolapPhavely ToOG To100TOVG, Tva GuVEPYOL YIvdueda TH
aAnOsiq.
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UNIT 3: THE IMPERFECT INDICATIVE
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1.0 Introduction

In the previous unit you have studied the present indicative verbs that are given the
present continuous tense in translation to the English language. You have also seen
this tense in the active and the passive voices. In this unit however, we will be
examining the imperfect indicative verbs which is used in the Greek language to
express the continuous action in the past time. Take not of the changes in the
translation and compare this with the present indicative tense on your own.

2.0 Intended Learning Objectives

By the end of this unit you should be able to:

e Discuss the various usages of the imperfect tense
o Identify all the forms of the imperfect
e Write out the imperfect form of any verb

3.0 Main Content

3.1  The Use of the Imperfect Tense

The imperfect tense indicates continuous action in the past time. The imperfect active
of AWw would be translated “I was loosing”. Though there are several expressions of
the imperfect, it is always presented as the continuous action in the past. The emphasis
however may differ. There are however three major occurrences:

The Descriptive Imperfect

The descriptive imperfect is used to give a vivid representation of what was going on
in past time. It usually draws a picture of the movement of events. A good example is
Matthew 3:5-6 which reads thus:

17



Then Jerusalem was going out (é&emopebto) to him, and they were being baptized
(éBamtiCovto) in the Jordan River.

In the above quotation, é&emopevto is the imperfect active while éBantilovto is the
imperfect middle or passive. The significance of these words can be seen vividly in
the context of the passage.

The Repeated or Iterative Imperfect

The repeated or iterative imperfect is used to show actions repeated in the past time.
Unlike the descriptive imperfect which will denote one continuous action, the
repeated imperfect will present an action that is done repeatedly. A good illustration is
found in Acts 1:7 which reads:

They were asking him (Aéyovteg), Lord art thou at this time restoring the kingdom to
Israel?

The phrase could also be rendered thus: “they kept on asking him”. This implies that
the disciples have asked Jesus the same question before frequently.

The Inceptive Imperfect

The inceptive imperfect is also used to picture continuous action in the past. However,
the emphasis is on the beginning of the action rather &didackev, which is best
translated “he began teaching them”. This word is used to introduce the Sermon on the
Mount also in Luke 5:3 and Mark 5:37.

The Imperfect Active Indicative of Mm

The personal endings in the active secondary tenses are —v; -G; vove; -uev; -te, -v. The
variable vowel is o before an ending beginning with p, or v and it is € before any other
ending. The third person singular often take the movable v. You will also discover that
the first person singular and the third person plural are identical and thus should be
distinguished by the context.

Since we have been using Abw as our we will still use the word as long as it has a form
in what is intended to discuss. The following is the imperfect active indicative of AMw:

g\vov | was loosing gnvopev we were loosing
&\veg you were loosing gNVETE you were loosing
glve he, she, it, was loosing glvov they were loosing

You will notice that in the above paradigm for the imperfect active indicative of Av®
for the first time you will be seeing that there is a letter (vowel €) before each form of
the word. This letter is called an augment. In the Greek, this augment is in an
indication that the word is a secondary tense. A secondary tense in the Greek is a tense
that expresses a past time. This is why all the translations are given in the past tense in
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the English. This augment is peculiar to verbs that begin with a consonant. It is also
called “syllabic augment” because it adds a syllable to the word. However, when the
word begins with a vowel, the vowel is lengthened to the corresponding long vowel.
This is called a “temporal augment”. In the temporal augment, £ becomes n; o
becomes ® and o will become n and not the long o because it might not be
differentiated easily. For example, dxobm becomes fikovov, £ysipm becomes fysipov.

The Imperfect Active Indicative in Compound Verbs

In the case of compound verbs, the augment comes after the preposition and before
the vowel stem. If the preposition ends with a vowel, the process of elision will take
place. For example, ékBailim becomes &EEBarhov; dmokteive becomes dmextewvov;
andyw becomes anfiyov. Note that in all the examples given, the accent is no longer
on the preposition for any reason but it mat rest on the augment.

The Imperfect Active Indicative of ipi

The imperfect active Indicative of tut is:

Hunv | was uev we were
ng you were nte you were
nv he, (she, it) was noov they were

The Imperfect Middle and Passive Indicative of Abv®

The imperfect middle and passive voice are identical just as they are in the present
tense. The difference is just that of the function they perform. Ensure that you note the
differences in the translation of the imperfect middle and the imperfect passive.

The Imperfect Middle Indicative of M is as follows:

Person Singualar Plural
1st goounv | was loosing myself | élvoueba we were loosing
or for myself ourselves or for
ourselves
2nd €A0oV you were loosing €Mecle you were loosing
yourself or for youselves or for
yourself youselves
3rd ENVETO he was loosing EADOVTO they were loosing
himself or himself themselves or for
themselves
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The Imperfect Passive Indicative of Abw is as follows:

Person Singualar Plural
1st godunv | was being loosed Elvoueda we were being
loosed
2nd EAVOV you were being EMbecbe you were being
loosed loosed
3rd ENVETO he (she, it) was being | é\bovto they were being
loosed loosed

4.0 Conclusion

In this unit you have studied the imperfect tense. You have been told that the
imperfect tense is the tense that indicates continuous action in the past time. You have
also been taught that there are three functions of the imperfect: the descriptive
imperfect that is used to give a vivid description of what was going on in the past; the
repeated or iterative imperfect that is used to show repeated actions in the past time
and the inceptive imperfect that is used to lay emphasis on the beginning of an action
in the past time. You have also studied the various forms of the imperfect: the
imperfect active indicative, the imperfect middle and the imperfect passive indicative.

5.0 Summary
The following are the major points you have learnt in this unit:

e The imperfect tense is the tense that indicates continuous action in the past
time.

e There are three functions of the imperfect: the descriptive, the iterative and the
inceptive imperfect.

e The descriptive imperfect that is used to give a vivid description of what was
going on in the past.

e The repeated or iterative imperfect that is used to show repeated actions in the
past time.

e The inceptive imperfect that is used to lay emphasis on the beginning of an
action in the past time.

Self-Assessment Exercise

Identify the imperfect indicative verbs in this passage and indicate whether they are
active, passive or middle (Ephesians 1:1-5):
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1 Iodlog dmdotorog Xpiotod Incod S Oeliuotog Oeod Toig dryiolg Toic ovowy [8v
‘Epéom] xai miotoig év Xpiotd Incod-

2 yGp1g LUV Kai gipnvn anod 0eod maTpog UV Kol kupiov Tncod Xpiotod.

3 EvAoyntog 0 Be0¢ kai matnp 1o kupiov nudv Incod Xpiotod, 6 edhoyncag nuag v
TAoT ELAOYIQ TVELUATIKE &V TOIG émovpaviolg &v XploTtd,

4 kaBng &€eréEato MUAg &v avTd PO KaTaPoAfic KOGHOV, €ivor MUAG dyiovg Kol
AUDOUOVE KOTEVAOTIOV a0TOD €V Aydm),

5 mpoopicag Ui €ig viobesiav d1d Incod Xpiotod €ig avTdV, KoTd TV vd0KiaV TOD
Bl uatog ovTod
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1.0 Introduction

In the previous unit we dealt with the last aspect of the imperfect tense which deals
with actions that took place in the past though having a continuous tense. In this unit,
we will deal with the future indicative tense that has to do with actions taking place in
the future. In this unit, both the future active and the future middle indicative verbs
shall be considered.

2.0  Intended Learning Outcomes
By the end of this unit you should be able to:

« identify any given future verb in any sentence

write the future stem of all the verbs you have been given so far
write the full persons and number of any given future verb
discuss the changes in the future stem

write the future indicative of the verb to be

« discuss the kinds of action in the future tense

« translate sample sentences in the future tense.

3.0 Main Content
3.1  The Future Stem

The future stem is obtained by adding s to the verb stem. For example, the verb stem
of M is A0. When you add o, it becomes Avc. Note that this is a primary tense,
therefore the primary active endings would be used for the future active and the
primary middle tense would be used for the future middle. These endings are added to
the stem through the use of the variable vowel (that is, o and €) just like the present
tense. Therefore, as you will observe below, the future active of A is just like the
present active form expect for the suffix o.
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The following is the future active form for Avo:

AMom | shall loose AMdoopev we shall loose
Aoelg you will loose Mcete you will loose
Moet he, she, it will loose Avcovot they will loose

The following is the future middle form for Abw:

Adoopon | shall loose myself/for myself ~ Avooueba  we shall loose ourselves
Ao you will loose yourself Moecbe you will loose yourselves
MoeTon he (she, it) will loose himself Aoovtot they will loose themselves

Note that you have not been given the future passive. This is because it is built on a
different stem entirely. The two are not to be confused because their meanings would
be different. It will be studied later.

3.2  Stem Changes in Future Stems

Note also that not all the stems of the future can be determined easily as that of M.
When the stem of the verb ends in a consonant, there are some changes that are bound
to occur when the tense suffix o is added to the stem. The chart that follows would
give you an idea of the kind of changes that would take place generally. However, you
have to know that this is by no means universal.

Verbs ending in a liquid consonant (A, p, v, p)
In this class of words, the o that is added to the stem would be dropped and the ®
would be accented. This change is however due to some contraction principles that

would be learnt later in the course. The following are appropriate example: instead of
uévow you will have pév; dnootéldm also becomes amocteAld.

Verbs ending in a mute consonant
Note that mute consonants are divided into three classes: palatial, labial and dental.

In the case of palatal consonants (k, vy, x): the palatal consonants become & before o;
hence éyw becomes G&o.

In the case of labial consonants (z, B, ¢): the labial consonants become v before o;
hence PAénm becomes By .

In the case of dental consonants (t, 8, 0): the dental consonants before ¢ drops out;

hence neiBw becomes neiocw. The same principle applies to sibilant consonants like
and ¢; hence cm(w becomes cmow.
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Other Future Tenses Stem

You also have to know that there are some future stems that are entirely different from
these ones. This difference is due to the fact that the stem of the general verb and the
stem of the present stem are not always the same. In Abw they are the same and this
explains the similarity between the present and future tense. However, there are other
verbs that are not similar. These include: ywooko the stem of which is yvo. The
future stem thus would be yvoo; in the case of knpvocw the stem is knpvk - and so
the future tense stem would be knpv€ -. These differences account for the variety of
differences between future stem forms. However, once the first person singular of the
future is learned it is easy to know the remainder of the tense forms.

It is also important to know that some verbs are active in the present but in the future
tense they become deponent. You should carefully observe this in the process of your
vocabulary study. Examples however include Aoupave which has its future in the
deponent as Aquyopar; and yivooke is also deponent and has yvocopon as its future
form.

3.3 Time and Kind of Action in the Future Tense

It is obvious that the time of action in the future tense is the future time. The kind of
action can either be punctiliar or linear. The context will usually indicate which is
intended. Most of the time however, it is punctiliar action because the most natural
construction for indicating continuous action is the periphrastic future and this would
be learnt later. The following however are the possible usages of the future tense:

The Simple Predictive Future

This is the simple future that predicts what will happen as in dudc S16a&et.

The Imperative Future

The imperative (that is a command) may be expressed by the future as in: kaAéceic to
6vopa avtod Twdvny that is, “you shall call his name John™.

The Deliberative Future
This is sometimes found when a rhetorical (this is a question to which one really
expects no answer) question is being asked: Kvpie, mpoc tiva dmelevsoueda; that is,

“Lord, to whom shall we go?”

These three usages are the common ones that you will find in the New Testament.
Other usages occur less frequently.
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3.4  The Future Indicative of gipi

The future indicative of €iui is as follow:

goopan | shall be gooueba we shall be
gon | you will be £oeobe you will be
gotan he (she, it) will be  £covtau they will be

4.0 Conclusion

In this unit you have been introduced to the future active and middle indicative tense
in the Greek language. You have learnt that the future stem is formed by adding o to
the verb stem. The addition of o to the stem of the verb would make some consonants
to react by either changing their form or dropping out entirely. You are also taught
that the future tense is used in three major ways in the Greek New Testament.

5.0 Summary
The following are the major points you have learnt in this unit:

The future stem is formed by adding o to the verb’s stem

The presence of s changes some consonants and some also drop out

Some future verbs have their stem different from the present active indicative
The future tense can be used in three ways: simple predictive future, the
imperative and the deliberative future.

Self-Assessment Exercise

Identify the future indicative verbs in this passage and indicate whether they are
active, passive or middle.

Revelation 1:7 1600 &pyetat HeTd T®V VEQEADV, Kol OyeToL ADTOV TS 0QOUALOC Kol
oitveg adTOV £EEKEVINGOY, Kol KOYOVTAL €° aDTOV Tacat ol GUAOL THE YRG. Vai, duny.

Revelation 1:8 'Ey® sipt 10 Alga kai 10 Q, Aéyet kKOproc, 6 0£6¢, O dV Kkai 6 v Kai O
EPYOUEVOC, O TOVTOKPAT®P.

Revelation 1:9 Eyo Todvvng, 0 4oeApog DU®dV Kai 'ovykowvmvog &v Tf) OAlyet kai
Bactieiq kai vwopovi) "év Tncod, &yevouny év i) vijo® i) kahovpévn Iatuw oo Tov
Adyov tod Beod "kai v paptupiav "Incod.

Revelation 1:10 &yevouny &v mvebuott v T KLplaki] UEPQ, Kol fikovoa "Omicm Hov
QOVIV' LEYAANV G GAATLYYOC

Revelation 1:11 Aeyovong O BAémeic yphwyov &ic Pipriov koi mépuyov taig £mta

gxkinoiog, €ic "Epecov kail gig Zuvpvov kal gig [Tépyapov kai €ig Gvdrtelpo Kol €ic
Yapdeic kai eig Drhadélpelay kol eig Aaodikeay.
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1.0 Introduction

In the previous unit you have studied the future active and middle indicative closely.
You must have taken note of the use of the o in the future tenses and the formation of
its various forms. In this unit, you would be examining the aorist tense which is used
for the expression of the past action too like the imperfect. Please as you study this
unit, not the differences between the imperfect and the aorist tense though they are
both used for the past action.

2.0  Intended Learning Outcome
By the end of this unit you should be able to:

« Distinguish between the imperfect and the aorist indicative

« Distinguish between the first and the second aorist

 ldentify any verb written in the first aorist

« ldentify any verb written in the second aorist

« Distinguish between the formation of the aorist passive in first and second
aorist

3.0 Main Content

3.1 The Aorist

In Greek as in English language, there are two ways to form the past tense. It is
important to note that this does not mean that each verb has two ways of forming the

past tense. Though some Greek verbs do have the two ways, it must be noted that such
verbs are very rare.
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The two ways of forming the past tense in the Greek are called the first and the second
aorist. The Greek verbs that add the s to their stems are called the first aorist and the
others that add the endings without the s are called the second aorist. Despite these
differences in formation there is basically no difference between the two in terms of
function.

The aorist is a secondary tense because it deals with the actions in the past time. It is
therefore augmented just like the imperfect. Remember that in the augment, a stem
beginning with a consonant takes the “syllabic augment” and the stem beginning with
a vowel takes the “temporal augment”.

As a secondary tense, the aorist takes secondary active endings in the active and
secondary middle endings in the middle. The aorist passive is entirely different from
the aorist middle in form as well as in function.

3.2  Functions of the Aorist

It has to be stated that the function of the aorist tense is a matter of tremendous
Importance. As stated earlier, the time of action is in the past and the kind of action is
punctiliar. This is the major difference between the imperfect and the aorist.
Remember that the imperfect indicates continuous action in the past (for example: |
was loosing) but the aorist indicates a finished action in the past (for example: |
loosed). The Greek aorist would correspond more to the simple past tense and the
perfect tense of the English language. The use of the aorist tense however has many
implications:

Constative Aorist

In this usage, the action is loooked upon in its entirety. For example, éBantiote ToUg
avOpmmovg would be interpreted “he baptized the men”. You will notice that though
the action may have covered considerable time, it would be presented as one act.

Ingressive Aorist

In this usage the aorist views the act as having occurred but emphasizes the initiation
of the action. For example, 61 dvudc éntoyevoe would be translated “for your sakes he
became poor”. In this usage, the action is one and it is viewed from its inception.

Culminative Aorist

The culminative aorist views the action as having occurred but emphasizes the end of
the action or the state of being resulting from the action. For example, tov mp&dtov
Aoyov émomodunv would be translated “the former treatise I have made”. In this
phrase, the act of writing is looked upon as one act, but the emphasis is on the finished
product. Though in this function the aorist overlaps with the Greek perfect tense, the
difference would be expatiated on during the study of the perfect tense. Note that there
are other usages, but these are sparse in the New Testament Greek.
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3.3 The First Aorist Active Indicative of AVw

Elvoa | loosed Endoaypev we loosed
g\voog you loosed gEndoapev you loosed
gE\voe(v) he (she, it) loosed EMOGAVTO they loosed

3.4 The First Aorist Middle Indicative of AVw

gErndoaunV | loosed myself or for e0lu/samega | we loosed ourselves for
myself ourselves

EMOO® you loosed yourself or | éAboacbe you loosed yourselves or for
for yourself yourselves

EADGOVTO he (she, it) loosed EMOGOVTO they loosed themselves or
himself or for himself for themselves

Please note that it is easier for you to study all the changes in the word formation as
part of the vocabulary. It is also important to remind you that because of the addition
of s to the stem of the word, there would be changes in the word. In general, these
changes would correspond to the ones studied earlier when the future stem was
studied (you can go back and revise these changes now) but this is not a safe test. It is
better to check a lexicon for the first person singular of the word after which it would
be easier for you to list other forms.

3.5 The Second Aorist

The second aorist as said earlier, is the kind of past tense in the Greek language that
does not form the past tense by adding o to the stem but alter the stem radically and
then add the secondary personal endings. It has to be noted that there is no way to
determine whether a Greek verb will take the first or the second aorist. You may need
to check the lexicon to determine this. Once you have determined the form of aorist a
verb will take, it would be easy for you to finish up the declension. Note however that
there are very few irregular second aorist words, but for the most part they are very
regular.

If you see a second aorist verb, to trace it back to the stem, follow the following steps:

First, strike off the secondary personal endings. For example, it will be on in the first
person singular. Second, if it is a syllabic augment, remove the augment and if it is a
temporal augment, shorten the vowel back to the normal short vowel. For example, to
determine the stem of &umov remove the ov and the € which is the augment and
what you will have is Aurt-.

You must know that the functions of the first and second aorist are exactly the same.

The difference is only that of form. Consequently, with words that have the two forms
of aorist, they mean the same thing. For example, fjveyxa (first aorist) and fjveykov
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(second aorist) forms of @épw mean the same thing: “I bore or I brought”. The
following verbs should however be noted:

The verb £idov is from the verb £{8a though some grammarians classify it as a second
aorist form of Prénw. The second aorist eimov is from the verb enui though some
grammarians classify it as a second aorist form of Aéyw. These verbs &idov and inov
in the New Testament usually has first aorist endings on the second aorist stem. You
have to know also that there are some verbs that are deponent in the present tense but
are active in the aorist. An example is &pyopon that has its aorist active as nA0ov and
not nABOunv. As it has been said earlier you may need to check up confusing words in
the lexicon to determine what their forms in the aorist would be.

3.6  The Second Aorist Active Indicative of Agsint®

The second aorist is one of those tenses where Avw could no longer be used as our
example. As a result, focus would be changed to the above word. The following is
then the second aorist active of Asinw:

gMmov | left ENimopev we left
gEnmeg you left ENimeTe you left
Eme(v) he, she, it left EMmov they left

3.7 The Second Aorist Middle Indicative of Asinw

EMmTOUNV I left for myself gamopebo.  we left for ourselves
EATOV you left for yourself Elimecbe you left for yourselves
ENimeTo he (she, it) left for himself  éAimovto they left for themselves

3.8 The First Aorist Passive

The first aorist passive has a tense suffix which is the syllable 8¢ but in the indicative
it appears as On. As a secondary tense, the aorist passive is augmented in the normal
way and takes the secondary personal endings which are added without the use of a
connecting vowel. You have to note here that the secondary active endings are used
even though this is the passive voice. This would be reflected in the example that
would follow.

When the verb stem ends with a consonant there are various changes before the 6n of
the aorist passive. Following are the changes that are normally made; however, you
need to check the lexicon until you have mastered the aorist passive form:

Liquid Consonants

v drops out before 6. For example, kpiveo becomes €xpifnv.
A, p are retained before 6. For example, ayyéliom becomes fyyélOnv. p inserts n
before 6. For example, véum becomes &veunonv.
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Mute Consonants
Palatals

K, Y change to x before 6. For example, dym becomes #xOnv and dubkw becomes
E01YOMV.
x is retained before 6. For example, d1ddokm becomes £6156y0mv.

Labials

m, [ change to ¢ before 6. For example, Acinw becomes éieipOnv and tpifw
becomes gtpiponv.
@ elides the 8 and becomes second aorist. This would be discussed fully in the next
section.

Dentals

T, &, 6 changeto o before 6. For example, neiBw becomes éncicOny.
Sibilants

Sibilants change to o before 0. For example, Bantilw becomes éBomticOny.
3.9 The Second Aorist Passive

The second aorist passive is like the first aorist passive except for the absence of the 6.
Remember that the aorist passive of a verb cannot be determined by the aorist active.
Some verbs like ypdow have the first aorist active and the second aorist passive.
Others like Aeinm have second aorist active and first aorist passive. However as far as
function is concerned both first and second aorist passive are the same. They both
indicate finished action received by the subject in the past time. The second aorist
passive of aroctéAlm is set out below:

AmEGTAANV | was sent AmESTAANLEY we were sent
AmEGTAANG you were sent aneotdAnTe you were sent
GTECTAAN he (she, it) was sent AmECTAAN GOV they were sent

3.10 The Future Passive

The future passive indicative is based on the aorist passive stem and this is why the
study is delayed until you have understood the aorist passive stem. As a primary tense
however, it will not take any augment and it will use primary passive personal
endings. In addition to this, it will also take the future tense suffix (o) and the variable
connecting vowel o or ¢. In function, the future passive deals with action received by
the subject in the future time. The following is the future passive of Avw:
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AvBnoopat | shall be loosed AwBnooueba we shall be loosed
Avbnon you will be loosed Avbnocecbe you will be loosed
AvBnoetat  he (she, it) will be loosed AvBnoovtal they will be loosed

You have to note that most deponent verbs vary in the aorist and future passive. Some
have passive forms like dmoxpivopar. In the aorist passive it is written as amexpifny “I
answered”. Some other verbs have both the passive and the middle forms in the aorist.
An example of this is yivouat. It can appear as éyevounv and as £yeviionv. Both are
however translated “I became”.

4.0 Conclusion

In this unit you have studied the aorist indicative verb. You have been taught that
there are two ways of forming the aorist tense in the Greek language and these are
known as the first and second aorist. You have also been taught that the aorist tense is
a secondary tense and thus would use the augment whether the syllabic or the
temporal augment. You have also been taught that unlike the imperfect, the aorist
indicates a finished action in the past and would therefore correspond to the English
simple past and perfect tense. The aorist has three functions: the constative function in
which the past action is looked at in its entirety; the ingressive function which
emphasizes the initiation of an action and the culminative action which emphasizes
the end or the state of being resulting from the action. You have also looked at the
formation of the various voices as well as the future passive because it is similar to the
aorist passive in formation.

5.0 Summary

The following are the major points you have learnt in this unit:

e There are two ways of forming the aorist tense in the Greek language and these
are known as the first and second aorist.

e The aorist tense is a secondary tense and thus would use the augment whether
the syllabic or the temporal augment.

e Unlike the imperfect, the aorist indicates a finished action in the past and
would therefore correspond to the English simple past and perfect tense.

e The aorist has three functions: the constative function in which the past action
is looked at in its entirety; the ingressive function which emphasizes the
initiation of an action and the culminative action which emphasizes the end or
the state of being resulting from the action.

e The first aorist is formed using the augment and adding the consonant ¢ while
the second aorist does not use the consonant o. The passive voice in the first
aorist has a tense suffix 0¢ while the 6 is absent from the second aorist.

e The future passive is built on the same stem as the aorist passive.
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Self-Assessment Exercise

Identify the aorist indicative verbs in this passage and indicate whether they are first
or second aorist and note if they are active or passive.

Revelation 1:1 AmokdAivyic Incod Xpiotod, fiv Edmkev avt@® 0 0g0g dei&on TOiC
dovA01g avToD, O Ol yevéohol &v TAyel, Kol EonpaveV Amooteilag o1t ToD AyyéAov
avToD T® 60VA® aTod Twdvvn,

Revelation 1:2 6¢ éuoptopnoev tov Adyov 100 Oe0od kail v poptopiav Incod
Xprotod, doa €10¢ev.

Revelation 1:3 pokdpiog 0 avoywvd®okov kol ol GKOVOVIEC TOVG AOYOVLE THiC
TPOENTELONG KOl TNPOVVTES TAL &V OOTH YEYPAUUEVA, O YOP KOPOG EYYVC.

Revelation 1:4 Todvvng taig énta ékkinoiong taig €v T Acig: yapig VUiV kol ipRvn
Tamd 6 @V Kol 6 NV kal 0 £pYOUEVOS, Kal ATO TOV ENTO TVELUATOV O EVOTIOV TOD

Opovov avTod,

Revelation 1:5 xoi ano Incod Xpiotod, 6 pUapTLG O TOTOG, O MPMOTOTOKOG TMV
VEKP®VY Kol O Apywv TOV PactAénv THE YTic.

T dyoan®dvtt UG Koi ADGavTL UG K TOV QUOPTIOY UV &V T@ ainatt avTod
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1.0 INTRODUCTION

Welcome to the study of Greek Syntax. In the last module you have been through a
review of the major nouns and verbs that were studied in CTH215, the pre-requisite to
this course, CTH216. You will begin this module with the study of Participles.
Participles are the forms of verbs that are used to form complex tenses. In this study of
participles, you will examine how participles are formed in the Greek language, how

they are used as well as their characteristics.

2.0

INTENDED LEARNING OUTCOMES

By the end of this first unit you should be able to:

Explain what participles are

Discuss the characteristics of participles

Discuss the functions of participles

Write the participles in the present, middle and passive forms.
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3.0 Main Content
3.1 Understanding the Participle

The participle is a verbal adjective. In other words, it carries the qualities of the verb
and the adjective. The present active participle is declined like a third declension mute
stem noun in the masculine and neuter and like a first declension s stem noun in the
feminine. Below is the present active participle of Abw, which you must study
carefully, noting the inflection and the accenting pattern. Following this pattern, you
can form the present active participle of any regular verb.

3.2 Present Participles

Present Active Participle of M:

Singular
Case Masculine Feminine Neuter
Nom. & Voc. AVvov Avovoa Avov
Gen. & Abl. AbovTog ADovoNG A0oVTOG
Dat., Loc. & Inst. | Avovtt Abovon AVOVTL
Accusative Avovta Adovoov ADoV
Plural
Nom. & Voc. Abovteg Abovcat Adovta
Gen. & Abl. AVOVTOV AOOVG OV AovVIOV
Dat., Loc. & Inst. | Abovcu(v) Adovcoig Adovoy(v)
Accusative Abovtog ADoVGOGC Adovta

By adding the 6uevog, 1, ov endings to any regular verb, you will get the present
middle and passive forms of the present participle. The deponent verbs (if you don’t
remember what these are, go back and read the unit on deponent verbs in the CTH215
course material) will also use this system form their present participle.

Present Active Participle of &ip:

Singular
Case Masculine Feminine Neuter
Nom. & Voc. oYY ovGa dv
Gen. & Abl. Ovtog olomng vtog
Dat., Loc. & Inst. | 6vtt olon ovtt
Accusative ovta oboav ov
Plural
Nom. & Voc. dvteg ovoal dvia
Gen. & Abl. Ovtov oVeAV Oviv
Dat., Loc. & Inst. | oboi(v) oboaig o0VG1(V)
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| Accusative | dvtag | oboag ovta

3.3  Characteristics of Participles

As you have been told earlier, the participle combines the characteristics of the verb
and the adjective. As a verb, it has tense and voice, it may take an object and it may be
used as an adverbial modifier. As an adjective, it has case, gender and number; it may
be used substantively, and it may also be used as an adjective modifier.

3.4 Functions of Participles

The verbal function of the participle has to be noted in relation with the voice (active,
middle and passive) and the tense, which has to do with the kind of action. The
present participle indicates continuous action while the aorist participle indicates
punctiliar action. In all, only four Greek tenses, namely: present, aorist, future and
perfect has participles. You have to note that the time of action in participles is
indicated in the relationship of the action of the participle to the action of the main
verb. Note the following: The aorist participle indicates action that is antecedent to the
action of the main verb. The present participle indicates action that is
contemporaneous with the action of the main verb. The future participle indicates
action which is subsequent to the action of the main verb. The perfect participle
indicates action which has become a state of being. The following is an example of a
present participle:

Aéyov tadta 6 avOpmmog PAEnel tov KOpiov which would be translated “while saying
these things, the man sees the Lord”. Another example is: didaockduevoc vmo TOD
K6piov 0 avBpwmroc AapPaver v ainbsiav which would be translated “while being
taught by the Lord, the man receives the truth” or “as the man is being taught by the
Lord, he receives the truth”.

The first of these examples, that is, Aéyov tadta 6 dvOpwmog PAémel tov Kopiov,
illustrates the characteristics of a participle, the ability to carry a direct object. In the
construction, tadta is the accusative and this means that it is the direct object of the
participle Aéywv.

The Participle as an Adverbial Modifier

The following is an example of how the participle can be used as an adverbial
modifier. épyouevor éknpvcocov 10 goayyéhov which would be translated “as they
were going, they were preaching the gospel”. In this case, the participle modifies the
verb and tells when they were preaching. As an adverbial modifier, the participle may
tell when, how, why, on what condition, by what means, or under what circumstances
an action took place. This function would be studied in greater details during the
lesson on subordinate clauses.
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The Adjectival Function of a Participle

As an adjective, the participle would have to agree with the noun it is modifying in
gender, number and case. As an adjective, the participle can also be used
substantively. For example, 6 Awov would mean “the loosing man” or “the man who
looses,” or “he who looses”. Care has to be taken when the participle is used in this
way that the relative translation is followed so that the full significance of the
construction is given. Check out the examples below:

Sentence Translation
BAémw TOV Aéyovta TadTO | see the one who is saying these things.
EBAeya TOV Aéyovta tadTo | saw the one who was saying these
things.
BAET® TOLG AéyovTa TodTO | see the men who are saying these

things, or | saw those who are saying
these things

BAET® TOV AdEAPOV ThiC Aeyovong todta | | see the brother of the woman who is
saying these things

In its function as an adjective, the participle may also be used as an adjectival
modifier. In this construction, the participle is always in the attributive position with
the noun and it is usually the longer of the two possible forms. For example, 6 Aéywv
amooToAOC Or O amdotoloc O Aéywv would mean “the saying apostle” the second
which is longer would be used in this case. This is the case in ¢ dmocToAog 0 Aéywv
tadvta Which would read “the apostle who is saying these things”.

This thus brings us to a very important issue in the function of participles. When the
participle is in the attributive position, that is it carries the article, it has to be given a
relative translation as in “the one who”. However, when the participle is in the
predicate position, that is, it does not carry the article, it is given a temporal translation
as in “while” or “as”. This is seen in the examples below:

EPAeya TOV amdaTolov Aéyovto tadta would be translated “I saw the apostle while he
was saying these things”.

EPAeya TOV amodcToloV TOV Aéyovta Tadto would be translated “I saw the apostle who
was saying these things”.

3.5 Aorist Participles

The first aorist active participle of Mo is:

Singular
Case Masculine Feminine Neuter
Nom. & Voc. AGog AMGaca Aoy
Gen. & Abl. AMGOvVTOC Avchong ADGOVTOC
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Dat., Loc. & Inst. | AWoavtt Avcaon AMcavtt
Accusative AMvcavta AMGacov Mooy
Plural
Nom. & Voc. AMOGavTeG AMGacat AMvcavta
Gen. & Abl. AGavTmV AGac®V AGAVTOV
Dat., Loc. & Inst. | Acacy(v) AvGacog AMooacu(v)
Accusative AMcavTog Achoog AMvcavto
The first aorist middle participle of Ao is:
Singular
Case Masculine Feminine Neuter
Nom. & Voc. AVGAUEVOG Avcapévn AVGAUEVOV
Gen. & Abl. Avcopévon Avcapévng Avcapévov
Dat., Loc. & Inst. | Avcopéve Avcapévn AGOUEVE
Accusative Avcapevov Avcapévny AVGAUEVOV
Plural
Nom. & Voc. Avcapevol Avcapevot Avchueva
Gen. & Abl. Acopévav Acapévov Avcapévev
Dat., Loc. & Inst. | Avcauévoig Avcopévaig Avcopévorg
Accusative Avcapévoug AVGOUEVOG Avcapuevo
The second aorist active participle of Asimo is:
Singular
Case Masculine Feminine Neuter
Nom. & Voc. MOV Mrodoa AoV
Gen. & Abl. MmdvTog Mmovong AmovTog
Dat., Loc. & Inst. | Mmovtt Mmovon Auovt
Accusative Mmoo Mmodoav Amov
Plural
Nom. & Voc. MITOVTEC Mropévn Auovta
Gen. & Abl. MTOVTOV MIouéVIG AmovVIOv
Dat., Loc. & Inst. | Mimodoyv) Mmopévn Mmobou(v)
Accusative MTOVTOGC Mropuévnyv Aumovtog
The second aorist middle participle of Agimo is:
Singular
Case Masculine Feminine Neuter
Nom. & Voc. MITOUEVOG Mmopévn Awopevov
Gen. & Abl. Mmopévou AMmopévng Auropévoo
Dat., Loc. & Inst. | Mmopéve Mmopévn MIToUEV®D
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Accusative \ Mmopevov \ Mropévnyv \ Awopevov
Plural

Nom. & Voc. Mmopevol Mmopevart Auopeva

Gen. & Abl. MToUEVOV MITOUEVOV Auropévav

Dat., Loc. & Inst. | Mimopévorlg Mmopévoug Autouévorg

Accusative MTOUEVOLG Mropévog Auropeva

As you would have noticed, the aorist participle is formed on the aorist stem, but it did
not carry any augment. The first aorist active participle has the ca- tense suffix added
to the stem. After this, the participle is declined in masculine and neuter like a mute
stem noun of the third declension and in the feminine like a ¢ stem noun of the first
declension.

The first aorist middle consists of the aorist stem plus the middle participle suffix
(nev) plus the second declension endings in masculine and neuter and first declension
endings in the feminine. This is to say that the first aorist middle participle is like the
present middle participle except for the suffix ca- added to the stem.

The second aorist participle is built on the second aorist stem. It is declined exactly
like the present participle except that in the second aorist active participle the accent is
irregular. The accent is on the ultima in the nominative masculine singular and
thereafter follows the noun rule. You can compare the accent in the above paradigm
with the present participles.

3.6  Kind and Time of Action in Aorist Participles

The kind of action in the aorist as had been said earlier is punctiliar, that is, it is a
finished action. The time of the action is antecedent to the action of the main verb. In
verbs other than the indicative mood, the stress is on the kind of action. This is the
reason behind the absence of the augment in participles, infinitives and subjunctives
because it indicates the action in past time.

The use of the participle with or without the article is similar to that of the present
participles. You can revise it again. In translating the present participles, good English
expression should be used. For example, Abcag would be translated “having loosed”
or “when he had loosed” or “after he had loosed” while 6 Avcag would be translated
“the one who loosed” or “he who loosed”. Note the following examples, especially the
temporal or relative use and the relation of the action of the participle to that of the
main verb:

Greek Sentence English Translation

0 GvBpomog cimov tadto PAémer tov | The man, having said these things, is
Kbpiov. seeing the Lord.

etnov tadta EERABeV €k Tod ofkov. Having said these things (After he had
said/When he had said), he went out of
the house.
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0 &vOpwmoc O einmdv Tadta RADev €ic TOV
O1KOV.

The man who had said these things went
into the house.

0 eimwv tadto NABeV €l TOV olkov.

The man who (He who) had said these
things went into the house.

The aorist passive participle of Y is:

Singular
Case Masculine Feminine Neuter
Nom. & Voc. AvBeig AOgica AvBév
Gen. & Abl. AvBévtoc AvBeiong AvBévToc
Dat., Loc. & Inst. | AvBévt AvBeion AV0EvVTL
Accusative AOévta AOsicov A0év
Plural

Nom. & Voc. ABévteg ABeioan ABévta
Gen. & Abl. A0évtmv Avbelcdv AOévtov
Dat., Loc. & Inst. | ABeiot ABeicaig AOeiol
Accusative Abévtag AvBeioag Abévta

As shown above, the aorist passive participle is formed following the example above.
In doing this, the augment would be dropped, and the corresponding endings would be
added. Note however that it is only the first aorist that would have the 0 as a tense

suffix and not the second aorist.

The aorist passive participle is used like the other participles. The kind of action is
punctiliar and the time of action is antecedent to that of the main verb. The voice
however indicates that the subject receives the action. The participle may be translated

in several ways:

Greek Sentence

English Translation

0 Avbeic avOpmmog EENAOeV €k TOD
olKov.

The man who was loosed went out of the
house or The man who had been loosed
went out of the house.

ocwbeig do&aoel Tov Kvprov.

Having been saved, he will praise the
Lord or After he has been saved, he will
praise the Lord.

You must note that the use of the word in

its context must determine the translation.

3.7  Temporal Use of the Participle (without the article)
Tense Voice Participle Translation
Active AVdov Loosing; while
Present loosing; as he was
loosing
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Middle

Avopevog

Loosing for himself;
while loosing for
himself; as he was
loosing for himself

Passive

AvouEVOg

Being loosed; while
being loosed; as he
was being loosed

Aorist

Active

Avoag

Having loosed; after
he had loosed; when
he had loosed

Middle

AVGAUEVOC

Having loosed for
himself, after he had
loosed for himself,
when he had loosed
for himself

Passive

Avbeig

Having been loosed;
when he was loosed:;
when he has been
loosed; after he was
loosed; after he has
been loosed; after he
had been loosed

3.8  Relative Use of the Participle

Tense

\Voice

Participle

Translation

Present

Active

0 AoV

He who looses; the
man who looses; the
one who looses

Middle

0 Avdpevog

He who looses for
himself; the man who
looses for himself:
the one who looses
for himself

Passive

0 Avopevog

He who is being
loosed; the man who
is being loosed; the
one who is being
loosed

Aorist

Active

0 AMoog

He who loosed; the
man who loosed; the
one who loosed (or
has loosed/had
loosed)
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Middle

0 Aoduevog He who loosed for
himself; the man who
loosed for himself;
the one who loosed
for himself (or has
loosed/had loosed)

Passive

0 Abeic He who was loosed,;
the man who was
loosed; the one who
was loosed (or has
loosed/had loosed)

3.9 The Genitive Absolute

The genitive absolute is found frequently in the Greek New Testament. It is a kind of
construction which has a very loose connection with the main part of the sentence. It
Is usually composed by a participle and a noun (or pronoun) connected with it. When
the subject of the main verb is different from the noun or pronoun used with the
participle, then the noun and pronoun of the participle are put in the genitive case.

Examine the two sentences below:

Greek Sentence

English Translation

elmovtec tadta ol ArdcTolol AmmABoV.

Having said these things, the apostles
went away.

gindovtov  todTo  TOV  podnT®dvV
amocTolol AmiAbov.

ol

The disciples, having said these things,
the apostles went away.

You will note that in the first sentence, the subject of the sentence (apostle) has a
direct connection with the participle; hence the subject is in the nominative case. In
the second sentence, there is no direct connection between the participle and the
subject of the sentence (apostles). That is, the ones doing the saying and the ones
doing the going away are different group of people. The participle (having said) and
its noun (the disciples) are therefore absolute; hence they are separated from the main
part of the sentence and are in the genitive case.

4.0 Conclusion

In this unit, you have explored the participles. You have been told that the participles
are verbal adjectives, that is, they behave like the verb and the adjective. As verbs,
you have been told that participles have tense and voice, they can take the object and
may be used as adjectival modifiers. As adjectives, participles have case, gender and
number. You have also been shown the various examples of the use of participles in
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the attributive position (where it has a relative translation) and in the predicative
(where it has a temporal translation). You have also been taught the genitive absolute
which is a frequent construction in the Greek New Testament, and it is made up of a
participle and a noun.

5.0 SUMMARY
The following are the major points that you have learnt in this unit:

e Participles are verbal adjectives, that is, they behave like the verb and the
adjective.

e As verbs, you have been told that participles have tense and voice, they can

take the object and may be used as adjectival modifiers.

As adjectives, participles have case, gender and number.

In the attributive position participles would take a relative translation.

In the predicative position participles would take a temporal translation.

The genitive absolute is a frequent construction in the Greek New Testament

which is made up of a participle and a noun.

Self-Assessment Exercise

Identify the participles in this passage and indicate whether they are present or aorist
and the position in which they are used.

1:1 TTadrog xai Xthovavog koi TyudBeog 11 €kkAncia Osscarovikéwv €v Bed matpl
Kol kupio Tnood Xprotd- xapic vuiv Kai "eipnivn.

2 Evyopiotoduev 1@ 0e® mhvtote mepi maviov vudv "uveiov molovpevol €mi TV
TPOGEVYDV NUDV, AOIUAEITTOG

3 uvnuovevovieg LUBY TOoD Epyov TN TioTe®MG Kol TOD KOTOL THG AYATNG Kol ThG
VIOHOVIG THG A0 10D Kupiov NMUAV Incod Xpiotod Eumpocbev tod Oeod Kol
TATPOG UMV,

4 £1067eC, AdeApol NyamnuéVol VIO BeoD, TV EKAOYTV DUDV,

5 011 10 evayyéAov UMV ovK &yevnOn €ig DUAG &v AOY® novov GAAL Kal &v duvdpet
Koi &v vedpatt dyio kol TAnpogopiq moAAR, kadmc oidote olot &yevnOnuev &v VUiV
oU LuaG:
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1.0 Introduction

In the earlier unit, you have studied the present tense, the imperfect tense and the
aorist tense. You have been told that the present tense concerns an ongoing action in
the present; the imperfect is an ongoing action in the past time and the aorist concerns
specific action in the past time which at times may have its result having a present
effect. In this unit you would be focusing attention on the last of the Greek tenses, the

perfect tense.

2.0

Intended Learning Outcomes

By the end of this unit, you should be able to:

3.0

3.1

Identify any verb in the perfect tense
List the characteristics of the perfect tense
Write the perfect tense in any of the voices
List the functions of the perfect tense

Main Content

The Perfect Active Tense

The perfect active indicative of Ao is:

AélvKa | have loosed AehdKopev

We have loosed

AEAVKOGC You have loosed Aeldkate

You (p) have
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loosed

AéEXvKe(V) He has loosed Aelvkaoat or They have loosed
AEAVKOY
3.2 The Perfect Middle Indicative
The perfect middle indicative of Ao is:
Aéhopon | have loosed for Aghdpeba We have loosed for
myself ourselves
Aélvoat You have loosed Aegldobe You (p) have
for yourself loosed for
yourselves
Aéloton He has loosed for | AgAbvton They have loosed
himself for themselves
The perfect passive indicative of Ao is:
Aélopon | have loosed for Aeloueba We have loosed for
myself ourselves
Aélvoat You have loosed Aeldobe You (p) have
for yourself loosed for
yourselves
Aélvton He has loosed for | Aghbvton They have loosed
himself for themselves
3.3 The Perfect Active Participle
The perfect active participle of Mo is:
Singular
Case Masculine Feminine Neuter
Nom. AehvKdg AeAvkoia AeALKOC
Gen. & Abl. AEAVLKOTOC AeAvkviog AEAVLKOTOC
Dat., Loc. & Inst. | AgAvkoTt AeAvkvig AglokoTt
Accusative Aglvkota AeAvkviov AeALKOC
Plural
Nom. & Voc. AeAKOTEC AeAvkvion AghvkoTa
Gen. & Abl. AEAVKOTOV AEALKVIDV AghvkdTmV
Dat., Loc. & Inst. | Aelvkoo(v) Aehvkoiog AeAvkooy(v)
Accusative AeALKOTOG AeAvkviog Aghvkota
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3.4 The Perfect Middle and Passive Participle

The perfect middle and passive participle of Ao is:

Singular
Case Masculine Feminine Neuter
Nom. AeALEVOC Aghopévn Aghopévov
Gen. & Abl. Aehvpévou Aehopévng Aglopévov
Dat., Loc. & Inst. | Aehdopéve AeAopévn AEALUEV®D
Accusative AeAvpévov AeAopévnv Aghopévov
Plural
Nom. & Voc. AeAvpévol AeAvpévon Aghopéva
Gen. & Abl. Aehvpévav Aehvpévav Aelouévav
Dat., Loc. & Inst. | Aelvpévorc Aehopévaig Aehouévolg
Accusative Aehvpévoug AeAvpévag Aghopéva

3.5 The Perfect Infinitive

The perfect infinitives of Ao is:

Active AeAvkéval To have loosed
Middle Aghbvo0o To have loosed for oneself
Passive AeldoOo To have been loosed

3.6  Reduplication in the Perfect Tense

As you would have noticed in the above paradigms, the most striking characteristic of
the perfect tense of the Greek language is the reduplication of the stem. The following

are the ways by which the reduplication can take place:

a. Under normal conditions, the initial consonant is doubled and an epsilon (e) is
inserted between the two. For example, the reduplicated stem for Ao is AeAv-;
for ypaoo it is yeypaB- and for yivopou, it is yeyvov-. This is the most frequent

form of reduplication.

b. Verb stems beginning with ¢, 6 or y are reduplicated with the smoother
consonants =, t, and «k respectively. For example, 6viiokw becomes t¢6vnka.

c. As usual, verb stems beginning with a vowel lengthen the vowel to form the
reduplication. For example, éAnilw will become HAmika.

d. Verb stems beginning with two consonants sometimes reduplicate by prefixing
an ¢ like an augment in the aorist. For example, the perfect of ywookw is

EYVoKa.
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You have to note that the only safe way to learn the correct perfect form for a verb is
to check the word in the lexicon. The perfect active stem is the fourth principal part in
the lexicon.

3.7 Characteristics of the Perfect Tense

The major sign of the perfect tense is «. it has to be noted however that there are some
perfect tenses like yéyova that did not have the k. These ones are called second
perfects. Note however that the use of the « is the usual sign.

When a verb stem ends in a consonant, some changes would take place. For example,
verb stems ending in t, 3, or 6 would drop the consonant before the k of the perfect.
These changes are also best learned by observation in the lexicon.

The perfect tense is a primary tense. However, because of the nature of its functions, it
uses the secondary personal endings. The endings are the same as those of the first
aorist except in the third personal plural form where — koot is more frequent than —
KOV.

Examine the accent system in the paradigms above. You will discover that it is very
irregular unlike the other tenses. The irregular accent is one of the most certain ways
of identifying the perfect tense of a verb.

Finally, you also need to note that the perfect middle and passive forms employ no
connecting vowel. The endings are added directly to the stem as in Aélvuat, AeAdcOot
and AeAvpévoc.

3.8 Functions of the Perfect Tense

As you have been told earlier, the Greek perfect tense has no corresponding tense in
English language. Though you may have to translate with the English past tense, they
however do not express the full force of the Greek perfect tense. The perfect tense is
the Greek tense of completed action with a resultant state of being. Three ideas are
involved in this: an action in progress, its coming to a point of culmination and an
existing completed result.

The Greek perfect is better seen in the passive voice than in the active voice. For
example, yéypamtar can be translated “it has been written” but it is better translated “it
is written”. In fact, “it is written” pictures an act in progress, the point of culmination
and an existing completed result. This is the same sense in &yfyeptonr which means “he
1s risen”.

4.0 Conclusion
The perfect tense is easily identified with its reduplicated stem and the inserted . For

example, the reduplicated stem for A is Aekv-; for ypdow it is yeypae- and for
yivopor, it is yeyov-. This is the most frequent form of reduplication. Verb stems
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beginning with ¢, 6 or y are reduplicated with the smoother consonants =, T, and «
respectively as in Ovijok® becomes téBvnka.

Verb stems beginning with a vowel lengthen the vowel to form the reduplication. For
example, é\nilew will become fAmuca. Verb stems beginning with two consonants
sometimes reduplicate by prefixing an e like an augment in the aorist. For example,
the perfect of ywwooko is £yvoxa.

Remember that the Greek perfect tense has no corresponding tense in English
language. The perfect tense is the Greek tense of completed action with a resultant
state of being. Three ideas are involved in this: an action in progress, its coming to a
point of culmination and an existing completed result.

5.0 Summary
The following are the major points that you have learnt in this unit:

« The perfect tense is easily identified with its reduplicated stem and the inserted
€.

« The use of consonant « is the major characteristic of the perfect tense.

« The Greek perfect tense has no corresponding tense in English language.

« The perfect tense is the Greek tense of completed action with a resultant state
of being.

« Three ideas are involved in this: an action in progress, its coming to a point of
culmination and an existing completed result.

Self-Assessment Exercise
Translate the following sentences to English:

1. ta yeypappéva v 1@ PpAm Tod vopov €otiv dyadd.

2. 6 TpoeNTNG EVNYYEAiGOTO Aéy®V OTL 1 PaciAegla TV 0VPAVAV TYYIKEV.
3. aknkoéapev Vv aandelay koi yvokapey 6t dnd 100 Oeod €oTiv.

4. yeyovate t0 téKva ToD Og0D.

5. yépitl £6TE GECOGUEVOL S0 TIOTEWC.

6. &ym EAnAv0a €v 1@ OVOATL TOD natpég LoV Kol DUETS 0V 0€xechE e,
7. MEMOTEDKOLIEY Kail EYVOKOpEV OTL GV el 0 8y1og Tod Oeod.

8. tadta elnev 6 Incodg mpog Tovg nsmcrsmcowg €15 a0 TOV.

9. 7o 10 Tvedpa O Gyrov EMALOEY €ic TOV KOGUOV.

10. oi Befonticpévor pabnrai eicwv €v T ExkkAncig
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1.0 Introduction

In the previous unit you have completed the study of the main verb that you have
started since CTH215, namely, the indicative tense. Before you continue this study,
you may have to revise all that you have studied under the indicative tense. Form this
unit; you would be introduced to other verbal forms, beginning with the subjunctive
mood.

2.0  Intended Learning Outcomes

By the end of this unit, you should be able to:

Identify the subjunctive tense in all its usages.

Write the subjunctive form of &iyu.

Write the subjunctive form of any other verb.

List and explain the functions of the subjunctive mood.
Identify the four classes of conditional sentences.

3.0 Main Content

3.1 Vocabulary Study

dtkaooHvn, 1 righteousness
evayyeAilopon | preach the gospel
poptopia, 1 witness, testimony
oikia, 1 house

ooV, T child
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gav (when used with the subjunctive) if
el (when used with the indicative) if
iva. (when used with the subjunctive) in order that, that

3.2  The Subjunctive Mood

The subjunctive mood is used only in the present and the aorist tense in the New
Testament Greek. However, there are few occurrences in the perfect tense. It is the
most regular of all moods because it has the tense stem and the forms of the present
subjunctive of siut. You need to be informed that you will not be given any English
translation of the forms that follows because it is difficult to translate the subjunctive
mood outside its context. However, in the discussions that follows you will have many
translations as its context would be discussed.

3.3  Forms of the Subjunctive Mood

The present subjunctive of &ipu is:

) opev
ng nte
n ooy(v)

The present active subjunctive of Mo is:

Mo Mouev
Aong Aonte
Ao Mooy(v)

The first aorist subjunctive of Abo is:

Moo AMoouev
Adong Abonrte
Adon Mowot(v)

The second aorist subjunctive of Asirm is AMiro:

Mno Mrouev
Mmng Mmnte
Mmn Mrwou(v)

The present middle and passive subjunctive of Ab is:

AMopot Avopeda
Ao Aomobe
Adnrat AMovton
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The first aorist middle subjunctive of Ao is:

AMoopuat Avoueda
Adon Abonacbe
Abonran AMoovTon

The second aorist middle subjunctive of Asim is:

Mropot Mrouebo
Mmn Mmncbe
Mmnron Mmncbe

The first aorist passive subjunctive of M is:

A0d Abdpev
201 Avbte
A0 Modo1(v)

Please note that any second aorist passive would be written as above: the second aorist
stem plus the endings. The following could be observed from the above forms of the
subjunctive:

e A long connecting vowel, either ® or n replacing the short vowels o/ of the
indicative mood.

e The subjunctive tenses have primary endings and there is no augment in the
aorist. This is because the time of action is lost outside the indicative mood. It
Is the kind of action that is paramount.

e The irregular accent of the aorist passive is the result of the contraction of 0O¢-
with the long w/n connection vowel.

3.4  The Subjunctive Mood of the Greek New Testament

As you have learnt in CTH215-Greek Grammar, mood has been defined as the
affirmation of the relation of action to reality. Moods thus can be divided into two
broad classes: the real and the potential. In New Testament Greek, there are four
moods: the indicative, the subjunctive, the optative and the imperative. Of all these, it
Is only the indicative that expresses real action, the other three are used to express
potential action. Let us illustrate this though the English language so that you can
understand what is meant by the real and the potential action.

Indicative Mood: The child runs. This expresses action which is really taking place.
Subjunctive Mood: If the child runs, he will escape. This expresses an action that is

not really taking place but is objectively possible. This is because the child has the
ability to run. The subjunctive mood is the nearest to reality of all the potential moods.
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Optative Mood: Oh, that the child would run! This expresses an action that is
subjectively possible. It is one step further removed from reality than the subjunctive.

Imperative Mood: Run, child. This expresses an action that is volitionally possible.
This means that the action will result from the exertion of the will of one to produce
action on the part of another. It is the furthest removed from the real action of the
indicative mood.

The time of action in the subjunctive is relative to that of the main verb. The kind of
action finds its expression as linear in the present and punctiliar in the aorist. For
example, éav Ao means “if I continue loosing” and €av AMow would mean “if I loose
just once”. Note the time relation in the following sentences:

In the above sentences, the aorist subjunctive indicates a single act of speaking. In
one, it is in the present time, in the second it is in the past time and in the last one it is
in the future time.

Greek Sentence English Translation
Epyopan tva €imm adTd | come that | may speak to him
NAOov tva elnm aOTd | came that | might speak to him
grevoopOL tva EITm oaTd | shall come that | may speak to him

3.5  Functions of the Subjunctive Mood
The Hortatory Function

The hortatory subjunctive is the use of the first-person plural form of the verb to
exhort other people to join in an action that is deemed beneficial to all. For example,
EMDopev ic TOv oikov would be translated “let us go into the house”. No other form of
person or number is used for this function. It is used only in the first-person plural
exclusively.

The Prohibitive Function

The prohibitive subjunctive is the use of the second person aorist subjunctive to
express a negative entreaty or command. For example, €ic melpacpov p ioevEYKNG
nuac which would be translated: “Lead us not into temptation. You need to note that
the present subjunctive is never used for this form of prohibition; it has to be the aorist
subjunctive. You also need to note that the use of the prohibitive subjunctive is used
to forbid the commencement of an action (not the cessation of an action already in
progress). In this case, the most literal translation of the sentence used as an example
above is “don’t ever start to lead us into temptation”. Note that the prohibition of an
action already in progress is done with the use of the present imperative and this
would be looked at later under the imperative mood.
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The Deliberative Function

The deliberative subjunctive is used to express a question which is either a mere
rhetorical device expecting no answer at all or a real question which expects an
answer in the imperative. For example, ti eino vuiv; which would be translated “What
shall I say to you?” This question may not have an answer at all and if it will have one
it would either be “say this” or “say that”.

The Emphatic Negation

The subjunctive is used to express emphatic negation. In doing this, it employs the use
of double negatives. As you have been taught earlier, ob and un are the two words that
are used as negatives. Thus, in this construction, the two would be used together.
When this is used, it is a much stronger negation than the simple use of o0 with the
indicative mood. For example, ov un ékevymoty would be translated “they shall by no
means escape’.

Subjunctive Purpose

The subjunctive of purpose which is also called the final subjunctive is the use of the
subordinate clause to express purpose. The main particle used in this kind of
construction is iva. For example, £€pyoput iva ginw avt@® would be translated “I come in
order that [ may speak to him”.

The Probable Future

The probable future condition is expressed by the subjunctive along with £av. This
would be discussed fully under the conditional sentences.

3.6  Conditional Sentences

In the Greek language there are various kinds of conditional statements but only four
are outstanding in usage; and these are the ones that would be discussed here. They
follow one another according to their degrees of certainty.

« The first-class condition affirms the reality of the condition. This is expressed
by the use of &i with the indicative mood in the protasis that is, the if clause)
and it will take any other mood or tense in the apodosis (that is, the main
clause). For example, &l padntoi éouev 100 Kvpiov cwbnoouebo would be
translated “if we are disciples of the Lord, we shall be saved.” If you analyze
this sentence carefully, you will discover that in the protasis (&i paOntoi Eopev)
is in the indicative. This sentence is best translated “since we are the disciples
of the Lord, we shall be saved”.

« The second-class condition is the contrary to fact condition. In the English
language, such contrary to fact statements are expressed in the subjunctive but
in the Greek language it is expressed by the secondary tenses of the indicative
mood. This construction is expressed by the use of i with the indicative in the
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protasis and &v with the indicative in the apodosis. For example, &i fig ®de ovx
dv amébavev 0 aoelpog pov would be translated “if you had been here, my
brother would not have died”. The fact however is this: “you were not here and
hence my brother died”.

« The third-class condition is the probable future condition. This condition is
expressed by éav with the subjunctive in the protasis and any other form
needed in the apodosis. It is used to express that which is not really taking
place but will probably take place in the future. For example, todto momcopev
gav émrpénn 6 Oedg would be translated “this we will do if God permit”. It
means that though we are not doing it now, it is probable that we will do it on
the condition that God permits us.

« The fourth-class condition is the possible future condition. This construction is
expressed by the use of i with the optative mood in the protasis and &v with
the optative mood in the apodosis. For your information, there is no full
construction of this kind in the New Testament. In the following example, the
words in the parenthesis are supplied so that you would see a complete
construction: aAA’el kKol whoyotte S0 dtkaoovvny, pakdpot (Gv €inte) would
be translated “but even if you should suffer for righteousness’ sake, you would
be happy”. This statement implies that you are not currently suffering for
righteousness’ sake but though it is possible, it is not probable that you will.
This construction is used to express a condition that is not a reality in the
present time but has a remote possibility of becoming a reality.

4.0 Conclusion

In this unit, you have studied the subjunctive mood. This mood is one of the moods
that are used to express potential action, that is, an action that is not actually taking
place but has the possibility of taking place. The subjunctive mood has six different
functions. The hortatory subjunctive is used to exhort others to join in an action; the
prohibitive subjunctive is used to forbid the beginning of an action; the deliberative
subjunctive is used to express a rhetorical question or a question that demands an
answer in the affirmative; the emphatic negation; the final subjunctive which is used
to express purpose and probable future condition. After this, you have also studied
about conditional sentences. You were introduced to four classes of conditional
sentences.

5.0 Summary
The following are the major points that you have learnt in this unit:

« This subjunctive mood is one of the moods that are used to express potential
action, that is, an action that is not actually taking place but has the possibility
of taking place.

« The hortatory subjunctive is used to exhort others to join in an action.

« The prohibitive subjunctive is used to forbid the beginning of an action.

o The deliberative subjunctive is used to express a rhetorical question or a
guestion that demands an answer in the affirmative.
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o The emphatic negation is used to express a very strong negation. The final
subjunctive is used to express purpose and probable future condition.
Conditional sentences are sentences that express conditions that are not real.

Self-Assessment Exercises

1. gav elmopev 611 apoptioy ovk Exouev, 1 AANnOelo 00K EoTv &V MUAV.

2. glon\Bopev &€ig v ékkAnoiav tva dkovowpey 1OV Adyov T0D Bgod TOV
KnpBoocouevov.

3. &l abtn €otiv N poptvpio T0d 10O6VTOC TOV KVprov miotedm avthyv.

4. dxoO® TOV Adyov avtod tva yivdokm to 0EANIA adTod.

5. evayyeMmlopeda tva Ta T€Kva AkovoT Kol TIoTELN.

6. €av eimopev 011 Kowoviov &Eyopev HET oOTOD Kol HEVOUEV &V QuopTiq,
yevdopeda.

7. o1 un] TOTEVOVTEG TO €VAYYEMOV 0V LT cOODOY v T SuVAEL ADTOD.

8. pévopev év apaptig tva 1 dvvapug thg xaprrog tod Ocod PAénnTay;

9. &l éknpv&ag 10 edayyélov, ol &v apapTmAol éxictevcay.

10. un €icéAOng €ig ToLG 0ikovg TAOV TOVNPDV.

References/Further Readings

Adewale, Olubiyi Adeniyi (2015). Understanding Biblical Greek, Abeokuta:

Crowther Theological Publishers

Aland, B., K. Aland, J. Karavidopoulos, C. M. Martini, and B. M. Metzger (eds.)

(1993). The Greek New Testament, 4™ ed. Germany: United Bible Societies

Aland, B., K. Aland, J. Karavidopoulos, C. M. Martini, and B. M. Metzger (eds.)

(1999). Novum Testamentum, Nestle-Aland 28" ed. Germany: United Bible
Societies.

Mounce, William D. (1993). Basics of Biblical Greek, Grand Rapids: Zondervan.

Summers, Ray. (1950). Essentials of New Testament Greek, Nashville: Broadman

Press.

57



UNIT 4: THE IMPERATIVE MOOD
Contents

1.0  Introduction
2.0  Intended Learning Outcomes
3.0 Main Content
3.1  Vocabulary Study
3.2  The Imperative Mood
3.3  Forms of the Imperative Mood
3.4  Functions of the Imperative Mood
4.0  Conclusion
5.0 Summary
6.0  References/Further Readings

1.0  Introduction

In the previous unit you have studied about the subjunctive mood which is one of the
moods that is used to express potential action. You have also read about the functions
of subjunctive mood. At the later part of that unit, you also studied the formation of
the four kinds of conditional sentences. In this unit, you will also study another of the
mood used to express potential action and that is the imperative mood.

2.0  Intended Learning Outcomes

By the end of this unit, you should be able to:

e Write the imperative form of any verb that you have learnt before now
e Distinguish between the impetrative mood in Greek and English languages
e Identify the functions of the imperative mood

3.0 Main Content

3.1 Vocabulary Study

ayialo | sanctify Tivo | drink

¢ | wish oneipw | sow

ovg, ATAG, TO,ear dypt (with genitive) until
npiv before

3.2 The Imperative Mood

The imperative mood in the New Testament occurs only in the present and aorist
tenses. You need to know also that the imperative mood is not available in the first
person. Though in the English language the imperative mood occurs only in the
second person, in the Greek language, it occurs in the second and third persons. As a
result of this, in translation, where the imperative occurs in the third person, it is
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placed within the permissive idea, using the phrase “let him/her/it...” In the following
sub-section, the various forms of the mainline imperative mood would be given.

3.3  Forms of the Imperative Mood

The present active imperative of Ao is:

2" Person e loose Moete loose

3" Person Avétm let him loose Aétmoov let them loose

The present middle and passive imperative of Avo is:
2" Person Aov Meo0e

3" Person Mécho MécBmGy
The first aorist active imperative of Mo is:

2" Person AMcov Moate

3" Person MWGET® Medtocoy
The first aorist middle imperative of Mo is:

2" Person Moat Moac0s

3" Person MWcac0m Mehedncov
The first aorist passive imperative of Mo is:

2" Person M0nT MoOnTe

3" Person Mot Montocov
The second aorist active imperative of Asino is:

2" Person Aime Mimete

3" Person Mméto Mnétoocoy
The second aorist passive imperative of arootéAh is:
2" Person dmootdAnt AmOGTAATE

3" Person dmocToAT® ATOGTAANTOCOV
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The present imperative of gip is:

2" Person 601 gote

3" Person E0T® goTmoay
3.5  Functions of the Imperative Mood

As you have been told earlier, the imperative mood is one of the moods that are used
to express potential action. In its own case, the imperative mood is used to express an
action which is to be realized by the exercise of the will of one person upon that of
another. For example, Abe tov dvOpwmov would be translated “loose the man” and
Aétm 1oV dvBpomov would be translated “let him loose the man™.

You need to know also that the time of action is insignificant in the imperative mood.
In this case, the distinction between the present and the aorist tense would lie in the
kind of action. The present imperative has to do with an action that is in progress
while the aorist would be an action that has not yet come into existence. In this regard,
the proper translation of Abe tov dvOpwmov would be “continue loosing the man” and
AMoov tov dvBpwrov would be translated “start loosing the man”. The following are
the basic functions of the imperative mood:

Cohortative or Positive Function

The cohortative function is a positive command. To perform this function, the present
or the aorist imperative may be used. An example is Abe tov dvBpwmov which has
been translated “continue loosing the man”.

Prohibitive or Negative Function

This is used to give a negative command. To perform this function, only the present
imperative is used along with the negative particle un. This construction is used
purposely to prohibit the continuance of an action that is already in progress. For
example, un Ave avtov which would be translated “stop loosing him” and un Aéyete
tadto, which would also be translated “stop saying these things”. This is the opposite
form of the aorist subjunctive that is used to prohibit the commencement of an action.
This distinction is of tremendous syntactical significance.

Entreaty Function
This is the use of the imperative to express a request rather than a direct command. A
good example is found in the prayer of Jesus of John 17:11, when he said: wdtep Gyte,

Tpnoov avtovg &v T® ovopatt cov which have been translated “Holy Father, keep
them in thy name.”
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Permissive Function

This is the use of the third person imperative that is not available in the English
construction. However, to interpret it, the English auxiliary verb ‘let’” would be
introduced to make its meaning clear. For example, Avétw tov dvOpomov would be
translated “let him continue loosing the man” and Avcdtm tov GvOpwmov which would
also be translated “let him loose (or start loosing) the man™.

4.0 Conclusion

In this unit, you have studied the imperative mood. You have learnt that there is no
first person in the imperative mood and that unlike the English language, which has
the imperative only in the second person; the Greek language has the imperative in
both the second and third persons. The imperative has four different functions: it can
be used as positive command, as negative (prohibitive) command, as an entreaty and
also for the permissive use. You have also been taught that in the imperative mood,
the time of action is of no significance but the distinction between the present and the
aorist is to be found in the kind of action.

5.0 Summary
The following are the major points that you have learnt in this unit:

« The imperative mood appears only in the present and aorist tenses.

« Unlike the English language, which has the imperative only in the second
person; the Greek language has the imperative in both the second and third
persons.

« Cohortative command is used to give positive command

« Prohibitive command is used to give negative command and it prohibits the
commencement of an action.

« The entreaty is a function that is used to express a request rather than a direct
command.

« There is the permissive function that is used in the third person. In translation,
the English ‘let’ is supplied to make the tense clear.

Self-Assessment Exercise
Translate the following sentences to English:

. aytale 1O 1€pOV TOD BO€0D.

. Gkovoate TOv Adyov 10D Kvpidv kai chbnre.

. U Aéye movnpdl T0i¢ TéKVolg Kai gime dyodd odTolG.

. kovésBmwaoav ai mapaPorai mepi g facireiog v 1 EkkAnoiq.
. Kopie, kotdpnot npiv amobaoceiv 1o madiov pov.

. €1 0 GvBpwmog motevEl gig Tov Kbvpilov, Bantictntom.

. ivete 10 Bowp T Cmfig Kai Eobiete TOV dpTtov TG LoTic.

. Yivov motog dypt Bavatov.

0NN KW
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9. 6 & v OTa AK0OGHTO.
10. un eloéAOng €ig v TOAY TNV ovcay &V T® dpeL.
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1.0 Introduction

In the last two units, you have studied about two moods that are different from the
indicative that you have learnt mostly in CTH215 and from the beginning of this of
this course. In this unit, you will take a break and focus on another form of verbs that
Is called the contract verbs. Contract verbs are a special class of verbs as you would
find out later in this unit and thus have a different ending from others. You need to
take note of this class so that when you see them you would not mistake them for
another word thus have difficulty in translating or interpreting them.

2.0  Intended Learning Outcomes
By the end of this unit, you should be able to:

Identify contract verbs

Explain the principles behind the contractions
Identify the vowels that produced a certain spelling
Parse any contract verb

3.0 Main Content

3.1 Vocabulary Study

Greek Word Translation Greek Word Translation
ayomdo I love (to put TOPOUKOAE®D | exhort, | comfort
supreme value on)
IMAO® | show TEPITOTED | walk about
EVAOYE®D I bless [MTotéw | do, | make
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EVYAPIOTED | give thanks >Tovpo® | crucify
ntéw | seek Tnpéw | keep
fempém | behold T | honour
KOAE®D | call Aoréw® | speak
QPE®D I love (to have a warm personal affection for)

3.2 The Contract Verbs

Contrast verbs are a special class of @ verbs. These the verbs ending in -ow, -o® and -
em. In the process of forming the paradigm however, the verbs a, o, and € would have
to come in contact with the connecting vowel (usually o and &) thus bringing together
two vowels or a vowel and a diphthong to form a single long vowel or diphthong. This
contraction would take place in all forms of the present and imperfect tenses. This
does not however take place in the aorist, future, pluperfect and future perfect passive
tenses because of the tense sign consonants. These tenses are regular except for the
lengthening of the stem vowel (a, o, and €) before o, k and other sibilants. The only
exception to this rule is kaAéw whose future form is kaAéom and not koAnow.

3.3 The Chart for Regular Contractions

The chart below shows the regular contractions of the stem vowels (this is the vertical
column) with the connecting vowel which is on the top line.

€ n €l n O ® ) Ot
€ €l n €l n Ov ® ) O1
o o o Q Q Q ® ® )
0 oV ® oL ot Ov ® oV O

3.4  Principles for Contractions

As you study the following principles, ensure that you read along with the chart above
so that you would understand the reasons for the contractions:

VVowel Contracting with Vowel

The first thing to learn here is that when two like vowels come together to form a
contraction, they would result in the long vowel of their class. For example, o + o = o
(long alpha) and € + n = 1. There are only two exceptions to this rule, and these are: ¢
+g=¢gtand o + o = ov.

Secondly, when an o sound vowel (o or @) comes in contact with the connecting
vowels (o, € and m), no matter the position (whether in first or second position) it
forms an . The exceptions to this rule are € + o = ov and o + & = ov. Thirdly, when a-
and e- (or —m) contracts, the one which comes first overcomes the other and forms its
long. For example, o+ e=aandoa+n=oand e+ a="n.
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Vowel Contracting with Diphthong

Firstly, when a vowel comes in contact with a diphthong which begins with the same

vowel, that vowel will disappear. For example, € + €1 = 1 and o + ov = ov. Secondly,

when a vowel comes in contact with a diphthong which does not begin with a similar

vowel, it contracts with the diphthongs first vowel and the diphthong’s second vowel

disappears, unless it is an 1, which in its case will become a subscript. For example, o

+e1=q; o+ ov = and & + ov = ov. The major exceptions to this rule are o + g1 = o,
o+mn=otand & + ot = ot. There are however two unusual exceptions to this rule. The
present active infinitive of verbs ending in —aw has av as its regular ending. The other
Is the present active infinitive of verbs ending in —o® which will have —obv (and not —
ow) as its regular ending.

3.5  Accenting in Contract Verbs

There are four things to note about accenting when it comes to the case of contract
verbs:

1. The accent on the uncontracted form will be recessive just as it will be in any
other verb.

2. If the accent is to fall on one of the vowels suffering contraction, the accent
will fall on the vowel that the contraction results in. For example, tiudo will
become tu® but étipaov will be Etipwv.

3. If the accent falls on the first of the two vowels, the resulting contracting form
will have a circumflex as its accent. A good example is tiu® as seen in the
example ‘b’ above.

4. If the accent falls on the second of the two vowels, the resulting contracting
form will have an acute accent. A good example is tuadueba which in its
contracted form will become tipopeba.

3.6 Forms of Contract Verbs

In showing the forms of the contracted verbs, you will have both the contracted and
the uncontracted forms so that you will understand how the contracted form was got.
Please, note that you will never see the uncontracted from in the Greek New
Testament. They are just used here for the purpose of clarity and for your
understanding.

Present Active Indicative of Tipd®

Uncontracted Contracted Form | Uncontracted Contracted Form
Form Form

TILA® TIUD TILAOUEV TILDOUEV

Twdelg TG Twdete TIWOTE

Tider TIULA Twdovot TIUDOGL
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Present Active Indicative of puié®

Uncontracted Contracted Form | Uncontracted Contracted Form
Form Form

Drém QLD Dduréopev Quoduev

Dduréelg QULETC Dduréete QUAETTE

DAéet QUAET duréovot @1oDGo1

Present Active Indicative of dniom

Uncontracted Contracted Form | Uncontracted Contracted Form
Form Form

AnAdm OMA® dnidopev dnioduev
Anibeig onioig AnAdete dniovte

Anhdet onioi dnAdovot dnrodot

3.7  Forms of Liquid Future Active Contract Verbs

Liquid verbs are the verbs that their stems ended in any of the following letters: A, u, v
and p. In forming their future active indicative verbs, they will drop the ¢ of the future
and add an &, and then form the regular contraction. Thus, the future active indicative

of xpive is as follows:

Uncontracted Contracted Form | Uncontracted Contracted Form
Form Form

Kpivem KPv® KPLVGOOUEV KPLVOOULEV
Kpivoeig KPIVELG KPLVGOETE KpvoOTE

Kpivoer KPIVEL KPLVGMOLG1 Kp1voLGol

4.0 Conclusion

In this unit you have learnt about the contract verbs. The contract verbs are the verbs
whose stems ended in vowels and because they have to be joined with the endings of
the various paradigms, the vowels that come into contact with one another would have
to undergo contraction. You have been given the chart that would serve as a guide to
the contractions and you have also been given the rules that would govern the
accenting of contract verbs. You need to practice these forms with other contract
verbs so that you will master them.

5.0 Summary
The following are the major points that you have learnt in this unit:

e Contrast verbs are a special class of o verbs.
e These are the verbs ending in -awm, -om and -e.
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e In the process of forming the paradigm however, the verbs a, o, and & would
have to come in contact with the connecting vowel (usually o and €) thus
bringing together two vowels or a vowel and a diphthong to form a single long
vowel or diphthong.

Self-Assessment Exercise

1. &l dyamduev tov Kdplov, tpdpev 10g EvToAds avtod Kol Toltduey 0 AdAoVIEVH
MUV VT AOTOD.

2. é(MTovv avTdv ol Tovnpol, tva Bemp®dot Td ToloVUEVE VT ADTOD.

3. 0 pobng EALAANGEV TaDTO TOIG TEPUTOTOVGLY &V TQ) 1EP®D.

4. ovk eDAoyNoEL O BedG TOV U1 TEPUTATODVTO KATA TAG EVTIOAANS TOD VIOV aVTOD.

5. tadto Emolelte UV OTL PLAEite TOV KaAésavTo DUAG €i¢ TNV Pactieioy avTod.

6. €éBemdpovv 1OV Incodv 6TavPODUEVOV VIO THV GTPATIOTDV.

7. ebyoplotdpey 1@ Od Koi TIdUEY TO dvopa avToD.

8. 0 ®cd¢ Nydmnoey TOV KOGUOV KOl TAPOKAAET AVOPMOOVE Ayamdy TOV VIOV ADTOM.

. 0 Incodg Aéyel 1@ poabnti, Zipov, EIAEIG pe;

10. gav &v 16 POTL TEPIMUTAUEV OG oOTOG 0TV &V TH QOTL, TO aipo Incod Tod viod
avtod Kabapilel Nuag amod Thg apaptiog NUOV.

11. éav elnopev 6t 00y NUOPTAKOAUEY, YEVGTNV TOODUEV AVTOV Kai O AOYOg aOToD
oUK 0TIV &V NUIv.

\O
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1.0 Introduction

In the last unit, you have studied a special class of verbs known as the contract verbs
and also called the —ew verbs. You have been shown how contraction of vowels would
result either in another vowel or in a diphthong and the principles that guides such
contraction. In this unit however, we are going to study about pronouns again. You
will remember that in module two unit four you have studied about the personal
pronouns and in unit five of the same module you have studied the demonstrative
pronouns respectively. | will advise you to reach for your course material on CTH215
and revise these units on personal and demonstrative pronouns. In this unit however,
you will be focusing on the other types of pronouns.

2.0  Intended Learning Outcomes

By the end of this unit, you should be able to:
 ldentify relative pronouns
« Decline interrogative pronouns
« Explain the use of the indefinite pronoun

« Discuss the use of reciprocal pronouns
« Explain why possessive pronouns are also called possessive adjectives
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3.0 MAIN CONTENT

3.1 Vocabulary Study
EYym I
€uod or pov of me
guot or pot to me
gue Or pe me
NMUETG we
NUaV of us
NUiv to us
Itlets -us

Note: to have a complete vocabulary study you should also study the second person
and the third person personal pronouns forms also with the demonstrative pronouns
also.

3.2 The Relative Pronoun

The relative pronoun is that pronoun that is used to relate one substantive to another.
Because it has to agree with its substantive in gender and number, it exists in the three
gender forms and also in the singular and the plural. The following is the declension
of the relative pronoun:

Singular Plural
Case Masculine | Feminine | Neuter Masculine | Feminine | Neuter
Nom. 0g i 0 ol ot a
Gen/Abl oV il oD OV OV OV
Dat/Loc/Ins | @ il ) 01¢ aig oic
Accusative | 8v v 6 o¢ 8ic 8

It is however important for you to know that the case of the pronoun is determined by
its function in the relative clause. Let us examine the following examples:

a. 6 dvOpwrog 8¢ £1de TOV Khprov £ottv viv dmdcToloC.
b. 6 &vOpwmog 8v £ideg EERAOEY &k Tiig mOLEwC.

In sentence a, which would be translated “the man who saw the Lord is now an
apostle,” the relative pronoun is é¢ and it is in the nominative case because it
functions along with its antecedent. In sentence b, which would be translated “the man
whom you saw came out of the city,” the relative pronoun is &v and it is in the
accusative case because if its function while its substantive is in the nominative case.

You also need to know that sometimes a relative pronoun is so closely related to its
antecedent that it is attracted to the case of its antecedent, that is, it takes the case form
of its antecedent even though it retains its own case function. An example is 6 av min
gk 10D Hdatog ob &ym dhow avt®d which would be translated “whoever drinks of the

69



water which I shall give him”. In this sentence, the relative pronoun o0 is
grammatically the direct object of dmcm and thus it would be expected to be in the
accusative case. however, because it has been attracted to the case form of its
antecedent, it took its case in the genitive. You also need to note that the above
example is also representative of the use of relative pronoun as a conditional sentence.
The relative pronouns év or £av are used with the subjunctive mood to express clauses
which in English would be expressed by whoever, whatever, whenever and wherever.
It usually gives the third-class conditional sentence.

Finally, there are times when the antecedent of a relative pronoun is not given and
thus the relative pronoun is used substantively. An example is 6¢ obk &otiv ke’ DUV
vep VU®V €otv, which would be translated “he who is not against you is for you.”
Note that &¢ is translated ‘he’ because it is the masculine singular nominative of the
relative pronoun. If 1 had been used, it would have been translated ‘she’.

3.3  The Interrogative Pronoun

The interrogative pronouns are the pronouns that are used to introduce direct or
indirect questions. These pronouns are also given according to gender, case and
number.

Singular Plural
Case Masculine | Feminine | Neuter | Masculine | Feminine | Neuter
Nom. Tig Tig Tig Tiveg Tiveg Tiva
Gen./Abl tivog tivog Tivog Tivov tivav Tivav
Dat/Loc/Ins | tivt Tivt Tivt TiouVv) Ticu(v) tic(v)
Accusative | tiva, Tiva Tl TIvoG TIVOIG Tiva

You should note in the above table that the interrogative pronoun form for both the
masculine and feminine are identical. In this case, it means the context would decide
which of the genders to use. The following are examples of such questions: tig &i;
which would be translated “who are you?” and ti Aéyey; which would also be
translated “what is he saying?”

3.4  The Indefinite Pronoun

The indefinite pronouns are pronouns that do not refer to a specific person or thing. In
their form, they are identical with the interrogative pronouns except that they are
enclitics. As enclitics, they would not be accented except the special rules for
accenting enclitics apply. In order to avoid misunderstanding, the forms would be
repeated below so that you can see the difference between the interrogative and the
indefinite pronouns.

Singular Plural
Case Masculine | Feminine | Neuter | Masculine | Feminine | Neuter
Nom. (1'S TIG TIG TIVEG TIVEG Twa
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Gen./Abl TIVOG TIVOG TIVOG TIVOV TIVOV Twov

Dat/Loc/Ins | tivt TV TV TIoW(V) TIoy(V) TIoYV)

Accusative | tva o T TIVOG TIVOG Twa

These pronouns are usually translated as: someone, somebody, something, a certain
one or a certain thing. Examples are: éav un tig yevvn0i dvwbev which would be
translated “except somebody is born from above” and &ic v ékkAnciav eichibe “a
certain man came into the church”.

3.5 The Indefinite Relative Pronoun

The indefinite relative pronoun is so called because it is a combination of the relative
pronoun 6¢ and the indefinite pronoun tig. In the New Testament it appears only in the
nominative case but appeared both in the singular and the plural. The following are its
forms:

Gender Singular Plural
Masculine doTig oitveg
Feminine s aitveg
Neuter ot altvo

By function, it is qualitative in nature and it is usually translated as ‘who’ though its
meaning is far more than that. The expression “who is of such nature” is a better
translation of the idea. A good example of this usage in the New Testament can be
seen in Roman 1:25 which reads: oitwveg petnpAlo&av v aAndelav tod Ocod &v @
yevdetl which is translated “who were of such nature that they exchanged the truth of
God for a lie”. You are hereby advised that when translating this word, look for the
qualitative idea.

3.6  The Reciprocal Pronoun

The reciprocal pronoun is that pronoun that shows mutual relationship. It is a word or
phrase representing two or more things that mutually correspond to one another. By
function, it represents an interchange of action between the members of a plural
subject. The reciprocal pronoun appeared in the New Testament only in three case
forms and these are: aAAnilwv, aiinioig and aiiniovg. Examples from the New
Testament are: dyamdpev aliniovg which means “let us love one another” and
g€exavdnoav &v 1) dpetel avtdv i¢ dAAAniovg which also would be translated “they
burned in their lust for one another”.

3.7  The Reflexive Pronouns
The reflexive pronoun is that noun that describes an action taken by the subject in

such a way that the action affects the subject. The function is to express the action of
the subject upon itself. The forms are as follows:
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First Person - Myself

Singular Plural
Case Masculine Feminine Masculine Feminine
Gen./Abl. €UaVTOD EUOVTHG E0VTOV EQVTOV
Dat/Loc/Ins EULOVTD EUOVTH £0Toig E00TaIG
Accusative EULOVTOV EULOVTNV €000TOVC E0VTAG
Second Person — Yourself

Singular Plural
Case Masculine Feminine Masculine Feminine
Gen./Abl. GEAVTOD GEAVTHG E0VTOV EQVTOV
Dat/Loc/Ins CEQVTD GEOVTH £00TOTG gotaig
Accusative GEQVTOV YotV €00TOVG EQVTAG
Third Person-Himself, Herself, Itself

Singular Plural

Case Masculine | Feminine | Neuter | Masculine | Feminine | Neuter
Gen./Abl. £ovtod E0VTHG £00ToD | E0VTMV EQVTOV EQVTOV
Dat/Loc/Ins | éavt® E00TH E0VTR | £0VTOTG gotaig £00VTOIG
Accusative | €éavtdv £0VTNV E0VTO | £0VTOVG E0VTAG g0nTA

If you are a keen observer, the first thing you will notice is the absence of the
nominative case in the forms above. This is because the reflexive idea can only be
expressed in the oblique cases. The intensive myself, yourself and himself in the
nominative has been taken care of by the use of the intensive avtog that you have
learnt in CTH215. You can please go and revise that to refresh your memory. The
second thing you would notice is that the plural forms are identical for the first,
second and third persons. This is also because the old first and second persons have
been dropped by the Greeks. An example of the use of the reflexive pronoun is: ov
yop €avtovg knpvocouev which would be translated “for we preach not ourselves”
and Aéym tadta mepi Euavtod Which would also be translated “I say these things
concerning myself.”

3.8 The Possessive Pronouns

These pronouns are called possessive pronouns because they are used to designate
ownership. They are also classified as possessive adjectives because they also agree in
gender, number and case with the noun they modify. The following are the forms of
the possessive pronoun:
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First Person-my

Singular Plural
Case Masculine | Feminine | Neuter | Masculine | Feminine | Neuter
Nominative | €udg un guov | éuoi guai Eua
Gen./Abl. guod EURC guod | éudv EUDV EUDV
Dat/Loc/Ins | éud Eufy EUD guoig EL0ic €uoig
Accusative | éuov gunv EUOV | €Lovg EUOC gua
Second Person — Yourself

Singular Plural

Case Masculine Feminine Masculine Feminine
Gen./Abl. GEAVTOD GEAVTHG E0VTOV EQVTOV
Dat/Loc/Ins GEAVTH GEQVTH £00TO1G EQVTOAG
Accusative 2eaVTOV XEQVTNV €00TOVG EaVTAG
Third Person-Himself, Herself, Itself

Singular Plural
Case Masculine | Feminine | Neuter | Masculine | Feminine | Neuter
Gen./Abl. £00TOD EQVTNG £aVTod | EaVTdV E0VTOV EQVTOV
Dat/Loc/Ins | éovt® £00TN EVT® | £00T01G E0VTOIG £0VTOTG
Accusative | €avtdv goTNV E0VTO | €0VTOVG EQVTAG £0nTa

The following are examples of the usage of possessive pronouns:

Singular Plural
0 £10G 01K0g my house oi &uoi oikot my houses
0 60C 01K0G your house ol 6ol oiKot your houses
0 1310¢ oiKkoc his house oi 15101 oikot his houses
0 Nuétepog oikoc | our house oi fjuétepot oikot | our houses
0 dpétepoc oikoc | your house 0 duétepoc oikor | your houses

3.9  The Negative Pronouns

There are two types of negative pronouns: ovodeig (which is usually used with the
indicative mood) and pndeic which is used with any other mood. The negative
pronoun is formed through the combination of the numeral one (eic, pio and &) and
the negative particles hence it is really literally translated “no one”. The negative
pronouns are declined thus:
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Case Mas. Fem. Neuter Mas. Fem. Neuter
Nom. 0VOElC ovdepion | oVdEV unoeig unoepion | undév
Gen/Abl | 00devOg | o0dgdc | 00OEVOS | UndevOg | undepdg | Undevog
D/L/I oVdeVL ovdepa | ovdevi unoevi undea | undevi
Acc. 00déval ovdepiav | oVdEV unoéva unoepiov | undév

Examples of the use of the negative pronouns are: ovdeic £pyetor TpoOc TOV TATEPQ. €L
un ot éuod which means “no one comes to the father if not through me” and pndeig

mhavato dpag which means “let no one deceive you.”

4.0

In this unit you have studied the other types of pronouns apart from the personal and
demonstrative pronouns that have been studied in CTH215. You have been taught the
forms of the relative pronoun, the interrogative pronoun, the indefinite pronoun, the
indefinite-relative pronoun, the reciprocal pronoun, the reciprocal pronoun, the

Conclusion

reflexive pronoun, the possessive pronoun and the negative pronouns.

5.0

Summary

The following are the major points that you have learnt in this unit:

The relative pronoun is used to relate one substantive to another, and it has to

agree with its antecedent in gender and number while its case is determined by

its function.

The interrogative pronouns are used to introduce direct or indirect questions.
The indefinite pronouns are similar to interrogative pronouns except that they

are enclitics.

The indefinite relative pronoun combines the form of the relative and the
indefinite pronoun and it is more qualitative in function.
The reciprocal pronoun is used to represent an interchange of actions between

members of a plural group.

The reflexive pronoun expresses the action of the subject upon itself.
The possessive pronouns are also called possessive adjectives because they

must agree with the noun in gender, case and number.

Self-Assessment Exercise

1 John 1:5 6¢ 8 v mp1} adTod TOV AdYOV, AANOGDC v ToVT® 1) dydnr tod Beod
tetereloTol €V TOOTE YIVOOoKOUEV OTL €V 0VTH EGUEV:

1 John 1:6 6 Aéywv &v avt@d pévery 0@eilel KaBOG EKETVOC TePEmATNGEY Kol "o Tog
TEPITATELV.
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1 John 1:7 TAyamntoi, 00K £VTOATNV KOV YPAQ® VUiV, AL EVTOATV TaAoiav fv
glyete am’ apyng: 1 EvioAn N malod €0ty 6 Adyog Ov 'Mrovoarte.

1 John 1:8 wdAv évioAny Kowvny ypae® duiv, 6 €0ty aAN0ES &v adTd Kol &v VUiV, OTL
N oKotia wapayeTon Kol T A TO AAnOivov N eaivet.

1 John 1:9 6 Aéywv &v 1d eoti gival kol TOV 4dehpov anTod picdv &v Tf okotig £oTiv
gmg ApTL.

1 John 1:10 ¢ dyoandv Tov AdeA@OV adToD £V T eMTL UEVEL, Kol 6KAVIAAOV £V aDT®
oVK €0TLV-

Please note that in doing your translation, avoid polished English to show the various
nuances.
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1.0 Introduction

In the last module you have continued your study of Greek Syntax by going through
the study of moods other than the indicative mood, namely, the subjunctive and the
imperative mood. You have also studied the contract verbs and the pronouns other
than the personal and the demonstrative pronouns. In this module you would be
expected to study the few syntactical matters before going on to the practical aspect of
this course. In this unit you would continue your study of the adjectives. You would
remember that in CTH215 you have studied the adjectives of the first and second
declension. This unit is a continuation of that unit. | will advise that you go back to
that course material and revise what you have studied on the adjectives of the first and
second declension.

2.0  Intended Learning Outcomes

By the end of this unit, you should be able to:

Decline any adjective

Differentiate between predicative and attributive usage of the adjective

Draw the comparison of adjectives in Greek
Discuss the formation of adverbs.

76



3.0 Main Content

3.1 Vocabulary Study

aAN0nG, dAnOEg true

péyag, peydn, péya great

Tac, TAoO, TAV every
TOADG, TTOAAY, TTOAD much, many

3.2  The Study of Adjectives

Adjectives are words describing nouns, that is, words that describe or qualify a noun
or pronoun. In the earlier study of adjectives, you have studied adjectives that follow a
regular pattern. In this unit, you would study the declension of an adjective in the first
declension, but which is feminine (wdc) and some others in the third declension.

3.3  The Functions of Adjectives

Adjectives in Greek are used in three ways: attributively, predicatively and
substantively.

The Predicative Construction

In the predicative use, the adjective makes an assertion about the noun. The example
here is: mdoa 1 wéAMg which would be translated “all the city”. Note that in this
construction, it is the substantive noun that carries the definite article.

Attributive Use of Adjectives

When adjectives are used attributively, they attribute qualities to the noun modified.
An example is 1) mdoa moAg which would be translated “the whole city”. Note that in
this construction, the adjective carries the definite article.

The Substantive Construction

This usage occurs when the adjective is made to function as the noun. In such usages,
the adjective would be placed in the nominative case without any other noun. For
example, mdoa moAG would mean “every city”.

In the Greek language, there are times when the adjective is placed in a predicate
position along with a participle. An example is, nig 0 motevwv which would be
translated “everyone who believes”.
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3.4

Forms of Adjectives

Below is the declension of ndc. This declension however follows the third declension
masculine and neuter and first declension in the feminine:

Singular Plural
Case Mas Fem Neuter Mas Fem Neuter
Nom. TOG oo oV TOVTES TGO TovTo
Gen./Abl. | TTovtoc I1dong TovTOg TOVTOV TOVTOV TOVTOV
Da/Lo/Ins | ITavti Taon TavTi nacl(v) TAGOIC naci(v)
Acc ITavta TGOV oV TOVTAG TOGOG TovTo

Below is the declension of péyag and moivg. These declensions however follow the
second declension in masculine and neuter and the first declension in the feminine but
have short forms:

The declension of uéyag, peyain, peya

Singular Plural
Case Mas Fem Neuter Mas Fem Neuter
Nom. Méyog MeydaAn | uéya peydlot | mioon navto,
Gen./Abl. | peyiov | Meyding | peydlov | peydhov | ueyGAov | ueydiwmv
Da/Lo/Ins | peyoio peyoin pEeYOoA® UEYAAOLS | peydAailg | peydiolg
Acc Méyav Meydinv | uéya peyaiovg | peydiag | peydaovg
The declension of ToAvg, moAAY, TOAD
Singular Plural
Case Mas Fem Neuter Mas Fem Neuter
Nom. IToAbg IToAAn TOAD TOAAOT moAod TOALYL
Gen./Abl. | moAloD TOAAT|G TOAAOD TOAADV TOAADV TOAADV
Da/Lo/Ins | moAA® TOAA) TOALD TOALOTG TOANOLG | TOALOTG
Acc [ToAOv [ToAAv | molv TOAAOUC | TOAAGIC TOAAGL
The declension of aAn6mg, ainbéc
Singular Plural
Case Mas Fem Neuter Mas Fem Neuter
Nom. aAn0ng aAn0ng aAn0ég AAN0OETC aAN0elc aAn0mn
Gen./Abl. | 6AnBodg | dAnBodg | aAnBodc | dAnbdv A0V A0V
Da/Lo/Ins | 4An0el aAN0el aAN0el aAn0éou(v) | aAnBéou(v) | aAnbéoy(v)
Acc aAn0n aAn07 aAN0€C aAN0elg aAN0eic aAn0q

Please note that in the above declension, the masculine and the feminine forms are
perfectly similar while the neuter agrees with them in most instances. This tells you
that you need to be very careful as the context will go a long way to tell you what to
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use at any particular point in time. You need to note too that the stem for aAn6vg is
ain0éc. Therefore, in most of the forms, the final ¢ is dropped and the stem vowel
becomes € which would now enter into contraction with the connecting vowel. This
resulted in the unusual accenting as well as the seeming irregularity with other
adjectives that has been declined above.

3.5 Comparison of Adjectives

In the adjectival degree of comparison, the Greek language also has three degrees as
we have in the English language: the positive, the comparative and the superlative.
When the adjective follows the regular declension, the following forms would be
used: -tepog, -o and —ov in the comparative. Let us use ioyvpdc as an example: in
the comparative we would have, ioyvpotepog, ioyvpda and icyvpév which would
mean stronger in the masculine, feminine and neuter respectively. The superlative
degree carries the ending —tatog, -mn, -ov. Consequently, the superlative degree
of ioyvpog would be ioyvpdtatoc, ioxyvpon and ioyvpdv respectively and it would be
translated “strongest”. You need to note however that the superlative degree is rare in
the New Testament as they are more or less expressed by the comparative forms.

What has been described above is the comparison of adjectives in the regularly
declined adjectives. When the adjective is irregular, the stem of the word is usually
changed. An example is pikpog (little) which has éidoowm (less) in the comparative
and é\layotog (least) in the superlative. As a result of this irregularity between the
positive form and the comparative and the superlative forms, you are hereby advised
to learn such as vocabularies on their own right.

3.6 Adverbs

In the Greek language, there is no systematic treatment for the adverbs. Some are
formed from the genitive neuter plural adjective. In this case, the v of the genitive
neuter plural adjective would be substituted with ¢. For example, the genitive plural of
KaAog IS kaddv; thus, the adverb would be kaidg and would be translated ‘well’. The
formation of the other adverbs is so diverse that they are better learnt as part of the
vocabularies as they occur in your study of the Greek New Testament.

4.0 Conclusion

In this unit, you have learnt about the declension of the adjectives of the third
declension as well as the other two declensions: the first and the second declensions.
You have also been taught here that the adjective can also be used in the predicate
position with a participle. You were also shown the declension of dinbfec- that
because of the dropping of its final sigma would lead to contraction of vowels and
thus is unusually accented.

5.0 Summary
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The following are the major points that you have learnt in this unit:

o Adjectives are words describing nouns, that is, words that describe or qualify a
noun or pronoun.

e Adjectives can be used predicatively, attributively, substantively and along
with a participle in a predicate position.

o Comparative degree of the adjective is formed with the following endings: -
TepoG, -oa and —ov.

o Superlative degree of the adjective is formed with the following endings: —
TG, -1, -O0V.

Self-Assessment Exercise
Translate the following to English:

1 John 2:1 Tekvia pov, Todta ypae VUiV tva pun apaptnte. Kol av T1c audpt,
TapAKANTOV EYOUEV TPOG TOV TaTtéPO. Incodv Xpiotov dikatov,

1 John 2:2 kai a0tog IMGHOG EGTIV TTEPL TOV AUOPTIAV NV, 0D TEPL TAOV NUETEPOV
0 uovov aAL Kol epi OAov ToD KOGLOV.

1 John 2:3 Kai év 100t yivdokopey 0Tt EyvoKapey adTov, 0V TG EVTOALS 0DTOD
TNPOUEV.

1 John 2:4 6 Aéywv "6t "Eyvexo adTtov Kol T0.¢ EVTOALS adToD U Tp®dV YeOoTNg
gotiv, Kai &v ToOTE 1) dAN0gio ovK EoTLV-

1 John 2:5 6¢ &’ av tpt} adtod OV AdYoV, AANO®OS £v ToOTE 1) dydnn Tod 00D
TeTEAElOTAL £V TOVTE YIVOGKOUEV OTL €V aVTH EGUEV:

1 John 2:6 6 Aéymv &v anTt® pévety Opeilel KoOmC EKEIVOG TeplemdTnoey Kol "anToc
TEPUTATELV.

6.0 References/Further Readings
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1.0 Introduction

By the end of the last unit you have completed the study of the adjectives. This
includes the adjectives of the first, second and third declensions. You have also been
taught all the four functions of the adjective as against the three given in CTH215 and
you are also shown that some adverbs are formed from the adjectives. In this unit
however, you would be exposed to a new type of verbs. Up to this point in your study
of the Greek language, you have studied only the same type of verbs because all the
verbs you have studied to date are verbs that usually end in w in the first person
singular and also have connecting vowels for the other paradigms. These types of
verbs are called thematic conjugation verbs because of the use of thematic vowels
(also called connecting vowels). In this unit, you would now study the —ut
conjugation verbs, that is, verbs that end in —ut.

2.0  Intended Learning Outcomes
By the end of this unit, you should be able to:

o Identify any —-mi conjugation verb

« Explain the characteristics of the —mi conjugation verbs
« ldentify the stem of any -mi conjugation verb

o Decline any —-mi conjugation verb

3.0 MAINCONTENT

3.1 Vocabulary Study
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[ give
[ stand
I place, | put

Sidwuy, wow, Edwka, §edwka, SéSopaty, E500MV
o, otnow, éotnoa (€o0tnv), Eo0TnNKa, EoTapal, E6TddNnv
TONUL, ONow, €Bnka, TEBeaL, ETEOMV

3.2 Introducing the -mi Verbs

As you have been told earlier, the —-mi conjugation verbs also called athematic
conjugation verbs because they do not use thematic vowels in their formation are
different kinds of verbs entirely. In the vocabulary study above, you have been given
three words that are —-mi conjugation verbs. They are also written out in their full
forms, that is, it included the present, the future, the first aorist, the perfect and the
aorist passive forms.

3.3 Characteristics of the -mi Verbs

The main characteristic of the —-mi conjugation verbs is that they have their stem
reduplicated in the present tense. Secondly, for the vowel of the reduplication, they
use i and not the e that is used prominently in the case of the perfect tenses.

In all there are four classes of this verb when classified according to their vowel stem.
These are the o-class, the a-class, the e-class and the u-class. Despite this variety
however, they follow the same pattern and once you get the pattern for one you would
be able to get the others.

3.4 -mi Verbs in the Indicative Mood

In the present tense, the stem of the verb reduplicates with (. The active voice uses the
long stem vowel w in the singular and o in the plural while the middle and the
passive voice use the short stem o throughout. In the imperfect, the stem
reduplication stays, and the active voice uses the long stem vowel ov in the singular
and o in the plural while the middle and the passive use the short stem vowel o
throughout. In the aorist tense, the verb usually changes form entirely and the form
would also change in the middle voice and in the passive voice. This is shown in the
paradigm below:

Per/No. Present Imperfect Future Aorist Perfect
1* Sing didw £didovv a0 Edoxo SEdwKa,
2" Sing d1dmg £6100vg OMGELC E0MKOG dEdMKOG
3" Sing didwoi(v) 8didov dMoEL EdwKe(v)
1 Plural | 8idopev £oidopev dMGOUEV E0MKAUEV | OEOMKALEV
2" Plural | 8idote £0100T¢€ dMCETE E0KATE dedmKOTE
3" Plural | 81360a01(v) €100 0V dmoovou(v) | Edwkav €S KAV

Study the above paradigm very well so that you can become familiar with the various
forms of the —ut conjugation verbs, at least in the indicative mood. Below you would
be given the present form of iotnut and tiOnu:
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Person Singular Plural
1% fotnut 1IN fotapev Ti0gpey
" {otng 110ng lotote tibete
3" {otnouv) tiOnouv) iotaou(v) T V)

Self-Assessment Exercise
Draw up the imperfect, future, aorist and perfect form of iotn and tifnut.
3.5 -t Verbs in the Non-Indicative Mood

In the other non-indicative moods, it is easier to identify the verbs of the —ut
conjugation because they appear in a more regular way. Firstly, in the non-indicative
moods, only two tenses, that is, the present and the aorist, are active. For example, in
the present subjunctive mood, the stem reduplication as it occurred in the indicative
mood stands and the long stem vowels are used throughout with the regular w
endings. In the aorist tense however, the active and middle voices would follow the
second aorist and the passive would follow the first aorist. The active and the middle
voices would use the long stem vowel and the passive would use the short stem. In all
the conjugations there would be vowel contraction as the vowels ending the stem and
beginning the endings would come together. Try to find these explanations in the
paradigm below for didmput:

The Subjunctive Mood for éid®pu:

Per/No. Present Second Aorist
1°' Person-Sing S156 56
2" Person-Sing | 813 e
3" Person-Sing | 818® 80
1% Person-Plural | 818®puev ddpev
2" Person-Plural | 513dte dite
3" Person-Plural | 813dou(v) SOG1(V)
The Imperative Mood for didcpu:
Per/No. Present Second Aorist
2" Person-Sing | idov 86¢
3" Person-Sing | 8186t 86t
2" Person-Plural | 8idote 8ote
3" Person-Plural | 8186twoov doTwo0V
The Infinitive for éidmp:
Voices | Present Second Aorist
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Active 0oVl dodvai

Middle didoca 060501

Passive didocbat do0f vt

4.0 Conclusion

In this unit you have been exposed to the -yt conjugation verbs otherwise known as
the athematic verbs. You have been told that they are called athematic verbs because
they don’t use thematic vowels in their conjugation. You have also been taught that
they are characterized mostly by the reduplication of their stem. You have also been
shown the various conjugations of these verbs in both the indicative and the non-
indicative moods.

5.0 Summary
The following are the major points that you have learnt in this unit:

e —UL conjugation verbs, are verbs that end in —pt and they are also called
athematic verbs because they do not make use of thematic vowels in their
conjugation.

« The main characteristic of the —u1 conjugation verbs is that they have their
stem reduplicated in the present tense.

« For the vowel of the reduplication, they use t and not and not the € that is
used prominently in the case of the perfect tenses.

« Inall, there are four classes of this verb when classified according to their
vowel stem. These are the o-class, the a-class, the e-class and the u-class.

Despite this variety however, they follow the same pattern and once you get the
pattern for one you would be able to get the others.

Self-Assessment Exercise
Translate the following passage to English:

1 John 2:7 Ayamntoi, 00K EVTOAMV KOviv YpAe® Dpiv, GAL" EVTOATV molotdy v
glyete am’ apyng: 1 EvioAn N malod €0ty 6 Adyog OV 'Mrovoarte.

1 John 2:8 wdAwv évtoAny Kouvny ypaoo uiv, 6 €otv aAN0Eg &v adTd Kol &v VUiV, OTL
1 oKoTio TapayeTot Kol O A TO AAnOivov N eaivet.

1 John 2:9 6 Méyov &v 1® oti ival kai TOV A3eApdv avtod Picdv &v Tf okoTig £oTiv
£wg apTL.

1 John 2:10 6 dyon@v 1oV AdeA@OV adTOD £V T® eOTL PEVEL, KOl GKAVOAAOV €V aDT®
oVK €0TLV-

1 John 2:11 6 8¢ e®v Tov AdeAPOV aTod &V Ti] 6KOTIQ £6TIV KOl &V TI] OKOTIY
TEPMATEL, KOl OVK 010€V TOD VTAYEL, OTL 1] 6KOTiO ETOVPAMGEV TOVS OPOAALOVS O TOD.
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1.0 Introduction

In CTH215 you have you have been introduced to the articles of the Greek language
by gender, case and number. By way of summary to refresh your memory, the Greek
language has no indefinite article and the definite articles are 6, 1 and to in the
nominative singular. In that lesson you were given only one major function of the
definite article, which is called the articular use. In this unit, you will continue the
study if definite articles in the Greek language and go through all the uses of the
article both ordinary and special.

2.0  Intended Learning Outcomes

By the end of this unit, you should be able to:
e Identify all articles by gender, case and number
e List the ordinary uses of the articles
e List the special uses of the articles

3.0 Main Content

3.1 Vocabulary Study

aralovia, 1 vainglory apinu | forgive
veaviokog, 0 a young man VIKO® | overcome, conquer
Biog, 0 life* gyvoxa (perfect active of yivdokm)

*Note: Compare Blog with ¢wn and yvyn in the lexicon and note the differences.

3.2  The Article in Greek Language

86



As you have been told, the basic function of the Greek article is to identify. However,
you need to note a differentiation in this function. When the article is used with a
substantive, the identity of the substantive is emphasized. For example, ¢ GvOpwmoc
meaning ‘the man’ refers to a particular man, thus giving a specific identity. This
difference could be seen more graphically when the article is used with 6g6¢. When ¢
0e0¢ is written it refers to the divine Person and would be translated ‘God’. However,
without the article 6e6¢ is used for the divine character or essence and would be
translated “divine”. This is why terms such as opyn ®eod was translated “divine
wrath” and dikaiochvn Oeod was also translated “divine righteousness™ in the epistle
to the Romans.

3.3  Ordinary Use of the Article

In this sub-section, we are going to list the ordinary functions of the article citing
examples:

1. To point out particular objects as in 6 dvOpwmog (the man) and 1} pacireia (the
kingdom).

2. Articles are used in the Greek language along with abstract nouns though this
usage is not found in English language. Examples are 1 aAn0eia (truth) and 7
yépic (grace).

3. Articles are used in the Greek language with proper nouns. This usage too is
not found in English language. Examples are o Ilétnog (Peter) and 6 'Incovg
(Jesus).

4. Articles are used in the Greek language with classes or groups of things. This
usage is also not found in English language. Examples are: ai aAonekeg (foxes)
and ta wetewva (birds).

5. Atrticles are used in the Greek language along with pronouns especially in the
possessive pronouns. Examples are: 6 6og oikog (your house) and 6 1810¢ oixog
(his house).

6. Articles are used in the Greek language along with adverbs. An example is:
amo tod vdv, which literally means “from the now,” that is, “from the present
moment” in polished English.

7. Articles are also used in the Greek language along with infinitives as in év t®
oneipetv, which means “in the to sow,” that is, “while he was sowing” in
polished English.

8. Finally, in the Greek language, articles are used along with prepositional
phrases as in ot év 1@ oik® which would literally read “the in the house ones,”
that is, “the men who are in the house.”

3.4  Special Use of the Article

In this sub-unit we would be looking at the special use of the article in the Greek
language.

The use of the article with the conjunction kai
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In this case, there are two different usages:

1. Firstly, if the two nouns that are joined together by the conjunction have the
definite article, it means that they refer to two different people or things. For
example, 6 amdéotoroc kol 6 pabntig which means “the apostle and the
disciple”. The use of the definite article for the two means that the apostle is a
different person from the disciple.

2. Secondly, if the first of the two nouns has the definite article and the second
noun does not, it means that the two nouns refer to the same person or thing.
For example, 0 damdotohroc kol pabntig which means “the apostle and
disciple”. This usage means that the person who is the apostle is also the one
who is the disciple.

The use of the article with the conjunction pév... 8¢

The definite article is also used with the conjunction pév... 8¢ and when this is done,
it gives the force of an alternative pronoun. For example, oi pév fjoav oov Toig
Tovdaotg, ot 6& oLV Toig dmootorolg would be translated “Some were with the Jews,
but others were with the apostles”. Note that in this translation, it is the use of the
definite article that turns the translation of pév... 6¢ to ‘some ... others’.

The use of the article with the force of a demonstrative pronoun

The definite article is sometimes used with a demonstrative pronoun so as to carry the
force of a demonstrative. For example, ol ovv Npdtewv avtéov which is translated
“these, therefore, were asking him.”

The use of the article with the force of a possessive pronoun

As you have been told earlier, the article can be used with the force of a possessive
pronoun. For example, cuveréuyapev pet avtod tov adeApdv which would be “we
have sent him with his brother”. Remember that ‘his brother’ literally in Greek is ‘the
brother of him’ and this is the force of the article in the possessive pronoun.

The use of the article with the force of a relative pronoun

The article can also be used with the force of a relative pronoun. For example, tobdto
Yap dottv O aipo pov THC StadnKkne 10 mepi moAA®V dyvvvopevov which would be
translated “for this is my blood of the new covenant which is shed for many”. You

need to take note of the definite article before peri\. It functions as the force of a
relative pronoun.

The use of the article with nouns joined by forms of gipi:

This can also take place in two instances:
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1.

4.0

If one of the two nouns joined by any form of &iui has the definite article, it has
to be regarded as the subject of the sentences and the anarthrous (that is, the
one without the definite article) one as the predicate. An example is: 6 ®&og
aydmn éotv which would be translated “God is love”. Thus, in the sentence, 6
®co¢, the noun carrying the definite article has been taken as the subject.

If both nouns have the definite article, they are interchangeable as to subject
and predicate and you may need the context to determine which would be the
subject and which would be the predicate. An example is 1 dvvouc Tfig
apaptiog éotiv 0 vopog could be translated as “the power of sin is the law” as
well as “the law is the power of sin”.

Conclusion

In this unit, you have continued the study of the use definite articles in the Greek
language. You had a brief review of the functions of the definite article and we began
with the study of the ordinary functions of the definite article which include usages
with abstract nouns, pronouns, adverbs and infinitives. You then continued with the
study of the special use of the definite article which includes the use of the definite
article with the conjunction kai and also with pgv ... d¢.

5.0

Summary

The following are the major points you have learnt in this unit:

When the article is used with a substantive, the identity of the substantive is
emphasized.

Acrticles are used in the Greek language along with abstract nouns. Articles are
used in the Greek language with proper nouns.

Articles are used in the Greek language along with pronouns.

If the two nouns that are joined together by the conjunction have the definite
article, it means that they refer to two different people or things.

If the first of the two nouns has the definite article and the second noun does
not, it means that the two nouns refer to the same person or thing.

The definite article is also used with the conjunction pév ... 6¢ and when this is
done, it gives the force of an alternative pronoun.

If one of the two nouns joined by any form of &iui has the definite article, it has
to be regarded as the subject of the sentences and the anarthrous (that is, the
one without the definite article) one as the predicate.

If both nouns have the definite article, they are interchangeable as to subject
and predicate and you may need the context to determine which would be the
subject and which would be the predicate.

Self-Assessment Exercise

1 John2:12 I'paow Huiv, texvia, 6Tt Apémvtot DIV al apaption did 10 dvopo adTod-
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1 John2:13 ypdow vuiv, matépeg, OtL &yvokate TOV Am’ apyig YpAe®m VuUiv,
veavioKol, OTL VEVIKNKATE TOV TOVNPOV.

1 John2:14 "&ypaya Huiv, Toudio, 6Tl Eyvokate TOV ToTépa: Eypoya LUIV, TATEPES,
Ot &yvokate TOV an’ dpyic: Eypoya VUiV, veaviokot, 6Tt ioyvpol éote kail 6 Adyog Tod
Be0D &v VUV pével Kol VEVIKNKATE TOV TOVIPOV.

1 John2:15 Mn dyomdte OV KOGUOV UNOE TO &V T® KOOU®. €4V TIG Ayamd TOV
KOGLOV, OVK 0TIV 1) AyAmn ToD TaTpOg &V AVTH:

1 John2:16 6t mdv 10 év @ KoOou®, 1 €mbopia Thg capkog kal 1 Embovpio TV
090oiudv Kol 1 draloveio Tod PBlov, ovk €oTv €K TOD TOTPOS, GAAL €K TOD KOGLLOL
€oTiv-

1 John2:17 xai 6 k6ouog mapdystor Kai 1 ExtBopio o0Tov, 0 & ToLdV TO OEAN UL TOD
BeoD pévet gig TOV aidva.
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1.0 Introduction

In the previous unit, you have completed the study of the articles in the Greek
language. You have seen most of the functions of the articles, both ordinary and
special functions and the importance of the articles in the syntactical analysis. In this
unit, which is going to be the last unit of this module, and also the last of all
theoretical studies, you are going to study about the infinitives. Infinitives, as you
have known, are verbal nouns, that is, they have both the characteristics of the verbs

and also of the noun.

2.0  Intended Learning Outcomes

By the end of this unit, you should be able to:
Identify any infinitive by sight

List the characteristics of the infinitive as a noun
List the characteristics of the infinitive as a verb

3.0 Main Content

3.1 Vocabulary Study

avtiyplotog, O antichrist OLOAOYE®
apmEopoot | deny QOVEPO®
EMOyEAA® | announce XPICUO, —aTOG, TO
Peddo, —oug, TO lie
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olda I know (this is the perfect tense of €idw, an already obsolete
word; when this is used it carries the force of present tense)

3.2  The Forms of the Infinitive

Though you have learnt this in CRS215, you would be given some of the forms again
by way of refreshing your memory. Below you would see the forms of the infinitive in

the present, the first aorist, the second aorist and the perfect tenses. The word to be
used is the usual one, that is, Ab:

Present Tense of Mo:

Tense/Voice Form of Infinitive Translation
Present Active Avewv to loose

Present Middle AvecOon to loose for oneself
Present Passive AvecOai to be loosed

First Aorist Tense of Am:

Tense/Voice Form of Infinitive Translation

First Aorist Active Avoat to loose

First Aorist Middle Acac0al to loose for oneself
First Aorist Passive AvOijvar to be loosed
Perfect Tense of Mo:

Tense/Voice Form of Infinitive Translation

Perfect Active Aelvkévor to have loosed
Perfect Middle AeAvcOat to have loosed for oneself
Perfect Passive AelOo0on to have been loosed

Second Aorist Tense of Mn®:

Tense/Voice

Form of Infinitive

Translation

Second Aorist Active

MTEY

to leave

Second Aorist Middle

MmécOon

to leave for oneself

Second Aorist Passive

Mméobon

to have been left

NB: The second aorist has to use another word because there is no second aorist form

for Mo.

3.3  The Infinitive as a Verb
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As a verb, the infinitive has voice and tense. As a verb also, the infinitive may also
take an object and it may be modified by adverbs. The following are the verbal
functions of the infinitive:

To express the purpose of the main verb:

One of the functions of the infinitive is to let the purpose of the main verb be explicit.
For example, uf vouionte &1t AA0ov katoddoor tOv vopov which means “do not
conclude that I have come to destroy the law”.

To express the result of the main verb:

Though the expression of result may be easily confused, in the Greek language the
two are treated differently. The common way of doing this is to use the clause
introduced by &orte. In this case, dote would be followed by an infinitive and not the
finite verb which would be natural. An example is: éyéveto moel vekpdg, HGOTE TOVG
ToALOVG Aéyety Ot améBavev which would be translated “he became as a dead man so
that many said that he died.” The clause dote ToOG TOAAOVG Aéyewy 6Tt amébavey IS the
result clause introduced by dGore.

To express temporal ideas:
There are three usages under this function:

1. ‘Before’ is expressed by the use of the infinitive and wpiv or wpiv 1} as in Kvpie,
KatéPNOL mpiv dmobavelv 10 moudiov pov which would be translated “Lord,
come down before my child dies”. Note however that this same function can be
expressed by mpo tod and the infinitive.

2. ‘While’ is expressed by the use of the infinitive and év t® as in é0adpacov &v
@ ypovilew T® va@d avtdév which would be translated “they were wondering
while he was tarrying in the temple.”

3. ‘After’ is expressed by the use of the infinitive and peta 16 as in mopéotoev
€a0tov (®dvta petd 10 mabelv avtév which would be translated “he showed
himself alive after his suffering.”

To express cause:

In order to express cause, the infinitive would be used with 31 t6 as in ook &yete i
10 un aiteioBot vpdg which would be translated “you have not because you ask not.”

3.4  The Infinitive as a Noun
As a noun, the infinitive originally has an inflection which has been lost. However,

because of its noun quality, the infinitive can be used in any way the noun can be
used.
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The Infinitive as the Subject of a Finite Verb

As had been said earlier, because the infinitive has the characteristics of a noun, it can
be used as a substantive, that is, the subject of a sentence or clause. An example is,
oVUK VUMV oTiv yv@var ypovovug 1 karpovg which would be translated “To know times
and seasons is not yours”. Please not that in this usage at times, the definite article can
precede the infinitive as in 0 éo0ietv ayabov which would be translated “to eat is
good”. Note the definite article in front of €c0iev.

The Infinitive as the Object of a Verb

Also, as a noun, the infinitive can also serve as the direct object of a verb as in 6
‘Incodc fip&ato motelv kai dddckey which would be translated “Jesus began to do and
to teach”. The infinitive can also serve as the indirect object as in & ool T imelv
which would be translated “I have something to say to you”. In this sentence,
‘something’ is the direct object and ‘to you’ is the indirect object.

The Infinitive as a Modifier

The New Testament abounds with examples of the infinitives that are used as
modifiers. An example is q\0ev 6 xopdg TV vekpdv kpOfivar which would be
translated “the time of the dead to be judged has come”. In this instance, the infinitive
modifies a noun, but it could as well modify an adjective.

4.0 Conclusion

In this unit you have studied extensively about the functions of the infinitive. You
have seen its characteristics as a noun and as a verb as well as its functions as a noun
and as a verb. You have been taught also the various forms of the infinitive in the
available tenses and voices.

5.0 Summary
The following are the major points you have been taught in this unit:

e As a verb, the infinitive has voice and tense.

e Asa verb, the infinitive is used to express the purpose of the verb, to express
the result of the main verb, to express temporal ideas and to express the cause
of the infinitive.

e Asanoun, the infinitive originally has inflection and so it functions as a
substantive, as an object (both direct and indirect) and as a modifier.

Self-Assessment Exercise

Translate the following passage:
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1 John 2:18 IMoudia, Eéoydtn dpa Eotiv, kal Kabmg frovcate "dtL avtiypiotog Epyetal,
Kol vOV avtiypiotol moAlol yeyovaoty: 60sv yivdokopey dtt Eoyxdtn dpa £oTiv.

1 John 2:19 & Mudv &EfAOav, GAL’ odx noov &€ Nudv: & yop & Mudv foav,
pepevnkeoay av ped’ MuUdv- aAL’ tva eavepmb®dotv 8Tt 00K giciv mavTeg €5 NUAV.

1 John 2:20 xai Oueig ypiopa €xete amod Tod ayiov "kai oidate 'naveg:

1 John 2:21 0¥k &yponya Huiv &1t 00K oidote TV GANBelay, AL’ 611 0idate aTHY, Kol
OtL v yedoog &k g dAnbeiag ovk EoTiv.

1 John 2:22 tig éotv 0 yedotng €i un 0 dpvoduevog dtt Incodg odk Eotv O ¥PLoToC;
oVTOG 0TIV O AVTIYPLOTOC, O APVOVUEVOG TOV TOTEPO KOd TOV LIOV.

1 John 2:23 wdg 6 pvodUEVOS TOV VIOV 0DOE TOV TATEPQ EYEL” O OUOAOYDV TOV VIOV
Kol TOV TatEpa Eyel’.

1 John 2:24 ™u&ic 6 fixovoate an’ ApyNc, £V DUV peVET®: €av &v DUV peivn O am’
apyfc nkovoate, Kol VUES &V T@ LID Kol &V TA TATPL HLEVETTE.

1 John 2:25 xai abtn €otiv 1 €mayyeha fjv avtog mnyysidato Nuiv, ™y (onv v
aicdviov.

1 John 2:26 Tadta &ypoyo HUIV TEPL TOV TAAVOVTIOV DUAC.

1 John 2:27 xoi Hueig t0 ypiopo 0 EAaPete Am’ adTod "péveL &V DUIV?, Kol ob ypeiav
&xete tva Tig S1ddokn VUG AAL’ G TO "adToD Ypicpa S184cKEL VUG TEPL TAVTWV, KO
aAN0<c €oTv Kol 00K E0TIV YeDdOG, Kol kabwg £610atev vuag, "uévete v avTtd.

1 John 2:28 Kai vdv, tekvia, pévete &v antd, iva "éav eavepmOi) "oyduev Tappnoiov
Kol un aioyvvOdpey ar’ avtod £v Ti) Topovsig adToD.

1 John 2:29 'Eav e€idfjte 611 dikoudc €otlv, Yvdokete 'Ott mdg 0 mowdv TV
dkaoovvny €€ antod yeyévvnral.

6.0 References/Further Readings

Adewale, Olubiyi Adeniyi (2015). Understanding Biblical Greek, Abeokuta:
Crowther Theological Publishers

Aland, B., K. Aland, J. Karavidopoulos, C. M. Martini, and B. M. Metzger (eds.)
(1993). The Greek New Testament, 4™ ed. Germany: United Bible Societies

Aland, B., K. Aland, J. Karavidopoulos, C. M. Martini, and B. M. Metzger (eds.)
(1999). Novum Testamentum, Nestle-Aland 28" ed. Germany: United Bible
Societies.

Mounce, William D. (1993). Basics of Biblical Greek, Grand Rapids: Zondervan.

95



Summers, Ray. (1950). Essentials of New Testament Greek, Nashville: Broadman

Press.

MODULE 4

Unit 1:
Unit 2:
Unit 3:
Unit 4:
Unit 5:

UNIT

Syntactical Issues in Greek Nouns and Pronouns
Syntactical Issues in Greek Verbs |

Syntactical Issues in Greek Verbs Il

Syntactical Issues in Adjectives and Imperfect Tense
Syntactical Issues in Participles

1: SYNTACTICAL ISSUES IN GREEK NOUNS AND PRONOUNS

Content

1.0
2.0
3.0

4.0
5.0
6.0

1.0

Introduction

Intended Learning Outcomes

Main Content

3.1  Syntactical Issues in Nominative Case
3.2 Syntactical Issues in Genitive Case
3.3  Syntactical Issues in Pronouns
Conclusion

Summary

References and Further Readings

Introduction

| welcome you to Module Four, which is the final module in this course. This module
is going to be more practical than the theoretical studies you have faced in the earlier
modules. Let me tell you that syntactical issues are better learnt by examining what
the other scholars have said about them and then allowing your own mind to grapple
with the Greek text if you can get at some. In this module then, you will look at what

scholars have said about the syntactical relationships among the nouns, especially
when words appear in certain cases. The last part would then be your analysis of a

given biblical passage wherein you are expected to examine for syntax. | wish you
happy reading and study.

2.0

Intended Learning Outcomes

By the end of this unit you should be able to:

Identify how translations of nouns in cases affect translations
Explain the controversy surrounding the translation of John 1:1
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« Discuss how to distinguish the subject from the subject complement when two
nouns occur in the nominative case

o Explain the difference in translation of Luke 2:14 between King James’
Version and other modern versions

3.0 MAIN CONTENT

3.1  Syntactical Issues in Nominative Case

As you would remember, the nominative case in the Greek language takes care of two
noun functions: the subject and the subject complement are both put in the nominative
case. When this happens, the Greek sentence would then have two nouns in the
nominative case. Now, unlike the English language where the functions of the words
are distinguished by the word order, it is easy to determine which out of the two nouns
Is the subject and which is the subject complement. For example, in English language,
the normal order is that the subject is placed in the first position in the sentence. For
example, in the sentence, Musa is a boy, it is clear that ‘Musa’ is the subject and ‘boy’
Is the subject complement. However, in the Greek language, word order is used for
emphasis and so it could be very fluid. This would thus raise the problem of
identifying which out of the nouns in the nominative case would be the subject and
which would be the subject complement. Sometimes this issue could raise serious
problems that would not only be syntactical but also theological as in the case of John
1:1 which reads:

"Ev dpydi v 6 A0yog, kai 6 Adyog v mpog tov 0gdv, Kol 0gd¢ v 6 Adyoc.

If you look carefully at the above sentence, you would discover that the last phrase kai
0c0g v 6 Adyog has two nouns in the nominative case, namely 0go¢ and Adyoc.

Orthodox translation of this phrase that has been acceptable to the Christian Church
has been “and the Word was God”. This position has been taken because we know
that the word is the subject because it carries the definite article. This phrase however
would pose two questions:

1. Why was 0go¢ thrown forward?
2. What is the reason for the lack of article for 6g0g?

In answering this question, Wallace (1995) has the following to say:

The emphatic position of Bgog stresses its essence or quality: “What God was,
the Word was” is how one translation brings out this force. Its lack of a
definite article keeps us from identifying the person of the Word (Jesus Christ)
with the person of “God” (the Father). That is to say, the word order tells us
that Jesus Christ has all the divine attributes that the Father has; lack of the
article tells us that Jesus Christ is not the Father. John’s wording here is
beautifully compact! It is, in fact, one of the most elegantly terse theological
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statements one could ever find. As Martin Luther said, the lack of an article is

against Sabellianism; the word order is against Arianism.

He went further to explain this position by giving three various constructions of the

same phrase and the most likely translation:

Greek Phrase English Translation Position
Koi O Adyog v 6 O£0¢ and the Word was the God | Sabellianism
Kai O Adyog v 0edg and the Word was a god Arianism
xod 0£0g v O Adyog and the Word was God Orthodoxy

3.2 Syntactical Issues in Genitive Case

Like you have also been taught, the genitive case is the case that is used as the
possessive case in the Greek language. The implication of the use of the genitive is
brought out very well in Luke 2:14. Examine the following translations of the verse:

\/ersion Translation
King James’ Version Glory to God in the highest, and on earth peace, good will
toward men.

New American
Standard Bible

Glory to God in the highest, And on earth peace among men
with whom He is pleased.

New International
\ersion

Glory to God in the highest, and on earth peace to men on
whom his favor rests.

The difference between the King James’ Version and the other versions as seen above
is due to the rendition of the manuscript that the King James’ Version is based upon.
Most modern Greek New Testament reads:

00&a &v Lyicolg Oed kai €l yNg eipnvn v AvOpoOTOLg EVOOKINGC

However, the Greek manuscript upon which the King James’ Version is based used
evdoxkia instead of evdokiag. If you remember your declension system very well, you
would note that eddoxia is in the nominative while gbdoxiag is in the genitive. The
genitive would then literally be translated “of good will” and not just “good will” or
“characterizes by God’s good pleasure”. This is to say that the peace that the sang
about as belonging to the earth as a result of the birth of Jesus Christ cannot be said to
be general (as the King James’ Version would have implied) but it is limited to those
who have obtained favour with God (as the other translations imply). Undoubtedly,
the peace belonged only to those who have expressed faith in Jesus Christ.

3.3  Syntactical Issues in Pronouns

To address the importance of the pronouns syntactically, | would be indebted to the
beautiful piece written by Michael Wilkins as reported by Mounce (1993).
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Matthew regularly displays in his account of the Saviour’s earthly life and ministry in
order to accentuate truths that are important for devotion and doctrine. This precision
is quite evident in the genealogy Matthew used to introduce Jesus Christ at the
beginning of his Gospel. Let me cite some of the verses as an example:

! The record of the genealogy of Jesus the Messiah, the son of David, the son
of Abraham: 2 Abraham was the father of Isaac, Isaac the father of Jacob, and
Jacob the father of Judah and his brothers. 3 Judah was the father of Perez and
Zerah by Tamar, Perez was the father of Hezron, and Hezron the father of
Ram. ** Jacob was the father of Joseph the husband of Mary, by whom Jesus
was born, who is called the Messiah (Matthew 1:1-3, 16)

If you examine the above passage very well, you would notice that in verse 1-3,
Matthew had established a pattern through which he was explaining the genealogy. It
was established through patriarchal line which was in line with the Jewish culture.
When the listing got to the point of Joseph as the father of Jesus Christ, it was stated
clearly in verse 16, that ‘Jacob was the father of Joseph the husband of Mary, by
whom Jesus was born.’

In English language, the sentence is ambiguous in that the pronoun ‘by whom’ could
refer either to Joseph or Mary. This ambiguity is however taken care of by Matthew’s
precision. In the Greek text, this is what he wrote:

Taxop 8¢ éyévvmoev 1ov Toghe tov dvdpo Mapiac, &€ fig &yevvion Incodg 6
AEYOUEVOG YPLOTOC

If you remember what you have been taught, 7¢ is the relative pronoun of the feminine
gender and so it would refer specifically to Mary and not Joseph. Thus, “the feminine
gender of 7 prepares for the virgin birth by shifting attention from Joseph to Mary.”
The Greek relative pronoun is a subtle signature of the relationship of one substantive
to another. Here, by the use of the feminine form the author intentionally stresses that
Mary is the mother of our Lord, and later he will clarify that the conception is
miraculous, brought about by the Spirit of God coming upon her.

This clarification on the direct agency of the birth of Christ is made possible by the
use of the passive voice, but it is not our focus here. From this example, you would
have seen the importance of the relative pronoun especially as it has to do with the use
of case and gender in ascertaining specificity.

Another beautiful illustration of the import of the pronouns lies in the use of the
pronoun in the nominative. If you would remember, you have been taught that the
Greek sentence does not really need a subject because every Greek verb carries its
own subject. In other words, through the endings of the verbs, the pronoun to be used
as the subject is already indicated. If the writer now uses another pronoun in the
nominative, it is done for the sake of emphasis. This usage comes up about seven
major times in the gospel of John, where the author quoted Jesus as using the pronoun
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é&ym and the verb ‘to be’ (etut) along with the masculine definite article 69. The
major passages are quoted below:

Passage Greek Text English Translation
rl::insv (iu’)roig 0 Incodg Eym eijun o &pmg.]esus said to them. "1 am the
TS Coig' O EpYONEVOS TPOG ENE OV N g of Jife; he who comes to
éo?tm mEWAoY, Kol O MOTEVOV &g EuE 00 My ao it ot F;unger and he
. r 4 4 ]
35 ['Byroer mdmote. who believes in Me will never
thirst.
Then Jesus again spoke to
[TéAtv ovv avtoic “éAdincev 6 ‘Incodg’them, saying, "I am the Light
John Aéyov- Eyo e 10 ¢dg tod ko6cpov- ofof the world; he who follows
8:12 arxorovB@v "éuoi ov un mepuatnon &v tf)|Me will not walk in the
oKOTiQ, GAL’ EEEL TO MG Thic (ofc. darkness, but will have the
Light of life."
1ohn Einev ovv mdlv Tavtoic 6 Incodg Aumnv|So, Jesus said to them again,
10:7 aunv Aéym opiv "étt &yd it i Bvpa oV Truly, truly, | say to you, I am
' mpofdtmv. the door of the sheep.
‘Eyd elpt 6 mowynv 0 KaAdg O mowunyv O
John  [KeAOG TV yuxiv avtod tibnow mép tév"l am the good shepherd; the
1011 [mpoPdrav- good shepherd lays down His
' life for the sheep.
gimev avt] 6 Incodc: Eyd iyt 1) dvactooig Jesus said to her. "I am the
John od 1) G 0 moTEDV i £pE KAV amofivy resurrection and the life; he
11:25  [NOETAL who believes in Me will live
even if he dies,
Aéyel avT®d "0 Tnoodc 'Eyo eipu 1 680¢ kol 1) Jesus said to him, "1 am the
John 22?28;0‘8?&{”6%@ Q'O%DS‘C’@ EPXSTAL PO TOV way, and the truth, and the
14:6 paLEL U 0L £HOV. life; no one comes to the Father
but through Me.
‘Eyd eipu 1 dumehog 1 aAnbwvn, Kol 0 Tathp
John  |uov 6 yewpydg éotiv "I am the true vine, and My
15:1 Father is the vinedresser.

In all these usages, Jesus is actually emphasizing who he is. It is as if he is saying |
myself (imagine when we talk and beat our chest with all assurance), | am the ....
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Using John 6:5, as an example, Jesus is saying that no one apart from him is the bread
of life.

It is important to know also that Jesus’ use of &y®m eip points back to the Old
Testament. When Moses asked for the name of God in the burning bush encounter, he
was given the name YHWH (translated “I am who I am”). In the Septuagint, the name
was translated éyom eipn. Apart from this, in John 8:58, when Jesus said “Before
Abraham was, I am” which in the Greek actually reads: npiv ABpady yevécOar &yo eini, he
again used the popular éyo ey, and was ascribing to himself the name that was
revealed to Moses. It was his claim to divinity that made the Jews wanting to stone
him to death as reported in the following verse.

3.4  Syntactical Issues: Nouns and Pronouns in 2 Timothy 1

In this section, we will examine some syntactical issues in 2 Timothy 1. This is to help
you to know how to go about this in the practical sense of it. However, | am not going
to exhaust all the issues because you would have to attempt some yourself.

1:1 TTadrog amdcTorog Xpiotod Incod’ o1 Bednpatog Beod kat’ Emayyeiiov (oG
g &v Xpot®d Inocod 2 Tywobéw ayomnt®d Tékve: yapis, Eleog, €ipnvn amd Oeod
natpog kol Xpiotod Tncod 1o0d kvupiov MuU@V.

3 Xépw o @ 0ed, ® Aotpedm Amd mpoydvov &v kobopd GLVEWNGEL, O
adilemtov Exm TNV mePl 6o pveiov &v Toilg denoeciv pov, Voktog Kol Muépag 4
gmumodV o¢ 1delv, HeEPVNUEVOG GOV TV daKpL®V, tva yapds TANPWO® 5 dmouvN GV
Napov thg &v ool dvvmokpitov mictems, T EVOKNGEY TPMOTOV &V Ti| HAUUY GOV
Aoidt kol T puntpi cov Evvikm, wénewopon 8¢ 6t kol €v col. 6 U v aitiav
AVAULVAOK® o€ Avalmmupelv O ydpiopo tod 0god, 6 €0ty &v ool dih TG Embécemg
TOV XEPDOV LoV 7 0V Yap E0wKeEV NUIV 0 Bed¢ mvedua detMag, AAAL duvAre®C Kol
Gydmnc kol coEPOVIGHOD.

8 M o0V &naucyvvOiic TO paptdplov Tod Kupiov UGV unds due Tov déouov avTod,
GALQ GLYKOKOTAONGOV T® evayYeAl® Katd duvapy 0eod, 9 Tod cdsavTog MUdS Kol
KOAECAVTOG KANOEL ayig, o0 Kath TA £pyo MUMV GAAG Kotd 1dlav mpobecty kol
xaptv, TV dobelcav Muiv &v Xptotd Incod mpod ypovev aiwviov, 10 pavepwbeicav
o0& vV o0 TG Empaveiog Tod cmThpoc MUAV "Incod Xp1otod’, KaTopyNoavTog HEV
10V Bdvatov eoticavtog 8¢ {onv kal debapciov 610 Tod evayysiiov, 11 &ig O
ETEOMV &yod kfpvé Kol dmdoTolog Kol r616ac51<00»0g 12 U 1jv aitiav kal tadto
Ao ®, GAL> OVK EmaIGyOVOLAL, 0100, YOp @ TETIGTEVKO, Kol TETEIGHAL HTL SUVOTOC
EOTV TNV napa@nknv LoV (pvkaﬁou elg SKSWT]V v Nuépav. 13 vmotomwow €yxe
Dyvoviov Adyov @v map® éuod fkovcag &v miotel koi aydmn Th &v Xpotd
‘Inood- 14 v KaAny Tapadnkny euAaEoV o010 TVEDUATOG AYiov ToD £volkoDVTog &V

NUiv.
15 Oidag tod10 811 dmesTpdencdy pe mhveg oi &v 1 Acig, ov éottv dHyghog kol

‘Eppoyévng. 16 odm €heog 6 kOp1og 1@ ‘Ovnoipdpov oik®, 8Tt TOAAAKIS pe avEYLEey,
Kol TNV GAvGlv pov odk €moucydvOm:- 17 dAhd yevouevog €v Poun "omovdaimg
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gNoév pe kol edpev— 18 ddm avtd O Khplog eVpelv EAeog mapd Kupiov &v ékeivn
TN Muépo—rxai 8oa &v E@écm dimkovnoey, BEATIOV 61 YIVOOKELS.

IMadrog anoctorog “Xprotod Incod

The above phrase has four words which are all nouns. The first two: ITadlog
amoctorog are both in nominative case, thus indicating that there is a relationship
between them. The two other words Xpiotod ‘Incod are both in the genitive case. In
translating the first two words, the first word is a name and it means Paul, the second
because it does not have an article would be given an indefinite article in translating
into English, hence the result would be “Paul, an apostle”. The next two words are
also proper nouns, but because they are in the genitive case, it would be translated
with ‘of’, hence, you would have ‘of Jesus Christ’. If all the four words are put
together, it would be translated “Paul, an apostle of Jesus Christ”.

Two0é® ayonnT® TéKve

The three words above are all nouns and they are all in the dative case thus indicating
they have a relationship. Since the first word is a proper noun, the other nouns that are
associated with it would be regarded as adjectives modifying the proper noun.
Remember that dative case would need the word ‘to’ in its translation. Hence, the
phrase would be translated “to Timothy beloved child”. Though most translation
would use ‘my beloved child’ there is no indication of the pronoun in the Greek text.
However, the use of the word beloved by Paul would have implied that the
relationship is very affectionate and would demand such a word in translation.

Xprotod Inood tod kvpiov NMudV

In the above phrase, the first two words, which have been dealt with earlier has
additional three words hence we would examine the relationship of the last three
words to the first two you are familiar with. The phrase tod kvpiov nu@v consists of
one noun accompanied with the definite article and the third word is a second person
personal pronoun in the genitive case (which indicates possessive case). Since all the
words are in the genitive case, it indicates that they are all related. Literally, the phrase
would read ‘Christ Jesus the Lord of us” and “Jesus Christ our Lord” in polished
English.

4.0 Conclusion

In this unit, you have examined the syntactical issues and the implications of such
issues to theology and translation especially where nouns and pronouns are involved.
You have learnt how to distinguish between the subject and the subject complement
where there are two nouns in the nominative case. You have also examined closely the
syntactical implications the issue of two nouns in the nominative case has for the
translation of John 1:1 and the theological import attending it. You have also
examined the role of the genitive in Luke 2:14 and also of the relative pronoun as used
by Matthew in the genealogy of Jesus Christ.
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5.0 Summary
The following are the major points you have learnt in this unit:

e The nominative noun that carries the definite article is taken as the subject.
This is what informed the orthodox position in translating John 1:1c as “and the
Word was God”.

e The ambiguity of Matthew 1:1 in the English language is non- existent in the
Greek because Matthew has used a feminine relative pronoun which states
clearly that the antecedent to the pronoun is Mary.

The use of the personal pronoun in Greek is to emphasis the subject. The use of éyo
eiui, by Jesus is an emphasis and there are seven major | am sayings in the Gospel of
John.,

Self-Assessment Exercise

In the passage above, identify the nouns and the pronouns and translate them in
relationship to the words surrounding them.
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4.0  Conclusion

5.0 Summary
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1.0 Introduction

In the previous unit you have examined the syntactical issues involved in the use of
nouns, especially where cases are involved. You have also seen the implications of the
use of personal pronouns as in Jesus’ use of the éya eiui. In this unit however, we shall
be turning our attention to issues involved in Greek verbs. This would be examined by
tense, by voice and by persons. Since the verbs are very crucial to the Greek
construction, | urge you to painstakingly study all the issues that would be raised here.
If possible, get a copy of the Greek New Testament and use it along in this study.

2.0  Intended Learning Outcomes
By the end of this unit you should be able to:
« Appreciate the role of the tenses in translation and interpretation
« Note how tenses can affect the understanding of biblical passages
« Resolve ambiguities in persons of the verb in consideration of its context
« Discuss how change in voices can alter the meaning of a passage

3.0 Main Content

3.1 Syntactical Issues in Tenses
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One of the widely misused passages of the Bible is Matthew 18:18 which reads:

Truly | say to you, whatever you bind on earth shall have been bound in
heaven; and whatever you loose on earth shall have been loosed in heaven.

In using this passage, most Christians, especially, those of the neo- Pentecostal block,
claim that God has given the Christian the ability and the opportunity to bind and
loose whatever they want, and it shall be as they have decreed. This claim seems to
have biblical backing by the way the verse is interpreted in the King James’ Version:

Verily | say unto you, whatsoever ye shall bind on earth shall be bound in
heaven: and whatsoever ye shall loose on earth shall be loosed in heaven.

However, a true grammatical and syntactical appreciation of the verse would
invalidate such claim. Let us now examine the verse in the Greek New Testament:

aunv Aéym OUiv, doa "Eav dnonrte €ml Tig Yiig Eoton dedepéva "év ovpavd Kol
0ca €av Aonte ml Th¢ yiig €otan AeAvpéva FEv ovpavad.

The words translated “shall be bound in heaven” and “shall be loosed in heaven” are
gotan dedepévo and Eotar Aehvuéva respectively. If you remember what you have
studied about the perfect tense above, you must immediately identify that the two
main verbs that have their stem reduplicated are in the perfect tense and the verb ‘to
be’ working as the auxiliary verb here are in the future form. As you have studied
about the perfect tense, it is used to express completed action with a resultant state of
being. Consequently, the literal translation of these words should be “will have
already been bound in heaven” and “will have already been loosed in heaven”
respectively. This actually means that what is willed on earth must have been based on
what has already been perfected in heaven. Keener, in Mounce (1993) says thus:

This is the language of the law court. Jewish legal issues were normally
decided in Jesus’ day by elders in the synagogue community (later by rabbis).
Many Jewish people believed that the authority of heaven stood behind the
earthly judges when they decided cases based on a correct understanding of
God’s law. (This process came to be called “binding and loosing.”) Jesus’
contemporaries often envisioned God’s justice in terms of a heavenly court; by
obeying God’s law, the earthly court simply ratified the decrees of the
heavenly court.

Do you now see how the correct understanding of the tense can alter even popularly
accepted theological beliefs? Another insightful example could be seen in the use of
the aorist tense. You have been taught earlier that the aorist indicates a finished action
in the past and could be used in three different ways: constatively (in which the action
Is looked upon in its entirety); ingressively (in which the action is viewed as having
occurred but emphasizes the initiation of the action) and culminatively (in which the
action is viewed as having occurred but emphasizes the end of the action or the state
of being resulting from the action). Usually, in translation, it is the context that should
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help you decided which of these three usages is used in a particular passage. Let us
take an example from the Jesus discourse on the Mount of Olives as the example here:

Truly | say to you, this generation will not pass away until all these things take
place (Matthew 24:34)

Over the generations, interpreting this passage has remained not only enigmatic but
also controversial. Its burden also stems from the fact that in Matthew 24:29, Jesus
has prophesied that part of the signs that would mark the end of the age would include
the darkening of the sun and the refusal of the moon to give its light as well as the
falling of the stars along with the shaking of the powers of heaven. It is important to
note that in the Greek text, the tense of the verb used for the fulfilment of the
prophecy is in the aorist as you can see below:

aunv Adym dpiv T8t o0 pn mapéAOn 1 yeved abn Emg v mhvta todTa YAV T,

Thus, the only option left to make this statement credible and intelligible is to view
the aorist as ingressive, thus putting emphasis on the initiation of the action. If this is
true, then the verse would literally be rendered: “Truly I say to you, this generation
will not pass away until all these things begin to take place”. This usage is also true of
Luke 1:20 when the birth of John the Baptist was announced:

"And behold, you shall be silent and unable to speak until the day when these
things take place, because you did not believe my words, which will be
fulfilled in their proper time."

The message given concerning John the Baptist admittedly include not only his birth
but also his ministry (see Luke 1:15-17). However, according to the passage,
Zechariah began to talk when the name he had written on the tablet was pronounced
by the people. Looking at this passage in the Greek text would reveal that that section
was couched in the aorist tense:

kol 800 &on clondv kol pf dvvduevoc AoAficon dypr NG Muépac YéviTan
tadta, avl’ OV ovK EmicTevcsag Toig AOYolS Hov, oitveg mAnpmOncovtal &ig
TOV KOPOV aOTMV.

The aorist tense used here is also yévnton and thus confirms that it is the ingressive
aorist that is at play here too.

3.2  Syntactical Issues in Voices

It is important for you to note that in the English language, the passive voice is
considered a very weak construction (Mounce, 1993). This accounts for the fact even
the computer would ask you to reconsider reworking sentences that are expressed in
the passive voice oftentimes. However, in the Greek language, it is usually a very
clear signal that God is at work. This usage of the passive voice in Jewish tradition is
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due to the Jewish reticence about speaking directly of God. This could even be seen in
Jesus’ speech too: We shall look at Matthew 5:4, 6, 7 which reads thus:

Passage |Greek Text English Translation

Matthew |uaxdpior ot mevbodvteg, 611 avtoiBlessed are those who mourn, for

5:4 TopaKinOcovToL. they shall be comforted.
HOKAPLOL Ol TEWMVTES KOl OtydVTEG

Matthew mv dKaloovLVN Y, otL avtoi/Blessed are those who hunger and

56 yopTocOfcovTal. thirst for righteousness, for they

shall be satisfied.

pokdaplor ol €lenuoveg, OtL  avtol
Matthew |ZhenOnoovran. Blessed are the merciful, for they
5:7 shall receive mercy.

The implication of these statements is that God will comfort them; God will satisfy
them and God they will receive mercy from God respectively. This usage called the
theological passive is also reflected in Luke 11:9 Kdyo vuiv Aéyo, aiteite, koi
dobnoeton VUiv- (nteite, Kol €OPNOETE: KPOVETE, kol AGvorynoetot vUiv- which in
English reads “So I say to you, ask, and it will be given to you; seek, and you will
find; knock, and it will be opened to you.” This also implies that it is God that will
give what would be received and also open the door that is knocked.

3.3  Syntactical Issues in Persons

A very good illustration of the issue of person in the verb can be taken from the
parable of the Good Samaritan (Luke 10:30-37). The verse in contention is the verse
that describes the activities of the Samaritan in his bid to help the wounded man. So,
for this purpose, | will isolate verses 33 and 34 for examination:

33 Tapopitg 8é tic 63evmv RAOeV kat® odTOV Kod "daV éomhayyvicon,

33 koi mpocelddv katédnoev o Tpawpato avtod Emyiwmv Elaov Kol oivov,
EmPifdcoc 0¢ avtov &€t TO idwv KTivog fyoyev avTov £ig mavooysiov kol
EnepeAnOn avtod.

Most translations have rendered the phrase thus: “and he put him on his own beast and
brought him to an inn”. The problematic word here is the word #fjyayev which has been
rendered “brought him”. This word is the third person singular of aorist active
indicative from dym, which means “I lead” but can also mean “I brought”. Remember
also that in the third person, the same word can take “he”, “she” or “it”. Now because
of the context, the feminine gender is already ruled out. The question to ask now is
this: what is the antecedent of this pronoun? I will now give the English reading of the
verses so that you can follow me closely:

3 But a Samaritan, who was on a journey, came upon him; and when he saw
him, he felt compassion, 3* and came to him and bandaged up his wounds,
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pouring oil and wine on them; and he put him on his own beast, and brought
him to an inn and took care of him.

Now, if you follow the story carefully, we have three characters involved here: the
wounded man, the Samaritan and the beast (animal). The Samaritan, in his bid to help
the wounded man, first applied first aid and then put the wounded man on the beast he
was riding. With the introduction of the beast, the pronoun of now has two possible
antecedents: the wounded man and the beast. This is one of the verses that have a
good degree of ambiguity in the Greek New Testament. Remember that the word &y
has two possible meanings: I lead, and I bring. It is also important that this context can
accept both meanings. If the third person singular of the verb refers to the wounded
man, then the translations of the Scriptures is undoubtedly correct, and ‘brought’
would be the right interpretation. However, if the third person singular of the verb
refers to the beast, then lead would have been the right word. Now, listen to the
following personal assumptions:

1. Firstly, since the Bible states that the Samaritan placed the wounded man on
the beast that he was riding, that is, “his own beast,” it implies that he would
have no other beast to mount since we can also assume that the other beasts, if
there are any, are carrying the Samaritan’s luggage.

2. Secondly, if the Samaritan has no more beasts to ride as he could not have
mounted the same beast that a man described as ‘half-dead’ was, we can also
assume that the Samaritan has to lead the beast the wounded man was on to the
inn.

| think with this explanation; it becomes clear that the context can allow for both
interpretations and thus the context cannot be of help in resolving the ambiguity in
this verse.

3.4 Verbal Syntactical Issues in 2 Timothy 2: 1-19

As we have done before in the previous unit, I will use the second chapter of 2
Timothy here to raise some syntactical issues and | would expected you to look for
more in the passage.

2:1 20 obv, Tékvov pov, dvduvapod &v i yéprt Th &v Xpiotd Incod, 2 koi &
fiKkovcag map’ EUoD 010 TOAADY HopTOp®V, TadTO Tapddov TeToig AvOpmdTOIS,
oiltveg ikovol &covtal kol £tépovg ddacatl. 3 "ovykakomddOncov w¢g KaAOg
oTpaTiOS "Xprotod Incod’. 4 oddeic oTPATELOUEVOS EUMAEKETOL TOAG TOD
Biov mpayuateiong, tva 1@ otpatoroynoavtt apéon: 5 €av 8¢ kai aOAT Tic, 0¥
oteavodTOL 0V Un vouipwg abAnomn- 6 tov Komdvta yewpyov Oel TpdTOV
TOV Kopm®dV petolapupavery. 7 voet "o Aéym- "dmaoel yap 6ot 0 KHpPLog GUVESLY
&V mAGoLV.

8 Mvnuoveve Tnoodv Xpiotov &ynyepuévov €K vekp®dv, €K oméppotog Aavio,
Katd 1O £0aYYEAMOV pov- 9 &v @ kokomadd péypt Seoudv O KakoDpyoc. GAAA
0 AOyog oD Bg0d 0V dédetar: 10 d10 TodTo TAVTO VITOUEV® Ol TOVG EKAEKTOVG,
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tva kail avtoil compiog Toxwov Tig &v Xp1ot®d Incod petd 06&ng aiwviov. 11
moTOg 0 Adyog: €l yap cvvameddavopey, kal culnoopev-: 12 &l vmopévopeyv, kol
ovpPactievcopev: el fapvnoodueba, Kakeivog dpvioeton nNuag 13 el
AmIoTODEY, EKEIVOC TIOTOC HEVEL "apvicachal EovTtov oV dhvarTal.

14 Toadta vmopipvnoke, OlopoptupdueEvog Evomov Tod  "kuplov, i
Aoyouoyely, "ém’ ovdEv ypnowov, &mi KATaoTPOPf] T®V dxovdviwv. 15
omovO0GOV GEAVTOV OOKIHLOV TopaoTiool T® Be®d, €pydtnv dvemaicyvvtov,
opBotopodvta OV AOyov Thic dAndeioc. 16 tag o0& PePfnrovg kevopwviog
neplictoco: émi mAElov Yap mpokdyovowy doefeiag, 17 kol 6 Adyoc avTdv (¢
yayypawo vopny &gt v éottv Ypévarog kai ®ikntoc, 18 oftvec mepi v
anOeiav notdynoayv, "Ayovteg AvacTtacty §jon yEYOVEVAL, Kol GVOTPETOVGLY
™V Tvev Tiotv. 19 6 péviol otepedg Bepédog tod Beod Eotnkev, Exwv TNV
oppayida tovv: "Eyve kOprog tovg dvtog avtod, koi- AmooTHT® Amd
adkiog woc 6 ovopdlmv 10 dvopa Kvpiov.

I will want to concentrate on verse 15 which centres on the biblical picture of a good

workman of God and how his activities have been described. We would examine the
verbs that have been used and the implications of the verbs. In doing this, the
following phrases become important: cmovdacov ceavtov, mapactijocal T® Oed and
opBotopodvta tOV Adyov Tiig aAndeiog.

GTTOVOOGOV GENVTOV

You will want to know the reason for the inclusion of ceavtov, a pronoun, along with
a verb. This is because syntactical analysis has to do with the relationship of words
and the verb here is used along with the pronoun. cmovdacov is a first aorist active
imperative of the second person singular. The primary meaning of crovdacov is “to
make haste” and it later developed to “make zealous effort” (Arndt and Gingrich,
1957; Bromiley, 1985). Now, the next thing to determine is how it is used here. You
would remember that you have been taught that the imperative can be used
cohortatively (to give a positive command); or prohibitively (to give a negative
command); or to make an entreaty or permissively. Out of all these uses, the
permissive and the prohibitive usages are automatically ruled out because while the
third person is what is applicable to the permissive, it is the present imperative that is
used for the prohibitive. We are now left with the cohortative and the entreaty usages.
By the context, the entreaty is more applicable and because this entreaty is coming
from the aorist tense, it means that Paul is instructing every workman of God to begin
to make every zealous effort. Remember that the distinction between the present and
the aorist tenses in the imperative lies not in the time of action but the kind of action.
In the present, the action is continuous and in the aorist the action has to be ingressive,
that is it is addressed to an action that has not yet started. The use of the reflexive
pronoun emphasizes the fact that it is an activity that has to be done by oneself; no one
could do it on behalf of another. The implication of this would come out later.

TopaoTHooL T@) Oe®d
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The verb here is followed a noun and its definite article in the dative case. Let us
begin the analysis from the verb. mopaoctiicot is an aorist active infinitive. This is a
verbal infinitive derived from mapioctnut. If you pronounce this word very well, it will
immediately remind you of one of the verbs of the —ut conjugation (iotnut) which
actually mean “I stand”. However, by its usage here the word actually means “to
present,” “to place” and according to (Arndt and Gingrich, 1957) the word could be
used in the cultic sense, that is, “the language of sacrifice”. Even in the sacrificial
language, the word could still read ‘present’ as the various translations have rendered
it. Because of the following noun, which is ‘God’, then the sacrificial usage must be

upheld.

Bringing the two phrases above together, we have the message that the workman of
God must make every effort to present himself to God as an approved workman. This
understanding reveals the very misunderstanding that pervades the church of God
today. Let me share my experience among the students of a particular Bible College in
this country with you. Their popular cliché is that “God does not call the qualified, but
He qualifies the called”. While this statement is true in a pre-call stage, it is not true in
a post-call stage. This is because truly God may call those not educationally qualified
into the ministry but after the call, the onus rests on the called to make himself
approved by God.

opBotopodvta OV Adyov g aAnOeiog

This last phrase in the verse completes the thought of the writer. This is made up of
one verb, two nouns (one in the accusative case with its definite article and the other
in the dative also with its definite article). Let us begin with the verb. The verb
opBotopodvta is from opBotopém which means “cut a path in a straight direction”.
This is actually a verbal participle in the form used here. As an active verbal
participle, the participle took an object as shown in the words that follow it. These
words, tov Adyov ti|g dAndeiag, would be translated “the word of truth”. So, the
question is: what does Paul mean by cutting the word in a straight direction? | like
Stott’s (1973) position that “to cut it straight’ or ‘make it a straight path’ is to be
accurate on the one hand and plain on the other in our exposition”. He concluded by
saying that “he handles the word with such scrupulous care that he both stays on the
path himself, keeping to the highway and avoiding the byways, and makes it easy for
others to follow” (Stott, 1973).

4.0 Conclusion

In this unit you have studied how the various nuances of the tense can affect the
understanding and indeed the translation of any passage. As an example, you have
seen how the correct rendering of the perfect tense would invalidate the general
understanding of Matthew 18:18. You have also seen how the use of the ingressive
aorist can throw light on certain predictions like Matthew 24:31. You have also learnt
about the use of the passive voice as the theological passive as well as how the use of
persons in the verb can be of help in better understanding. We have also explored
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verse fifteen of 2 Timothy 2 and tried to do an exegesis of the verse with reference to
the verbs that are there.

5.0 Summary
The following are the major points you have learnt in this unit:

e The claim that we can bind and loose as Christians is limited by the correct
rendering of the perfect tense used in the Greek text.

e The verse would be correctly rendered as: Verily | say unto you, whatsoever ye
shall bind on earth will have already been bound in heaven: and whatsoever
ye shall loose on earth will have already been loosed in heaven.

e The use of the ingressive aorist would illuminate verses like Matthew 24:34
which would now be properly rendered as: Truly I say to you; this generation
will not pass away until all these things began to take place.

e The use of the passive voice allowed the Jews to use the theological passive
that gives the Jews the opportunity not to directly mention the name of God.

Self-Assessment Exercise

Look at 2 Timothy 2:3-4 above and identify the verbs of your choice and comment on
the use of the verb.
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1.0 Introduction

In the previous unit you have examined the syntactical issues involved in verbs where
the tenses, voices and persons are at play. You have seen the Greek necessity of
binging out these nuances in translations and interpretation so as to correctly decipher
what the author is trying to say. In this unit, we are going to examine syntactical
issues involved in the mood the verb is in. two major moods would be considered here
as an example, and these are the present indicative mood and the subjunctive mood.

2.0  Objectives
By the end of this unit you should be able to:
e Determine the correct translation of the present indicative in context
e Determine the correct translation of the subjunctive in context
e Explain the discrepancy between the King James’ Version translation of 1 John

3:8-9 and that of New American Standard Bible and New International
Version.

3.0 Main Content
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3.1  Syntactical Issues in Present Indicative Mood

The present indicative as you have been taught the indicative mood is the mood which
confirms the reality of the action from the viewpoint of the speaker. When the
indicative mood is in the present tense, the kind of action involved is the present
continuous action. When translations are made sometimes, the translators do not take
note of these mood and tenses and therefore give translations that do not conform to
the mood and the tense. We will examine in this regard the first epistle of John,
chapter three verses eight and nine. | will first give you the Greek text and then give
you the King James’ Version translation before commenting further:

8 6 mow@dv v apaptiov £k oD SaPforov €otiv, OTL dn’ dpyig O S1dforoc ApapTAVEL
el 10010 €pavepdOn 0 vIOG ToD Beod Tva Avom ta Epya Tod Safdrov. 9 mac O
YEYEVWNEVOG €K TOD Bg0D apaptiav 0¥ molel, 6Tl omépua avTod &V aT® HEVEL, Kol
o0 duvatal ApapTavey, 6Tt ék Tod Beod yeyévvnrat.

8 He that committeth sin is of the devil; for the devil sinneth from the beginning. For
this purpose, the Son of God was manifested, that he might destroy the works of the
devil. ® Whosoever is born of God doth not commit sin; for his seed remaineth in
him: and he cannot sin, because he is born of God. (King James’ Version)

The phrases that are important to the understanding of this passage are ¢ mow®dv v
apaptiov and apoptiov o wotel. These are the phrases that the King James’ Version
have rendered as “he that committeth sin” and “doth not commit sin”. I shall now
comment on these phrases.

0 oL@V TNV apaptiav

Though this phrase is not in the present active indicative, it is important to the
understanding of that phrase in the ninth verse because it is its antecedent. This phrase
consists of a present active participle and a feminine noun in the accusative case. 6
mow®v IS a present active participle from the word mo1ei, a contract verb. You would
remember that participles have both the quality of a verb and a noun because
participles are verbal adjectives. As a noun, the word is a nominative masculine
singular. By usage, it is used here as an adjective. Thus, we can identify that it is used
substantively, that is, as a noun. This is why it is translated as “He who commits”.
However, this translation did not bring out its present continuous quality. To do this,
the translation would be, “He who keeps on committing”. Because this participle has
been used substantively, to complete the sense of the statement another noun is
needed to serve as the direct object because the verbal aspect has not been overlooked.
This is the function of v auaprtiav in this phrase. Thus, putting the words together,
the translation would be “He who keeps on committing sin”. This translation does
negate the idea of the King James’ Version that read as if even to commit one sin
makes one a child of the devil. The translation of the King James Version treated the
kind of action as a punctiliar action which is more fitting for the aorist indicative and
not the present indicative. After treating the second phrase, we will examine other
translations.
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apaptioy oV TOolEl

This is the focal phrase and it deserves serious attention. It is the use of this phrase
that makes verse nine a parallelism of verse eight. The first word here is auoptiov a
singular masculine noun in the accusative. The second word is o0, which is a negative
particle. The function of this particle is to serve as a negation of the following main
verb. The verb here is woiel and it is a present active indicative verb in the third person
singular. Thus, as a present singular indicative, it would be translated “he is
committing”. So, if all the words are put together, it would read “he is not committing
sin” or to put it in the continuous sense, it will better read “he does not keep on
committing sin”.

Now, let us examine two other translations:

8 The one who practices sin is of the devil; for the devil has sinned from the
beginning. The Son of God appeared for this purpose, to destroy the works of
the devil. °* No one who is born of God practices sin, because His seed abides
in him; and he cannot sin, because he is born of God (New American Standard
Bible)

8 He who does what is sinful is of the devil, because the devil has been sinning
from the beginning. The reason the Son of God appeared was to destroy the
devil's work. ° No one who is born of God will continue to sin, because God's
seed remains in him; he cannot go on sinning, because he has been born of
God (New International Version)

If you examine the New American Standard Bible translation you would discover that
the translation brought out the present continuous tense in all the aspects of the
translation both in verses eight and nine. In verse eight, it reads “the one who practices
sin” and in verse nine it reads “no one who is born of God practices sin”. In the New
International Version, though the phrase in verse eight did not bring out the present
continuous action but tends toward the punctiliar; however, in verse nine it brings it
out by using “will continue to sin”. Note that it is the King James’ Version translation
that most theologians canvassing for sinless perfection hang upon for their argument.

3.2 Syntactical Issues in Subjunctive Mood

For this section on the subjunctive mood, | am indebted to Buist Fanning as quoted by
Mounce (1993). Apart from listening to the contents of the speech of a respected
leader, we look also for the attitude. It is in this attitude that we can determine the
implications of his words concerning the relationship we have with the speaker and
the issues that are significant to the speaker and would be emphasized by at least body
language. These elements are also discernible as we study the New Testament.

The subjunctive mood is one mood that has been used fascinatingly in the Greek

language. In this sub-section we are going to examine the use of the subjunctive mood
to express emphasis. One the most important usages to theology is the double
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negative. The subjunctive mood can make use of the indicative negative particle uo0
and the subjunctive particle un along with a subjunctive verb to indicate a strong
negation about the future. The subjunctive mood is used characteristically to suggest a
future possibility but in the same phrase, the possibility of the occurrence of the is
emphatically denied. It has been said that this linguistic combination occurs some
eighty-five times in the New Testament. For our example of this usage, we would
examine Jesus’ discourse in John 10:27-28. The Greek text would be quoted first
followed by the English translation:

27 10 mpéPata o EUd THG POVHG LoV TdKoVLOVGY, KAY® YIVOOK® O0TA, Kol
daxolovBodoiv pot, 28 kdyow Oidmm avtoic (onyv aiodviov’, Kol oV un
GmolmvTaL €IS TOV 0idVa, Kol 00y ApTAcEL TIG aOTA €K THG XEPOC LOV.

27 "My sheep hear My voice, and | know them, and they follow Me; ? and |
give eternal life to them, and they will never perish; and no one will snatch
them out of My hand.

Kol 00 P} ArorlovTol €ig TOV 0idva

The above is the phrase used by Jesus. The use of xai is that of an ordinary
conjunction to connect the thoughts from the previous phrase to this one. This is
followed by ov un which are the double negatives. As have been said earlier, this is
the combination of od which is the present active indicate negative particle and um
which is the subjunctive negative particle.

The two double negatives are followed by amdéiwvtor, a third person plural aorist
middle verb in the subjunctive mood. The verb has its root in arxdéAiivw which means
‘destroy’ in the active voice and ‘perish’ in the middle voice. Thus, the phrase would
be translated “and they would not perish”. The last three words &ig tov aid®vo, are
actually to be treated like one. This is because Summers (1950) has confirmed that
“elg TOv aidvo is an idiom meaning forever”. Literally, the three words can be
translated “into the ages”. If all the words are put together, the idea is that “they would
never ever perish”. Mounce (1993) also said that the subjunctive combination strongly
denies even the possibility that any of Jesus’ sheep would perish: “they will certainly
not perish,” “they will by no means perish”. He also concluded that the phrase, ic tov
ai®dva, reinforced the idea.

3.3 Subjunctive Mood Issues: 2 Timothy 2:20-26

20 'Ev peydAn 8¢ oikig ovk €oTiv pHOVOV OKeLT ¥puod Kol apyvpd AL kol
Evlva koi doTpdiiva, kol & pév eic Ty & 8¢ el dnpiov: 21 &av ovdv Tig
ékka0apn éovtov amo TOVTOV, £0Tol OKEDVOG €I TNV, 1MYLUGUEVOV,
febypnotov 1@ deomdtn, €ig mav Epyov ayabov Nrowacuévov. 22 tag O
vemtepkag Embopiag eedye, dloke 0& dkaloovvny, ToTY, AyanNV, EpRVNV
LETO TAV EMKOAOVUEVOV TOV KUPLoV €K KaBapdg kopdiag. 23 Tag 08 Lmpag Kol
arodevtovg {ntnoelg mopattod, €0mg OTL yevvdol pdyag: 24 dodhov O
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Kopiov o0 Sel pdyecdor, GAAA Hmov elvol mpdg mAvioag, SSoKTiKOV,
aveEikaxov, 25 &v mpadntt TadeLOVTO TOVS AVTIOTIOEUEVOLS, ITTOTE "OMN
avTolg 0 0£0g petavoray €ig Eniyvootv dAndeiog, 26 Kai Gvaviy®oty Kk Tic
10D d1afforov maryidog, ELmypnuévol v’ avToD £ig TO Eketvov BEAN .

In the above passage, the subjunctive mood is used only in three verses: 21, 25 and 26
and the phrases where they have been used have been bolded. We will now consider
the phrases:

£0v 0UV TIG £KKaOAPT £00TOV GO TOVTOV

The occurrence of the subjunctive here is plainly the use of the subjunctive to make a
conditional sentence. As you have been taught, when the subjunctive is used in this
manner, the protasis, that is the ‘if” clause would make use of éav. Thus, the phrase
we are dealing with is the protasis in the verse. The second word in the phrase, ovv,
which means ‘therefore’ is usually placed first in the English translation as in the New
International Version, though some English translations omit it. We cannot however
overlook it as it serves as the linker word with the preceding verses. It is its function
as a linker word that suggests its being in the first position in the New International
Version translation. The next word is tig. This is the indefinite nominative masculine
singular pronoun. Because it is indefinite, and because it is in the nominative, it would
be translated ‘anyone’ and it becomes the subject of the sentence. The next word,
éxkabapn, is the main verb that is placed in the subjunctive. It is actually the third
person singular of the aorist subjunctive and it is from the root word éxkabaipw and it
means cleanse. It is also followed by the noun in the accusative case, thus becoming
the direct object of the sentence. This is actually in line with the grammar rules that
whenever éxkabaipw is used, it is followed by an object in the accusative case. It is
also important to note that the direct object is immediately followed by an indirect
object in the genitive. The genitive is occasioned by the coming of amo which is
usually used along with the genitive to express separation. The preposition is followed
by the genitive neuter plural demonstrative pronoun ‘these,” hence the phrase would
read ‘from these things’. If all the words of the phrase are put together what we would
have would then read “therefore, if anyone cleanses himself from these things”. Note
that the demonstrative pronoun which should have an antecedent, would make us
remember that the ‘therefore’ is a linker phrase to an earlier argument. The idea is that
If anyone would cleanse himself from the defilement that would have come from false
teachers who have denied the fundamental truth of the gospel and then from the
wickedness of our hearts and lives (Stott, 1973).

pfqmote 'on avToic 0 0£0g peTdvoray

This second phrase comes from verse twenty-five. The phrase opens with the word
uqmote. This word is a combination of un (the subjunctive negative particle meaning
‘not’, and mote which means ‘at some time’. This word is used predominantly in three
ways:
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1. It is used with the indicative to reinforce negative time, such as ‘at no time’.
This is not the case here since it is followed in this verse by the subjunctive.

2. It could also be used as a prohibitory conjunction. In this case, it could be used
after verbs of fearing and warning and so would be translated ‘lest’ or, ‘for fear
that’. It could also be used as an expression of anxiety about the future in
negative purpose clauses. In this case, it could also be translated ‘lest’.

3. Finally, it could be used as an interrogative particle expressing a measure of
doubt or uncertainty. In this case, it would be translated ‘whether’ and
‘perhaps’.

In the phrase above, it is used as an expression of anxiety about the future in negative
purpose clauses. This usage is expressed variously by the translations: KJV used
peradventure; NAB used ‘it may be that’; NIV used ‘in the hope that’; RSV used
‘perhaps’, and New American Standard Bible used ‘if perhaps’.

This word is immediately followed by the subjunctive verb dom. This is the third
person singular first aorist active subjunctive. The root for this word is 68wt one of
the —pu conjugation verbs and the meaning is: ‘give’, ‘grant’ and ‘permit’. The usage
here is ‘give,” but with reference to God, it will connote ‘grant’, ‘bestow’ and
‘impart’. This fact is substantiated by the fact that the phrase has 6 ®¢o¢ as the noun
in the nominative, hence God is its subject and He is the one that is doing the giving,
hence grant or bestow will be the most appropriate word here. The indirect object is
avtoic and it is the personal pronoun which is in the dative case. It is also in the
masculine gender and it is plural in number. The last word is petédvolav and it is a
feminine singular noun in the accusative case which means repentance. This word is
the direct object of the phrase. Putting all these together, the phrase would read
“perhaps God will grant them repentance”.

KOl Qvavijy ooty

This phrase is the last phrase where the subjunctive is used. The phrase began with
kal which is a coordinating conjunction meaning ‘and’. This also implies that verse
twenty-six is a continuation of the thought of verse twenty-five. The next word
avaviyootv, is the main verb of the phrase. This verb is the first aorist subjunctive
active and is in the third person plural. The root word is avaview. This is a very
enigmatic word. Arndt and Gingrich (1957), implies that at the time of Aristotle, the
word means ‘become sober’ and it is usually used in the spiritual sense, especially the
ethical realm in the post-classical times. It later came to mean come to one’s senses.
Most translations adopt ‘come to one’s senses’ as the meaning. The meaning of the
phrase thus would be “and they come to their senses”.

4.0 Conclusion
In this unit you have been taught that the present indicative mood has the present

continuous tense as its kind of action. You have seen the example of this usage in 1
John 3:8-9. You have seen that most translations use the punctiliar action thereby

117



changing the thought of the original author. You have also seen that the subjunctive
mood is used to express emphasis. In this unit, you have seen how the subjunctive
makes use of the double negative to indicate a strong negation about the future. This
occurrence comes up about eighty-five times in the New Testament. The example
used here is John 10:27-28. After this, the use of the subjunctive was considered in 2
Timothy 2:20-26 where it is used mainly for constructing conditional sentences.

5.0 Summary
The following are the major points you have learnt in this unit:

e The present indicative mood uses the present continuous tense to indicate its
kind of action.

e The use of the punctiliar action to translate 1 John 3:8-9 have led to a change of
the thought of the original author.

e The subjunctive mood is used to express emphasis.

e The subjunctive makes use of the double negative to indicate a strong negation
about the future.

e This occurrence comes up about eighty-five times in the New Testament.

Self-Assessment Exercise
Study the passage below and locate the verses therein and analyze them:

10 "Tod Aowmod* &vovvapodcbe &v kupiw kol €&v 1@ kpdtel Thg ioyvog avtod. 11
gvovcace v movorAiov Tod Beod Tpog 10 dvvacHor VA otiival Tpog Tag pnebodesiog
100 Soforov: 12 ét odk EoTv NEiv 1| AN TPOg aipe kol chpka, AL TPOG TOG
apyac, mpog Toc e€ovaiag, TPOg TOLE KOOSUOKPATOpag Tod "'okdTOLE TOVTOV, TPOG TA
TVELLLOTIKA, TTG Tovnpiag v Tolc émovpaviolc. 13 ot todto dvarafete v movomAioy
t00 0Oeod, Tva dSvvndfjte davtiotiivor &v T Muépe TH movnpd Kol dmovto
Katepyacpevol otijval. 14 otfite ovv mepillmwoduevol THV dceLY dudV dv dAnOsiq,
Kol évdvoapevol Tov Odpaxa thg dikatoovvng, 15 kail vrodnoduevor Tovg TdHdaG Ev
Eropacio Tod evayyeliov thg elprvng, 16 "év maowv dvorafovieg tOv Bupedv TiC
niotemg, &v @ dvvnoecOe mavto To PEAN ToD "movnpod memvpmpéva opfécar 17 wai
MV TepKe@aAaioy Tod cwtnpiov "dé€acbe, Kai TV payoipay Tod Tveduatog, 6 €0tV
prina Bgod, 18 o0 mdong TPoceLYTG Kol 0ENCEMC, TPOGEVYOUEVOL £V TAVTL KA £V
mvebpaty, kol €i¢ "antd Aypumvodvieg €v mACT TPOCKOPTEPNOEL Kol OENCEL TEPL
TAVTOV TAV aylov
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UNIT 4: Syntactical Issues: Adjectives and Imperfect Tense

Content
1.0  Introduction
2.0  Intended Learning Outcomes
3.0 Main Content
3.1  Syntactical Issues in Adjectives
3.2 Syntactical Issues in Imperfect Indicative
4.0  Conclusion
50 Summary
6.0  References and Further Readings

1.0 Introduction

In the previous unit you have examined the syntactical issues involved in especially in
the practical usages of the subjunctive mood as well as the present continuous of the
indicative. We have explored some passages of the Bible to explain the roles of these
moods in interpretation and how the failure to observe them can lead to grievous
misinterpretations. In this unit, we still will examine some syntactical issues in the
adjectives and also in the imperfect indicative. This new understanding would make
us to re- examine our previous understanding of some biblical passages.

2.0  Intended Learning Outcomes

By the end of this unit you should be able to:
e Explain the use of the adjective in Greek
e Interpret Matthew 6:13 correctly

e Discuss the use of the imperfect in Luke 15

3.0 Main Content

3.1 Syntactical Issues in Adjectives
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Wallace (1995) reiterates the importance of the adjective in the Greek language. He
has this to say:

Adjectives have a theological importance that is hard to rival. They can modify a noun
(attributive use), assert something about the noun (predicative use) or stand in the
place of a noun (substantive use). Sometimes it is difficult to tell exactly which role a
particular adjective is in. Let us examine the theological role the adjective plays in
Matthew 6:13.

Kol un eloevEéyknc NUAg i melpacpudv, arle pooor Nuag amo tTod "Tovnpod.
Before making any comment on this verse, let us look at some translations:
And lead us not into temptation, but deliver us from evil: (KJV)
And do not subject us to the final test, but deliver us from the evil one (NAB)
And do not lead us into temptation, but deliver us from evil (NASB)
And lead us not into temptation, but deliver us from evil (RSV)

From the translation of the four versions above, you would have observed that the
translation of the adjectival phrase dangles between two options: either they use ‘evil’
or ‘the evil one’. If the translators would be true to the Greek text, the presence of the
definite article before the adjective would definitely suggest a substantive usage. You
may wonder that the definite article does not have either the nominative or the
accusative case. But you would also remember that it cannot be in the nominative case
because it is not the subject of the phrase and the use of the preposition dno, would
demand the use of the genitive case instead of the more appropriate accusative case.
The substantive use of the adjective would now make ‘the evil one’ the correct
interpretation of the adjective.

Let us now compare the implication of the different translations. This text is not
teaching that God will make our lives a garden of rose as some neo-Pentecostal
preachers would want us to believe; however, God would deliver us from the devil
himself. The truth is that in this world we encounter dangers, disasters and partake in
the ugliness of this world. it amazes me when | hear people preach that Christians are
not supposed to be sick or neither would anything bad happen to them. Frustratingly,
when these happen instead of accepting the fault in our theologies, we blame the
victims instead by making them feel that evil has happened to them because of their
sin.

3.2  Syntactical Issues in Imperfect Indicative

You would recall that in our study of the imperfect, you have been told that though the
Imperfect indicates continuous action in the past time, it is used in three major ways:
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1. The descriptive imperfect: in this usage, the imperfect is used to give a vivid
representation of what was going on in the past.

2. The iterative imperfect: in this usage, the imperfect is used to show repeated
action in the past.

3. The inceptive imperfect: in this usage, the imperfect is used to emphasize the
beginning of a continuous action in the past time.

With this at the back of your mind, let us examine Luke 15:1-3:

15:1 "Hoov 8¢ ‘advtd £yyilovres mavTec ol Teddvar Kol ol GuapTmAol dkoveY odToD.
2 kai deydyyviov of "e Dopicaior koi ol ypapupotsic Aéyovieg 8t ODTOg
QUOPTOAODG TPocdéyetol kai ovvesdiel avtoic. 3 elmev 88 mpdg avTodg THV
TopaBoAnV TaTNV AEymVv-

These three verses form the context that Luke gave to the discourse of Luke 15.
However, the most important phrase to our discussion of the imperfect is the bolded
one. The phrase started with ficav which is the imperfect form of i This is used
alongside a present participle (éyyiCovteg). This construction is used to form what is
called the ‘periphrastic imperfect’. The periphrastic imperfect is used to depict the
general circumstances of Jesus’ ministry rather than one singular occurrence. This is
the use of the imperfect to depict a habit, that is, the re-occurrence of an action
(Adewale, 1996).

Now, let us examine how some translations have expressed this phrase:
Then drew near unto him all the publicans and sinners for to hear him (KJV)
The tax collectors and sinners were all drawing near to listen to him (NAB)

Now all the tax collectors and the sinners were coming near Him to listen to Him
(NAU)

Now the tax collectors and sinners were all drawing near to hear him (RSV)

As you would have noticed, only the King James’ Version used the punctiliar action
in its translation of the periphrastic imperfect. The other versions tried to picture the
on-going past action though it did not bring out the force of the periphrastic imperfect
clearly. The idea here is that the tax-collectors and the sinners kept coming near to
Jesus to hear Him.

The second imperfect that is used in the above passage is dieyoyyvlov and it is used
with reference to the scribes and the Pharisees. dieyoyyvlov is a very rare word in
Greek language. This is because it is used only this once in the New Testament and
among Greek writers it is used only by Heliodorus to mean “to whisper”. It is a
compound verb formed by the combination of the preposition dwa and yoyydw and it
means murmuring.
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The force of the 1o here suggests that the scribes and the Pharisees were actually
grumbling among themselves, that is, it wasn’t made open. Adewale, (1996) has this
to say on the verb here:

Since the verb is also in the imperfect, it also implies a continuous action. One
cannot but note the use of the imperfect in depicting the action of Pharisees
and the scribes and that of the tax-collectors and the sinners. This usage may
not be accidental but to depict the fact that as the tax- collectors and the
sinners were drawing near to Jesus, in that proportion, the Pharisees and the
scribes increased their murmuring.

This implies that the use of the imperfect in this verse balances the use of the
periphrastic imperfect in verse one, and so habit is also implied here.

4.0 Conclusion

In this unit you have seen practically how the usage of adjectives can affect
translation. You have learnt that adjectives have a theological importance that is hard
to rival. You have also been reminded that they can be used attributively,
predicatively or substantively. You have also been told that it is sometimes difficult to
pinpoint the exact usage of an adjective. As an example, Matthew 6:13 was examined
and we discover that the inability of the translators of the King James’ Version to see
the substantive role of the adjective led to the translation: “deliver us from evil”
instead of “deliver us from the evil one”. You have also gone further to examine the
use of the imperfect indicative. The iterative use of the imperfect to depict a habit
(that is, periphrastic imperfect) was seen in the first two verses.

5.0 Summary
The following are the major point you have learnt in this unit:

Adjectives have a theological importance that is hard to rival.

Adjectives can be used attributively, predicatively or substantively.

It is sometimes difficult to pinpoint the exact usage of an adjective.

The inability of the translators of the King James’ Version to see the
substantive role of the adjective led to the translation: “deliever us from evil”
instead of “deliever us from the evil one”.

o The imperfect can be used descriptively, iteratively and inceptively.

e The iterative use of the imperfect is sometimes to depict a habit (that is,
periphrastic imperfect) as seen in Luke 15:1-2.

Self-Assessment Exercise
Identify all the adjectives in this passage, indicating the functions they perform:

1 Corinthians 7:1 Ilepi 62 ov "&ypdyarte, KoAOV AvOpOT® yovarkdg pf drtecOar:
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1 Corinthians 7:2 61 8¢ tag mopveiag EKAGTOG TNV E0LTOD YVVAIKO EYET®, KOl
€KAot TOV 1010V Avopa EYET.

1 Corinthians 7:3 tf] yovouki 6 avip v "oQelny dnodidotm, Opoimg 68 Kol 1) Yovn
T® avopt.
1 Corinthians 7:4 1} yovi tod 16iov c®patog ovk £0vo1dlel GALN O Avip: OUOIMG OE

Kol 0 dvnp 10D 1610V cOUATOG 00K EE0VGLALEL AALA 1) YOVN.

1 Corinthians 7:5 un dmootepeite AAANAOVG, €1 UNTL GV £K GOUPDOVOL TPOG KALPOV
tva "oyoAdonrte "t mpocevyt] kol maAy €ni TO avTod Mte, tva un mepdln dudg o
2aTovag ol TV aKpacioy VUMV.
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4.0  Conclusion
5.0 Summary
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1.0 Introduction

In the previous unit you have examined the syntactical issues involved in adjectives
and you have seen how the misidentification of the function of an adjective can lead to
misinterpretation and consequently, a wrong theology. You have also seen the
iterative function of the imperfect in depicting a habit. In this unit, we would be
focusing in the participle which is also another important part of speech as long as
Greek Grammar is concerned.

2.0  Intended Learning Outcomes
By the end of this unit you should be able to:

Indicate the functions of the participle
Identify the time of action in the participle
Indicate the kind of action in the participle
List the verbal qualities of the participle
List the adjectival qualities of the participle
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o Correctly interpret an adjective
3.0 Main Content
3.1 Participles and Greek Syntax

The importance of participles to Greek syntax cannot be overemphasized. Pointing
this out, Wallace (1995) says that the “mastery of the syntax of participles is mastery
of Greek syntax.” The difficulty in mastering the syntax of participles is due to the
following:

1. Usage-the participle can be used as a noun, adjective, adverb, or verb and in
any mood, that is it can be the indicative or the imperative or the subjunctive.

2. Word order-the participle is often thrown to the end of the sentence or
elsewhere to an equally inconvenient location.

3. Locating the main verb-sometimes it is verses away; sometimes it is only
implied; and sometimes it is not even implied!

In short, the participle is difficult to master because it is so versatile. But this very
versatility makes it capable of a rich variety of nuances, as well as a rich variety of
abuses (Wallace, 1995). As a result of the following, the role the context has to play in
the interpretation of the syntax cannot the ruled out. This is to say that the structure,
that is, the presence or the absence of the article may not be of help in determining the
kind of the participle. In order to have a graphic understanding of this situation, we
will quickly revise the nature of the participles and expound more on vital areas.

3.2  The Nature of the Participles

If you would recall the earlier lessons on the nature of the participles, we have said
that they are verbal adjectives. They are so called because they have the attributes of
both the verb and the adjective. The adjectival nature of the participle comes out
mostly when it is used either substantively or adjectivally.

As verbs, they have tense and voice and as adjectives they have gender, number and
case. It has to be noted that the tenses in the participles are just like what they are in
the indicative mood except that the point of reference is the main verb of the sentence
and not the speaker. In other words, in the participles, time is relative while they are
absolute in the indicative. Let me explain this in detail: for the aorist and perfect
participle the time is antecedent to the main verb, however, if the main verb is also in
the aorist, the time of the participle may be contemporaneous. The present participle
has the time of action as contemporaneous with the main verb while the future verb
uses the subsequent time.

3.3 ldentifying the Use of Participles

If a participle is used as an adjective, it can either modify a substantive, that is, used
attributively or assert something about the substantive, that is, used predicatively. If
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the participle carries an adjective, then it modifies a noun but when it carries no article
it may be predicative. Thus, in interpreting a participle, you would first determine if it
is attributive or predicative. The attributive participle as is usually translated as a
relative clause. A very good example here is Matthew 6:4 where the participle reads: o
natip cov 0 PAErwv which means “your father who sees”. When the participle is used
substantively, it takes the place of the noun and can function in basically all the place
a noun can function.

3.4  Examples of VVarious Usages of Participles

We will look into the book of Acts 19:2 for the use of the adverbial participle that is
there and also look at the problem of interpretation that it has created.

gimév "te mpdg avtovc: Ei mvedua 8yov éMéPete motedoavreg; ol 8¢ mpog
avTOV- AL’ 000’ €l Tvedua Aylov EGTIV NKOVGOLLEV.

The importance of the participle here is that its meaning is the determinant of the
meaning of Paul’s question. The participle here is miotedoavteg which is an aorist
active verbal participle in the nominative masculine plural form. The root word for the
participle is motedm which means | believe. Now, let us go into the semantics of its
meaning.

As you have been told earlier, the common use of time in the aorist participle is to
indicate that the action occurs before the action of the main verb. This is the position
of the King James Version and this is why the verse is translated as follows:

He said unto them, have ye received the Holy Ghost since ye believed? And
they said unto him, we have not so much as heard whether there be any Holy
Ghost (KJV)

This interpretation from the King James’ Version has been the focal point of the neo-
Pentecostal movement’s theology that the baptism of the Holy Spirit is a different
experience that is distinct from and follows the salvation experience.

It is however a known fact that the aorist participle that is contemporaneous with the
action of the main verb, especially, if the aorist verb is a finite verb as is the case here.
This is the position of most protestant churches and this is also the understanding of
the Revised Standard Version translation:

And he said to them, "Did you receive the Holy Spirit when you believed?"
And they said, "No, we have never even heard that there is a Holy Spirit."
(RSV)

In this interpretation, you would see that the believing and the receiving of the Holy
Spirit are expected to have occurred at the same time. The position of the Revised
Standard Version is followed by the New International Version, the New American
Version and the New American Standard Bible. You need to take note that this is one
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of the many occurrences of ambiguity in the Greek language that may never be
resolved because the context, which should have helped clarify the correct reading can
accept both readings. Thus, people are left with their theological leaning as the
determinant factor for interpretation in this case.

Another passage worth examining is Romans 1: 3-4. The Greek text reads:

3 mepi 10D LoD AVTOD, TOD YEVOREVOL EK OTTEPLOTOC Aavid KaTh capKa, 4 TOD
opro0évrog viod Beod &v duvapel kotd TVEDHO AYIWSHVNG € AVOOTAGEMG
vekpdv, Incod Xp1otod tod Kvupiov HUdV,

In the above passage, tod yevouévov and tod opioBévtog are attribute participles. This
is clear because the two participles carry the definite article. Apart from this, the two
participles have the word viod at the beginning of verse three as their substantive, that
is, the noun they are modifying. Let us now analyse the usage of these participles.

TOU YEVOUEVOL

As we have indicated above, tod yevouévov, is modifying tod viod and this is the
reason for its appearance in the genitive case; its substantive is also in the genitive
case. tod yevopévov is a verbal participle of the aorist middle genitive. In its adjectival
quality it is the masculine singular. The root word is yivouat which means become, or
be, or happen, or take place. Taking the following words into consideration, it tells us
that the Son was a descendant (the correct meaning of yivouat here) according to the
flesh. It is important for you to note that the word ‘flesh’ here do not carry any
negative connotation (such as the use of flesh to mean sin) but just the physical or
human genealogy. However, theologically, it does imply the fulfillment of the Old
Testament prophecies that the Messiah would belong to the Davidic line.

700 0pLoBévrog

As a participle, tob opisbévtoc is modifying tod viov of verse three as had been said
earlier. The root word is 6piCm and it means, “decide,” “determine,” “appoint,” and
“designate”. This participle is a verbal participle of the aorist passive. In its adjectival
quality, it is the genitive masculine singular participle. It is important for you to note
here that it is the passive voice, because the Son did not make himself what he is, but
by the Spirit, he was designated the Son of God.

There is no doubt that the title “Son of God” as used here is indicative of Jesus’
messianic office. If this is pieced together, the idea now is that the Son of God that is
mentioned in verse three of belonging to the house of David according to human
descent is also the same one that is appointed or designated the Son of God according
to the Spirit. This is confirmed by Schreiner, as quoted in Mounce (1993):

The two stages of salvation history are present here. During his earthly life

Jesus was the Messiah and the Son of David, but upon his resurrection he was
appointed as the ruling and the reigning Messiah. The title “Son of God” in
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verse 4, then, refers to the messianic kingship of Jesus, not his deity. Paul is
not suggesting that Jesus was adopted as God’s son upon his resurrection.
Remember that the phrase introduced with the attributive participle in verse 4
modifies the word Son in verse three. The Son was appointed by God to be
“Son of God’. In other words, Jesus was already the Son before he was
appointed to be the Son of God! The first usage (v. 3) of the word “Son,” then,
refers to Jesus’ pre-existent divinity that he shared with the Father from all
eternity. Jesus’ appointment as “Son of God” (v. 4) refers to his installment as
the messianic King at his resurrection.

This is the beauty of the usage of the participle!
4.0 Conclusion

You have learnt here that the mastery of the syntax of the participles is the very
mastery of Greek syntax as the participles are very important in the process of Greek
syntax. You have learnt that the difficulty in dealing with the participles is due to their
usage: they can be used as nouns, adjectives, adverbs, or verbs and in any mood; their
position in the word-order is also enigmatic as they may be thrown to the end of the
sentence and finally the difficulty in locating the main verb the participle serves. You
have looked into the adverbial use of the participle in Acts 19:2 when in the aorist, its
action is simultaneous with the action of the main verb. You have also examined
Romans 1:3-4, where there the two participles in the passage are adjectival participles.
These two participles also have the same substantive that they modify.

5.0 Summary
The following are the major points you have learnt in this unit:

e The mastery of the syntax of the participles is the very mastery of Greek
syntax.

o Participles can be used as nouns, adjectives, adverbs, or verbs and in any
mood; their position in the word-order is also enigmatic as they may be thrown
to the end of the sentence and finally the difficulty in locating the main verb the
participle serves.

e You have the adverbial use of the participle in Acts 19:2 when in the aorist, its
action is simultaneous with the action of the main verb. You have the adjectival
use of the participle in Romans 1:3-4

Self-Assessment Exercise
Identify the participles in this passage and indicate how they have been used:

Ephesians 2:1 Kai dudc 6vtag vekpoLg TOIg ToponT®@HcY Kol Talg apoaptiong "opdv,
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Ephesians 2:2 &v aic note mepienaticate Katd TOV ai®dvo 10D KOGHOL TOVTOV, KOTH
OV dpyovia tii¢ £ovaiag Tod A€POc, ToD TVELUATOC TOD VOV £vEPYODVTOG &V TOTC VIOTG
Mg dmeBeiog:

Ephesians 2:3 &v oig koi fueic mévtec dveotpaonuéy mote &v Tai¢ émbvpiong Thc
copKOC NUAV, ToloDVTEG TA BeAata ThHG copkog Kal TAV davoldv, kol "Mueda tékva
@VoeL 0pYTg O¢ Kal ol Aowrot-

Ephesians 2:4 6 ¢ 0goc mhobolog v &v €Aéel, d10 TV TOAATV dydmnv avtod fjv
nyamnoev Nuds,

Ephesians 2:5 koai 6vtog MUaG VEKPOVG TOIC TOPATTOUOCY oLVEL®OTOINocEY TM
Xpot@d — yaptri £6TE CECOGUEVOL
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